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RBSTRACT

TH]S PROGRAM TESTS THE 11/34 EXTENDED INSTR.LUTICH St
(ASH, ASHC, MUL, AND DIV> USING RE”STEP‘ c-t A%~

Ens'r § ?asnuém EACH xnsm%non

H H RLL SHITC!{S 'OH THE PROGRAM IS
DESIGPED 8ND A CYSTEMS.
THIS OGRRH IS R HODIFI"QTION JF THE .SI- 11 EIS 'E"

1T HRS BEEN MODIFIED TO ACIOUNT FLR ENY L3170 (1734 orErERDET,

REGUIREMENTS

EQUIPMENT

11734 STANDARC COMPUTER
AND 4K OF MEMCRY

STORAGE
PRGGRAM STIRAGE - THE RCUTINES USE MEMIRY C - 17SC0

PRE._ IMINARRY PROGRAMS
NONE

LORDING PRUCEDURE
JSE STANDARD PROCEDURE FOR RES TRPES.

STHRTING PROCECURE

CONTRCL SWITCH SETTINGS
SEE €.1 (ALL LOw FOR WORST CRSE TESTING.

£ A6 145 ACCRESE
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AFTER LORCING THE PROGRAM IT SH
IF IT 1S DESIREC TQ SAVE T A
SHOULD BE RESTRRTED AT LOCATICN
PROGRAM CAN BE RESTARRTED AT 20C

5 SIRATEL & 2CC.
“rHEN_ THE BB
(E. 222] CTHERAIZE £

O

-.3 PROGRAM AND/OR OPERATOR ACTITH

+.3.1 STAND ALONE

| LOAD PROGRAM TNTQ MEMORY USING ABS .JROER. _
2. s;m?mcnss (SEE SEC 5.1) ALL _GW FOR WoRST ZASE.

33 AM WILL L -zw Pnss- uxL. BE T(PEC #EES

il Zfo'a‘sog&s R N ST 5 —r o
S, A MINIMOM OF sgecsmwm S BE AN,

4.32.2 UNDER APT
THE P'SQOQRF'H ANC STRRT AFTER SETTING TE CESIREC S.ITI-E:
we b

OPERATING PROCECURE

un

.a SWITCH SETTINGS

A ol L o i e

SWITCH REGI ng SR THE USER SHCJL. SET YHIS -0»“’1’% SEFoRE
¢

STARTING THE

BI™ & OCTAL VALLE FUNCTIN

i 100000, .. .eunrnnn HALT ON ERROR

i3 o R INRIBIT PRINTOL™

Gy 8 BIT BYTE SENVM [I.E. LOCATION 421 MRS BEEN JSEC 7D 871
THE CPERGTING MODE. il TYPESLIE CAN BE_SUPPRESSES 3° “Enivs,

37> 3 °F BYTE SENH WisH, In GHER WORCS 2 SIING A Il
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SJBROUTINE ABSTRAITS

HALT ROUTINE

THIS ROUTINE CALLED VIA JSR INSTRUCTION IS USEC EACH TIME
N AND AN_ERROR MESSAGE OF THE FCRMA® SIVEn

O EFRORCI3 JEENPED OUr NLESS SUPRESSEC BY "HE Swiliek:
DEFINED IN SEC. &.1
TRAP CATCHER

= 4% - "HALT" SEQUENCE ]S REPEATED FRCM 3-77¢ 77 LF™i-
ANy UREXPECTED TREPS-- THUA RNy NEXPECTEL "RAPE L
INTERRUPTS WILL HALT AT THE VECTIR <2.
ERRORS
ERROR PRINTOUT
THE FORMAT 1S RS FOLLOWE:
ADR  ERANM
WHERE :
AR = 55 OF ERROR

R NUST CASES THE COMFENT BESIDE THE CALL FOR WALT SLBRC.™INE
TELLS WiAT WAS BEING CHECKEL WD MY WS EXPECTEL, o
IS ILL T P TRING HOLR APT T Fosonciin:

NYM N ? ! T h !:H' oSTIs
SML? EiBpoR T BbcLING OF TONBGLE SuTRLTE.

ERRCR RECOVER'
RESTARY AT 20C OR 222 (SEE SEC +.2.

RESTRICTIONS
NONE

MISCEL.ANECLS

PV
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8.1 EXECUTION TIME
Y FIRST "END PRSS™ WILL TYPED WlTHIN 1
E??ﬂ?ﬁ"w éEEONDE EOR EVERY CONSEC.JT"JE 400 PAcc
8.2 STACK POINTER
STACK IS INITIALLY SET TO 630

(0
[¥V]

PHSS COUNT

t OCATION “$PASS™ (1.E. Locmm 4OE; 1S JSEC TC KEEF_
paég E fm?oc?r 8'5" 3 méc B¢ BECTRRTING THE PROGRAR™ AT 227

8.4 TEST NUMBER

- LOCATION 4O4: 1S USET 77 ¢EEF TRAZs
grx?'_gx}égcm R ’usge".av*s THIS LOCATION 52 vss;g,: TERE*TCN
NUMBER AND THE LOWER BYTE THE 'ssr THET WAS BEINS EXEC."ET

m
(14]

POMER FAIL
THE

T
%ﬂgﬂgoTMT CAN NOT HOLD gﬂ
WILL NOT RECCVER FROM A PCUE

PRIGRAM DESCRIPTION

S PROGRAM TEST QL.. Ti'E gIs INSTRLC’IONS oF "-iE .= ... _
“1”" J - “53 v:- "
H:TH DES’IN“YXON ”ODE VF 6( * u‘“‘Nv= P uv-v ‘ "E "'
PAZE LITH T EIT SET.

V1]
L]
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.
-¢)

.ABS
.NLI%T MD,MC,CND

.%%?LE OFKACR

:#COPYRIGHT (C) DECEMBER 197S
;#DIGITAL EQUIPMENT CORP.

: #MAYNARD, MASS. 01754

1
; #PROGRAM BY GLENN JOHNSCN
1

:#THIS PROGRAM WAS ASSEMBLED USING THE POP-11 “AINDE: SYSMAC
: #PACKAGE (MAINDEC-11-DZ3AC-B1..AUG 29,197S.
X J

aisiotelt $TN=1
R istoie $SWR=1£0000 s sHALT ON ERROR, LOOP ON TES™, INMIBIT ERGCR “/F._7

------

R TN IV N T N TN TN TN TN TR T S TS TR TS Y S Y 9 )

TOERIBOTUIN IR IINDO =6 o0 o0 <0 <0 2p cp op <4 »
JOIY 8 LatuIe = € DN - ULV 8 (udiVDe
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12-NOV-75 00:00

ga2zte

N
-

001000

850045
B16358
000052
000020
601939

£30008

;ill!!lliiiiill!lll*iliiil!i!liiiﬂ'!!*!ill!!i!liiifiiii!iifif!fi
.=0 :TRAP CATCHER O - 77¢

"!!Hllllliiiull!lll!!!llll!i!!*i!lliliiili*l!!!!!!!ll!ﬂriifﬂ'f
H !lili**ill**i**l!!liiiiiillli!*lli*l*iiilliifliiﬂ»l!llf!!lff!!f

.SBTTL _ACT1l HOOKS
;HOOKS R%OUIRED BY RCTII

SqEC . sSAVE PC
SEggRD ::1)SET LOC.46 TO AODRESE OF $ENDAD
. JWORD D s32)SET LCC.52 TC ZERO
" .=35VPC s RESTORE FC.
DuMMY= 0 - ) ,
ERRNM=*+ ] T .
= .81, - (" =
= - 178 ;
- N PC'-' N ./07{‘ ~ -
- S =" ./.6 - - - ~
©. - SOPE=. 10701 7 -

. -~ SCOPEl= 10701 - |

- SCOPE3= 10703 .

<2 SW02= .- 1000 -

- ,SNID -.2000 '+ .

\ , SWll=.--4800 ‘ h
Sulo=-. IDUDD IS
) :TYPE= - I0T = LT : - . N
4 " - .=E - L - -

STYFE

4 LEECF

ot

e
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DFXACAH. SRC 18-NOv-75 00:00 RCTLI1 HOOKS

364 000400 .=400
322 DREEEEREEREE R AR AN E RS R 4E S S 44944
%7 .SBTT. APT MAILBOX-ETABLE
368
369
379

71 .EVEN
372 Q00420 SMAIL : :APT MAILBOX

73 ”80400 2002020 $HSGTY: .WORD AMSGTY ,,MESSQGE TYPE CODE

B0C402  BG0A0D SFATAL: .WORD AFATAL ::FATAL ERROR NUMBEF

375 000404 000000 STESTN: .WORD ATESTAN ,,TEST NUMBER
276 000406 00000C $PRSS: .WORD APARSS +PASS COUNT
377 000410 0000CC SOEVCT: .WORD  ADEVCT ,,DEVICE COUNT
378 00041 00000C SUNIT: .WORD AUNIT ,,I/O UNIT NUMBER
379 Q00414 000000 §MSGARD: .WORD AMSGRD ; ;MESSAGE RDDRESS
38C 000416 00CO0C $MSGLG: .WORD  AMSGLG ,.HESSRGE LENGTH

1 000420 SETABLE: 5 APT ENVIRONHENT TABLE
382 00042C 000 SENV: .BYTE  AENV ; s ENVIRONMENT BYTE
383 2004z! 00C SENVM: .BYTE  RENVM  ;;ENVIRONMENT HODE
384 (00422 00000C SSWREG: .WORD ASWREG ;;APT SWITCH REGISTEF
385 000424 (00000 SUSWR: .WORD  AUSKR ,,USER SHITCHES
386 100042e 000002 $CPUOP: .WORD  RCPUOP :CPU TYPE,OPTIONS
387 " bt¥s 15-11%CPU TYPE
388 ¥ 11/04=0], 11/05-02 11/20=02, 11/40=C4, L1/48=02
289 2 11/70-06 PDQ=07,Q3=10
290 s BIT 10=REAL TIME CLOCK
39! iz BIT 9=FLOATING POINT PROCESSOR
3% ! g BIT B8=MEMORY MANAGEMENT
393 00+t $ETEND:
g% JMEXIT
ggg s EEEEEHE R S R 242 444 80
338 .SBTTL APT PARAMETER BLOCK
399 :SET LOCATIONS 24 AND 44 AS REQUIRED FOR APT
<00 iuuuuuuuununnunu!nnuuuuiuuuuuunuu
0. 20042C L8X=. ,,SRVE CURRENT LOCRTION
402 200024 .=c4 ;SET POMER FRIL T0 POINT TO START OF PROGRAM
403 0CCCed 200200 200 r,FOR RP START UP
404 . DCOC44 . =YY ;POINT TO APT INDIRECY ADDRESS PNTR.
40 200044 S00430 SAPTHOR ,,POINT T0 APT HERDER BLOCK
43¢ 300420 .=.8X +RESET LOCATION COUNTER
497 uuuuuun!ihfuunnnuuuunnuuunuuuuu;iu
408 SETUP APT PARAMETER BLOCK AS DEFINED IN THE APT-PDPl! DIAGNCSTIC
329 ; INTERFACE SPEC.
sIT DOoH3C $APTHD:
41z EMOH3O 230590 SHIBTS: .WORD O ,,THO HIGH BITS OF 18 BIT MARILBOX RDOR.
413 090432 00C30 SMBADA: .WORG SMAIL  ;:AODRESS OF APT MAILBOX (BITS 23-15°
54 BD0434 0000C3 §TSTM: .WORD 3 }1RUN TIM OF LONGEST TEST
4,5 QQQ4J§ 03200€ $PASTH: .WORD S .,RUN TIME IN SECS. OF IST PRSS 01 1 UN’T .auicn VERIFY:
= & 220440 LJ002C SUNITM: .WORL ADCITIONAL RUN TIME (SECS) oF H PRSS FCR ERCHM RCSI’I Nl MNIT
Tl SSitiz CCTULA "WORE  SETEND-SHAIL/2 ;;LENGTH MAILBCX-ETASLE.aORCE:
-.= oolmZl L=SAPTHD
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CEMACA.

420
i
155
124
425
426
<2~
<28
<429
430
3]
432
433
434
<435
436
§37
=238
439
<440

MACY11l 3011046)

SRC
20043C
J00432
200434
03C438
030442
000442

000444
000446
000450
000451
000452
0004SH
000456
000460
000462
000464
000466
00047C
000472
00474
000476
000SC0
gocssae
000S04

O4-AUG-77 14:09_ PAGE |

18-NOV-75 00:00

000432
J00434
J00436
00C+40
000442
000YH44

000000
000008

00
000007

]
177564
Q0SCiS
006412
8Cci2z

023040
047c20

APT PRRQHETER BLOCK

COUNT:

PSWORD:

TEMPL:
TEMP2:
TEMP3:
TEMPY:
TEHPSE

ST
C0ogc40 SCRLF
042527 POMER:

.=COUNT+2
.=PSWORD+2
.=TEMPl +2
.=TEMP2+2
.=TEMP3+2
.STEMPY+2

LO1

1
.ASCIZ 1S/ 7/

LASCIZ <12>¢<15> 7/POUER-




OF KACH

DFKACA.

MACYLL 30(1046)

SRC
200200
000206

§§8512
C220

000222

Q4-RUG-77

18-NOV-75 00:0C

819550

012700

001374
000167

000630

012737
005037

016410
000410

000400
000352

000404
000430
000001

000600
00000u

000176

000422
000001
000436
000a01
000442

000024

177148

177630
177624

000420

177566
000434

000440

14:09 PAGE 12

MOL

STARTING OF THE PROGRAM

.=200

cs:

RESTRT:

.=600
BEGIN:

1%:

38:

2s:

MOV
MoV
CLR
cMP
BNE
JMP

Moy
CLR
MoV
MOV
Mov
MOV

8SPURDN, sy
¥SDEVCT, RO

ISHEIL,RD
23
BEGIN

#STESTN, RS
J8COUNT

81 (RS)
#8EGIN, SP
384, ~(5P)
2’% ;(SP)
I5uR
3s

ooxspnéc stanv

(58)+
(SP)+ aa&
(5P)+. J84

0
#l,JeSENV
28’

BSSWREG, SWR

2l 38 El'm
Sateme

8! QITEHP’
UI;EHPH

;PREPARE TO SERVICE POWER OOWN ROLTINE
;PREPARE TO INITIALIZE THE STACK

;MAKE RS POINT TO THE LOCATICH STEE™
;CLEAR THE COUNTE

INIT#GLIZE TséT NUHBEP

; #% STACK AT BEGIN »¥

; ;SAVE ERROR VECTOR

;SET UP TIME OUT VECTOR
TRy T0 REFERENCE HARDWARE e

:1BRANCH.IF N TIMEQUT TRAF ICCRS

; iPOINT T SOF TWARE iR

{POINT TQ SOF TUARE DISPLAY RES

.:kE
ORE ERROP VECTOR

PLQCE 80 IN PSH

' ARE HE UNDER AP
I T THEN GO ES
USE APT SWITCH REG’S’E’
TEHPI:I
T

l

TEMP2=C
'EHP3=1
: TEMPY=C
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MACYL1l 30(104)

SRC

000740
000742
C00746
00C754
000756

000762

04-AUG-77

18-NOV-75 00:0C

010701
013700
032737
001004
013701

072001
Gog402
072067
106737
123737

001403
004767

000001
005237
023700
001403

004767

000002
021537

001372
00S21S
010701
021527

002011
005237
008367

000434
00000t

000436

177444
000432
ooo442
015426

000430
0C044G

015406

000420

000037

000436
177354
000020

000764
00100&

000434
0000C!

00042e

000406

000422

000406

14:09 PRGE 13

NO1

ASH INSTRUCTION TESTS

START:

23:
4%:

b%:

es:
REG!:

SCOPE!
M

HEREEERE R R R R RS S
; ASH INSTRUCTION TESTS
SRR HEHIE SRR R SRR L A%

!i*ii*llili!
: TESTS 1-36
lii!l!il!!li
28TEMPL, %0 ;LORD RO WITH THE CONTENTS OF TEMP:
81, JuSPASS IS IT AN EVEN PRSS 7
28’ :IF NOT THEN GO TO 2§
38TEMP2,RI :OTHERWISE exzcure THE INSTRUCTION
:IN MODE O USING R
5& ,RO
TEMP2, %0 :SHIFT RO BY THE NUMBER SPECIFIED BY TEMFZ
J#PSHORD :SAVE PS
angnpw . JWPSWORD; IS THE PS = TEMPY ?
PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
:THE PS 1S NOT EQUAL TO O
J8COUNT : INCREMENT THE COUNTER
aﬂgnpa.zc xs THE RESULT IN RO EQUAL TS TEMP2”
PC,SHLT :SEEN AN ERROR, GO TG TH HALT ROLTINE
'EITHER INCORRECT RO OR INCORRECT SEGUENCE
(RS), 38COUNT éguﬁnrssr NUMBER EQUAL TG THE
6% :IF NOT GO TO THE HLT RBOVE
(R5)
(RS), 837 :HAS THE CONTENTS OF REG'STERS BEEN SHIFTED LEFT
o :BY 14. AND RIGHT BY
SRTEMP2
TEMP3 sSHIFT TEMP3 LEFT.
;‘;EE‘{"EU 'HAS THE CONTENTS OF REGISTERS BEEN SHIFTED LEFT 8Y l+.?
NEGAT .1F S0 GO TO NEGAT AND INITIATE RIGHT SHIFT
PC, 15737 IF SO GO AND CONTINUE THE REST OF THE PROGRAM
S8TEMPL , %1 ;LOAD_R1 WITH THE CONTENTS OF TEMPi
81, 988PASS IS IT AN EVEN PASS °

25’
JTEMP2,R2
Ri

4$

:IF NOT THEN GO TQ 28
OTHERNISE EXECUTE ASH INSTRUCTION IN MCCE C

:USING R
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\““VJ
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i
8

18-NOV-75 00:0C RSH INSTRUCTION TESTS
1130 072167 177302 28: ASH  TEMP2,%l .SHIFT Ri BY THE NUMBER SPELIFIEC 2/ ~f=e:
; 237 g 5§ MFPS  28PSWORD :SAVE PS
HE %7%5 e w3z P SETERPY, 20P5HORD: IS THE PS = TEMPY °
b | 14 .
i ; 3 JER  PC.SHLT .SEEN AN ERROR, GO TC Th MAL™ FI_TI'¢
1B B oisas ; 'IHE PS 1S NOT EQUAL TS C
1z 3% goouac ING  98COUNT . INCREMENT THE COUNTES 3
il 02373: 300443 CMP DeTEMP3, 1 ‘1S THE RESULT IN R EQUAL T2 TEMFZ’
Lige 00IC3 " BEG "+10
1198 0 : PC. SHLT .SEEN AN ESRGR, G0 TC "k WaAL™ BCLTINE
7S Orh7 gisE I oS 2TTUER INCORRECT RLOR TNCORRECT SEa.fit
170 2% coowa v (RS) . 28COUNT ;1S THE TEST NUMBER EGuRL *C "= -oN"Es*
305 O&i3Re ot BNE s “IF NOT GC TO THE HLT ABGVE T
'y & ¢ - - —
{210 ocar 2 (RS, 837 .HGS THE CONTENTS OF REGISTERS BEEM S~I77El _Z°7
ielt ceiser 2 ;:: 8‘5’ 3 PBY 14, ARD RIGHT BY 14,0
1214 00201!
i2ie 00S237 0003 INN  SsTEMP2
1 006367 1 A TENP3 .SHIFT TEWP3 LEFY . )
x% %15277' hapese gi 'zég.oac {AAS THE CONTENTS OF REGISTERS BEEN SHIFTEC EF” E- [-.
15 B0 oooezz I NEGAT ;IF SO GO TO NEGAT AN INITIATE RIGHT SHIFT
1290 004767 DOQeW 8s: ISR PC.TST37 t1F €0 CO AND CONTINUE THE REST of THE PasGRA
idws 01070 REGZ:  SLOPEI L
124 013702 00Ou3% ROV . SsTEMPL, %2 :LORD R2 WITH THE CONTENTS F TEMF!
1558 S3ong, 00000r Do BIT  glansPhss i f3 1T A e S
1962 013703 000436 MOV S8TEMPZ,R3 : OTHERMISE EXECUTE ASH INGTRUCTISN In “CIE C
1966 072203 REH  R3,R2 USING R2
1270 000402 B8R ¥ i . .
1972 072267 177140 2s: ASH w2 72 .SHIFT RZ 8Y THE NJMBER SPECIFIEC BY "Iz
1276 106737 00043z 38: MFPS 2P 'SAVE PS_ _
1302 123737 DOD442 DOOW3E CMPB  OBTEMPY, 28PSWORD: IS THE PS = “EWPd °
33 BHS ik % %y {SEEN AN ERROR, GC 70 TH WAL™ BCL™:
: “isiee b e e NGT o oo
U WS he o
1369 (23902 DOCH4s twp DeTEMPI. w2 .15 THE RESLLT IN R2 Esur 7o TEMP2"
13 0l " BEC  .+i0
r (-3 M
1 5:5.02 ISR PC.SHLT .GEEN AN ERROP, 30 TC TH WALY ROUTINE
He XWe7 it : itk {ET'HER INCORRECT R2 OR INCORRES! SEuiE
133 009706 3 )
TNC 52l 003C “up (RS, .9855UN" 115 THE TEST NJMBER ESURL 73 "HE IIONCER®
1305 2833l Sl B ey 113 THE TEST NGER o
T3 MEE N RS,
ol Dol ws <JPE! -
¥z D8lsEr oo : c..92° ‘RS THE CONTENTS OF RE3ISTERS SEEN 3=I7ED
‘3‘ v2A5‘7 vvvvv vHF R 0.3 :fgé' g$ ?9. ENO :;q. eY :‘.. :
Al e 2  BS
Pt + 4 A T
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OFwich MACY!i 30010463 04-RUG-77 14:09 PAGE 1S
DFwAlh.SRC 18-NOV-7S 00:00 ASH INSTRUCTION TESTS
8.2 gxagu gsaw 177050 ASL TEMP3 :SHIFTED TEMP3 LEF”
8:3 013°0 021527 000C2C CHP (]S, 820 ‘HAS THE CONTENTS OF REGISTERS BEE™ SHIFTEL _EF” 2 [-.°
25* migﬂ' ocwo; 000460 Egg ?QEEST C TO NEGRT AN w'm RIGHT SHIE”
512 %1@ %k? 686585 Bs: JSR pE,vsm i 3 & cmu"gommuﬁ o8 Trg " e
2 ac::og O1e78s 434 Rec3: 388PE1 J8TEMP] ORD_R3 MITH THE CONTENTS OF TEM®
8.8 Xi%il Q) % T TENTS OF TEMP.
£.3 %mw 853;3; 838081 JCa428 BIT 8], d88FRS lis QT VEN PASS
532 001422 00INO4 BNE 28 LIF nor mzn 5o 1528
gc. A2CI42% QI3 04 000436 MOV JSTEMP2 Ry  GTHERWIST EXECLTE AGr INSTRLLTICN I “ilf -
€22 X.-3¢ §r23tM ASH R4,R3 {USING R3
£23 201432 000402 BR 4§
£24 i34 072367 17677¢ 2s: RSH TEHPE %3 SHIFT R3 BY "HE NUMBER SPECIFIEC Ev "EMFZ
83 QCIwv0 106737 000432 48: MFPS  @8PSWORD AVE PS
€26 OCIN44 123737 000442 22243z SMPB  J8TEMPY, S8PSWORD: IS THE PS = TEMPY °
25 %ljgi %5:83 014760 953 PEIQHL 1SEEN AN ERROR, 50 "C_TH ma SC_TINE
Eég : ¢ 7 - J . T g P "- v v,: -
€3¢ ' THE PS 1S NOT'EQUA. ~C 2
£3C 20140 000007 7
€3] OCid6e 005237 202-3C ING S8COUNT _ _
€3¢ 0OCi+bE 023703 000W4C < S8TEMP3, %3 .15 THE RESULT IN R3 EGUAL "2 TEMFZ’
£3: 2Ci47¢ 00I4C3 BEG .+10
£29 2017 8$:
€35 201474 004787 CINTHC ISR PC, SHLT :SEEN AN ERPOP GO TO Th WA T ROLTINE
£% :EITHER INCORRECT R3 OR INCORRECT SEQUENCE
£37 2C153C 300012 10
£38 XCiS0e 021E37 000430 CNF (RS.38C0NT ;15 THE TEST _NUMBER EQUAL TC THE CIUNTERT
£33 QCIE0e QCI1372 BNE (11 t3F NGT GO TC THE ML™ ABCVE
€2 O3CISIC i€ INC (RS
£+, Xi512 C1C70% SCOPE . s
€4z DC1S14 021527 209037 4 ‘RS, , 837 :HAS THE CONTENTS OF REGISTERS BEEN Z=-I57EC
£s3 ;L EFT BY 4, ANC RIGHT Bv [4.°
€44 QC.52C 1002013 BGE gs
g4 0OCIS522 005227 0CC43e INC SSTEMP?
g€ 00152t 0J0636? 17&7CE RASL TEMP3 ;SHIFT TEMPI LEFT" _ e
g7 X1S¥ 221527 n2C oM (RS, 820 'HAS THE CONTENTS OF REGISTERS BEEN SeIFTES EF~ 2¥ l-.°
c4e X153 9C1003 BNE G4
€43 OCIS4C 000SSC BR GAT :1F SO G0 TC NEGAT ANC mrxafs BI5HT SHIFT
£SC QC1S42 004767 000242 ag: JSR PC, 15737 :IF 53 GO AND CONTIMUE THE RES” OF THE SRISRR™
eE. 00iS46 210702 REG4:  SSOPE3
eS¢ JCISSC (013704 00243 MOV SSTEMPL, %4 :LORD R4 WITH THE CONTENTS OF TEP.
gE3 00ISEW 1019601 MCY RS, Ri : vgns
¢E4 00186 (032727 00CCC. OCC0+ce BIY 8], 388PRSS .s TANE .
gEc OCISE4 OC) BNE 23 .ruorm: as ) o
gSe OC. 013708 2043t MOy S8TEMP2 RS ; CTHERWISE EXE L'E ASH INSTRLITICN IN MIZE
eE7 201572 07240% ASH RS, R4 {USING Ry
£S@ 2CIE74 DQQZ4Cg Br i
e£5 QC.E7¢ C724E7 .78l z§: ASH rsma %4 .SHIFT R4 BY THE NUMBER SPECIFIEC BY “EYe:
€eC DCIED2 106737 200432 48 MEPS  gsPSWORC :SAVE PS
gt. OCiEdE 222737 CCTdwz  IIleiZ cHP8 anzm..-mon 115 S = TEMPY °
gez 2CiEl4 2Ci4C2 BEC e e
zez OCiele OJCW7E? Cldele ISR PC.SHLY sSEEN AN ERROR, GO TS Tm wAc™ GI.7I
e :THE PS I NGT EQURL TS S
ze€ Cl.kgE Zo2i.. 1.
zee Zl.e2s ZISEI7 TIleZD INC IBLOUNT
£2% ITIEII TEII. ISl ME SeTEME3, - 13 "W GES..T N Fe Beune U TEMEZ
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18-NCv -5 20:00 ASH INSTRUCTION TESTS
2C:i634 001403 iy BEG .+10
%i& A04E? DINSTH ISR PC,SHLT .SEEN AN ERROR, GO TC TH WAL~ RO."I'€
(42 - 2 'EITHER INCORRECT R4 OR INCCRPEZT SES_E'E
%ww 10105 MOV R1, RS :RESTORE ng
Wip+e 021637 0Co83C cHP (RS IBCOUNT 1S THE TEST NUMBER EGUAL T2 THE -.%"Es”
X162 00:371 BNE 6$ 'IF NOT GG TC THE MLT ABG/E
@s d : énc (RS
16 13781 COPEL
Xieal 021527 00003 CHP (RS ), 437 :HAS THE CONTENTS OF RESISTERS BEE™
'SHIFTED LEFT BY 14, ANC RIGW" BY ..
201664 002010 BGE 8s
OCib66 005237 00043t INC STEMP2
0le7e 006367 176542 AsL TSSHP:! :SHIFT TEMP3 tsn o
X167 Q21527 H0GD2C CHP (RS), 820 'HAS THE CONTENTS OF REGISTER BEEM Smif7El 2 [-.-
01702 001003 BNE G5 T
OCI70N DOD9RE BR NEGAT :IF SO GO TO NEGAT ANC INITIATE BIsem™ Sw=2F7
017% 004767 00C.7E 8§: ISR PC,TST3? :1F S0 GO AND CONTINUE THE REST OF T+ S815%v
Ci71z 0610701 REGS:  SCOPEL
001714 010501 RS,RI1 :SAVE RS
201716 013705 0OCOMIM MOV asteEmPl %5 :L0RD RS WITH THE CONTENTS OF TEME.
n01722 032737 00000! 50C42e BIT g.amﬁss ;x; 1T AN EVEN PRSS ?
0C173C 00100 BNE :1F NOT THEN GO TG 2% . . A
201732 01370C 00C436 MOV S§TEMP2, RC :OTHERWISE EXECUTE ASH INSTRUCTICN IN MCZE
801736 072500 ASH RO, RS :USING RS
AC174C 00002 BR 4§ . )
001742 072587 L176N7C 28: ASH TEMP2, %5 :SHIFT RS BY THE MUMBER SPECISIEC Z- TEVFZ
01746 106737 DOO43Z 4§: WPS 3 D :SAVE PS
}1752 123737 00044z 000432 CHPE  SnTEMPY, J8PSUORC:IS PS = TEMPY °
5C1760 001403 BEQ .+16
201762 DON7E7 LCl44Se JSR PC.SHLY ;SEEN AN ERROR, C 7T Th_r‘ﬁ.f Lo TN
TTHE PS IS NOT EQUAL T3 Z.
1C176€ 000013 13
A01770 005237 J0043C INC 9COUNT
£01774 023708 50CHHC Cwp $TEMPS, S .15 THE RESULT IN RS EQUAL TC TEMP3°
A0200C 361433 BEG .+10
802008 £3:
D200 004767 14432 ISR PC,SHLT -SEEN AN ERROR, GO 1O TH MALY ROLTINE
!EITHER INCORRECT RS OR INCORSECZ™ SEC_ENCE
902006 220014 14 D
002015 Q21:37 DOCHaC “mp ‘R1).D8CSUNT ;IS THE TEST NUMBER EQURL 15 THE CIJMWES
50z014 001372 BNE &S :IF NOT GO TO THE MLT ABIVE
20016 01310 MOY R} .RS ‘RESTORE RS
00202C 00%ziE INC (RS
W02 91074 SCOPE L e e
02024 021527 -ooC27 P (RS, 837 ;HAS_THE CONTENTS OF REGISTERS SEEN SmI il
i :LEFT BY IN. ANC RIGMT 9Y 14.” .
96203 5023:2 BGE as 'TF SC GO AND CONTINUE THE RES™ OF “wE PRI
02032 005237 00043 INC NTENP2
0203% J063E7 :7e37E AL TEMP3 SHIFT TEMP3 LEFY i
M2 O2iBe7 S0ftzt CHP (RS, , #2C 1HAS_THE CONTENTS OF REGISTESS 3ELY 5-177E7 .&°
Weo4k  Soi40€ 2EG NESR IF S0 o TC NEGRY ANC SN:TIRTE BLa=T I-IF
FTEIEC ATOTZ gr ot 1
SSZTEe 3Ta7e7 soooas € ek £7 vgvar
STz ITo.pr TRz ‘3 dag - VI N e
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ASH INSTRUCTION TESTS

me .. 3000246 M-RUG-7?  1N:09 PRGE 17
CN .8-NV-TS 00:0C
p Q12737 o4 000434 NEGR™: MOV
8 Ri6737 79999 830 MOV
276 737 OQDQ 1 00044C MOY
1™ 167 176830 JMP
113 1527 0008037 TST3?: (MNP
119 2.3 BNE
0c.16 0CS337 DM 3 CLR
885135 12237 0C2C JCO<3tE MOV
. 0440 CLR
X2:34 0212737 00003« 33042 MOV
.42 207 RTS
.+ 0215827 00004C TEY4D: WP
L£e.5C 201003 BNE
X152 7 000ON3E CLR
2156 RTS
ggsxsc 021527 0000« TST4l: CMP
g ER owes B
4 ol . 200
ggglgs 200207 RTS
202176 021527 200042 TET4Z: CMP
00c20e 001813 BNE
002208 012737 10000C JC0H3+ MOV
12 005237 DOO43E INC
16 005337 00044C DEC
02222 012737 0000LIC 200442 MOV
302230 000207 RTS
00223 021827 000043 TET43: (MP
0223 0OCICle2 _ BNE
002240 012737 (28252 JOC+43+ MOV
30224¢ (12737 177777 Q00436 MOV
002254 012737 182528 J0J4+4C MOV
002286 000207 RYS
002264 021827 00004+ TCT44: (MP
202277 001012 BNE
02272 012737 00000! 30043t MY
J0230C 0128737 052524 220+4<C MOV
202206 012737 000003 0OOC4+4e mMCv
0C231+4 200207 RYS
00231& 021527 000CHS TST4E: CMP
DCe3ec 20.C.I2 SNE
3c4 012737 177776 20043k MoV
202332 012737 165252 D0J4+4c Moy
802380 012737 000C:1 0004Ne MOV
00234¢ 000207 RTS
02350 021527 000046 TET4E: MP
J0e3s4 OoCiC.4 BNE
2023ce 0.2737 | Qs04aw Mcv
0023e4 0.2737 000020 20C+43¢ Moy
372 00E037 200440 LR
27 Cle727 000007 0O004«e MOV
02404 000207 343
2Ce4oe 1E27 000047 TCv47: (NP
secd.e 0L1C.. BNE
wocd.e J0E327 22043E JEC
ZTe4d 2E7E7 3RRT iiee: e

sM0000, IsTEMP]
8177762, J8TEMPR

c% TEMP3 : TEMP3=1

START

(RS, 837 15 1T TES” 37°

MICTs) SIF NOT THEN TRY “ES™ <2
J8TEMP! :0

816, ,98TEMP2  :SHIFTED BY l&

SsTEMP3 :15=0

;g,ansnpu :AND PS=

(RS) . #M4C .15 1T TEST 4G?

1574l :1F NOT THEN TRY “ES” 4.
ggrsnpa !0 SMIFTED BY 0=G ANC S8z
(RS), 84i ;IS 1T TEST 4i?

185" 112 A0r Tiew ey TEST <2
;Exs.,ansma :0 SHIFTEC BY -16.=C ANC 5S=+
(RS), 842 .15 17 TEST 427

rg‘?"u ;1? NOT THEN TRY “ES™ <2
8] ,38TEMP! 100000

sTEMP2 :SHIFTED BY -1S

SeTEMP3 :18=-1

;éO.DITEHPH sANG PS=1C

(RS), 843 ;1S IT TEST 43°

I%?% —_— ;1? NOT THEN 1F MCT “HES TG+ TES” ==
c-iéssaasnﬁm;z E%cm e U

3& 25, a8 TEMP3 :IS=1 Nl PS=iC
{RS), MY ;19 IT T 442

T'sz?wé :x? NOT TRY TES™ <5
S TENE e {8oe3cay 0 BY S
;ca.wtm Enmifga

(RS}, 845 :%s 1T TEST 45°

187 :1F NOT TRY TES™ <
$-2 crmgs i1 IFTeED 9y -2
816 asteme3 :15:16

;éx.wtm :AND P8=11

{ 15 IT TEST 4&°
1S58 '1F NOT TREN TRY EST <7
.-loa.T HPI ;-1

8lb.,98TEMP2  :SMIFTED BY 1S.

3sTEMPI ;1520

;Z.RITEHPH +AND PS=7

(RS, 447 .18 IT TEST 42"

T§E° ff NOT %{n TRY TEST 52
JeTEMP2 +=] SHIFTEC By .5

s
0100003, S87EMF3
811,98 EMP

; TEMP1=40000
s TEMPE=17776¢

:1521000CC
(ANC PS=!




CEalh MASYLL 30010463 04-AUG-7T  [4:09 PAGE (8
CFeRlR.SRE 18-NOV-7S 00:00 ASH INSTRUCTION TESTS

T By B %
- 1837  0CCOSO TSTSC:  CM (KS) , 850 ;15 1T_TEST SC
~82 Q02vee 001307 BNE ENTS) :IF NOT THEN TRY TES™ 2|
=83 Q12737 137777 000434 MOV 8137777,28TEMPL :137777 SHIFTEC By 15. 1S=.lCl0C
- 36553? 000013 202442 MOV 813, JsTEMPY ;AND PS=13
ac 7 RTS  PC
8t Qedee O2ihe7 00005 ENTS.: CHP (RS). 951 ;15 IT ENTERING TEST S:°
R
. Ra%E B civw 3 PC.2HLT ;SEEN AN ERROR, GG TC TH HA_T FI.7I%E
-89 :TEST NUMBER GOCFEC
23 202474 000515 15
~§2 202476 00S? 187 (SP)+ ;RECTORE STACK PCINTER
°3: 20280C 2:2704 77770 MoV 8-7,%4
T3- 222504 21372z JCgwes MOV 851, %2
=<l S22 7 meoven Anmgle HC" .SE"/.S
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[

CEwAcH.SRD 18-NOV-75 00:0C ASH INSTRUCTION TESTS
:3§ lliillllll!lllllllll|llllllllll!{ll!iilliililillll’itlilfifif’061000
g iTEST:51 11/34 ASH 125252 SHIFTEC BY 85 = S26CC PS = =
"gg llilllllllllllllllllllllllll!lllllllill!llli!l!!!!i!liillfif600010”‘
{

807 002514 010701 TSTS1: SCOPEL
801 16 Qle70l 125252 MOV 8125252.%1 :L0RD R} W TH 2sese
852 2 072127 00300S ASH %1 ;S
Clek 106737 000432 MFPS aoPsuono PS
804 002532 122737 000003 2Cc43z CMPB 83, 38PSWORD -xs THE PS 37
805 002545 261403 BEQ .+10
936 002842 004?67 C13672 ISR PC,SHLT ; SEEN AN ERROR, GC 70 TH WAL T SOTIE
az> :THE PS 15 NOT EGUAL 75 3
83¢ 002546 00CL6 16
859 00gSsC Q0227C1 052500 CHP #52500. %1 :IS THE RESULT 5250C°
£1Z DO3ES4 Q0Iv02 BEG +10
.. 082556 18:
€12 002886 004767 213eSE ISR PC,SHL” ;SEEN AN ERROR KLY RCLTINE
13 _ tRI IS NGT Foo ¢ 22800 R INCERAES" SEa gt
8.3 2ceSe2 10000:7 17
2.5 0026e+ L21527 0000S. cHP (RS), 851 .15 STESTN = 8S.
§.& 202672 00137¢ BNE 18 ;1F NCT THEN GG TG WLT ABCYE
gi7 3ceS7z oogals INC (RS}
£3
822
52; lllllillllllllllllllllllilllllilllilill"ll!llllilllllii!fllliiiifil
g5z :TEST:52 11/34 RSH 126252 SHIFTED BY @S2 = 17752 ©€ = O
Eg.: !iilllilllllllilllllfllllllllIIllllﬂlﬂlllil""lll"’iiiiiiilliilvlv
Sg
35 Bgserc Siah iases: TSTse BT %0 RQ WITH 125252
- / - b ’ 1 .l
857 BB3g-3 Dfac’y  17aeel ASH 35 % §n°‘?r
S50 o 107y DoBNR FPS % SAVE PS
B2S D02Eje .20737 0DI0IC 00043z cwPR 10,3 '15 e PS 19°
637 A0962C 951402 BE2 .+10
€3, OC2pde SCW7PE? 03l ISR PC,SHLT Emon G0 TS TH MALT GC_TINE
Sic TI! PS 1 T 2
g3c J0¢et 0002l 2C
£3+ 002630 222700 .77E2S 4 8177525, %0 ;1S THE RESWLT 177525°
€3¢ 302ed 2CI4I3 BEQ .+10
235 mmeeag 787 CI3E7E o TSR PC,SHLT AN ERROR, &3 T2 TH WA T RC_TINE
£3 OCw7e?  C.3€ IS . : r T RS
2z . ;%E'x's mﬁm"?o 177828 R INDCRSEDT sl EnE
£33 Cl2e+z 002C2. 2l
E02 024w Cg.£97 acoiez CHP ‘RS, 852 1-x§ srssng = 982
2-. zogBEL 201372 ?ﬁ? 435 1 IF NOT oL To WY hALE
:‘: -v-v:vo -'::0: arlw ‘- “
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cFrRCA MACYL! 30,1246 OH-RUG-TT  14:09 PRAGE 20

2CuialA.SRE 18-NCV-7E 70:0C ASH INSTRUZTION TESTS
gﬂh liilll!{{{{liiiiiiiillllilillIiiiillilllliIiiiiiliillitliiiilil’fi60
-5 :TEST:S3 11/34 ASH 125262 SHIFTED BY 98€1 = 177826 P2 = .-
g:g l{lll!i!ll!lill!!il!!{{iiiliiilliiiliiiillllliil!ﬂliililiiilfllfuroo
85 002eS4 010701 TST53: SCOPEL
gc. 00265k 012700 125252 MOV 8125252, %0 ag WITH 155252
072237 (0OQ4SH ASH aogx %8° snm 0 BY 985]
883 66 106737 000432 MFPS  asPSHORD PS
884 000672 122737 000010 0C0+432 CMPB 810, 98PSWORD xs THE PS 10”
géc 902700 0G1IN03 BEQ +10
95¢ 302702 004767 013532 JSR PC SHLT :SEEN AN ERROR, GG TG TH um.. ROLTINE
8e7 :THE PS IS NOT EQUAL 70 !
8p 702706 000022 22
883 (002710 (2270C 17752 ENP 8177525, %0 .15 THE RESULT 17752¢?
S 002714 001483 BEG .+10
8. 202716 i8:
8ez 202716 DO47&7 Dl3Eit ISR PC, SHLTY :SEEN AN ERROR, GO TC TH WALT ROLTIN
8e3 :RO IS NOT Ea.xk TG [77682€ LR INCIGREC™ S£._£%2%
8+ 002722 000023 23
$ 909724 021627 000083 CHp '‘RG}, 852 ;1 STESTN = 853
86f 3C273C 00137¢ BNE 18 ;1F NOT HEN GC T2 HLT ABCVE
7 00273 0052:S INC (RS)
866
s
a7 CARERREAARARRASE R RN ERAL AR FERERARERAAERARLEFERRR AR RRERARGDRALHAS42S
873 :TEST:S4 11734 ASH 126252 SHIFTED BY (2. = 177525 PS = 12
g;: lifl!llll{lll!lllill!illlllllI»ll»lllll!l!I»lllllllllillilﬁlll&ililifi
q
875 2027™ (10721 T5T54: SCOPEL
B7t 00273 012700 125252 MOV uasasa %0 Lom RO WITH 1256252
877 002742 072012 ASH :SHIFT RO BY (2!
B78 002744 106737 000432 MFPS acpéuoao -SAVE PS
879 002750 122737 00CCIC 00043z CMPB uo Q8PSWORD  :15 THE PS 10°
88C N027%e 001403 BEJ
g8: 002760 O047E7 C134E+ ISk PC suu :SEEN AN ERROR. GO TO TH HAL™ RCUTINE
88 *THE PS IS NOT EQUAL TC 1C
883 002764 000024 24
eg4 002766 J2270C 177%2C CMF 8177525, %2 1S THE RESULT 177525
gec D0z772 201403 BEG . +10
eec 00z774 i§:
E. 002774 Q04787 i3« JER PC.SHLT :SEEN AN ERROR, G0 TJ TH -EL' ROLTINE
EBE ‘RC 1S NOT EQUAL TC 177825 Cm INICERECT sfognis
egs 205 n2¢c 2s
c 202002 02iS87 [DCCCEM CHP ‘RE, , #EY4 1S STESIN = 85+
9C3Cce  20:372 8NE 18 :IF NOT ?ucn a0 TC LY ABOVE
Se3CiC ongzic NG RS.

MWHLEAHTIDD
DD

AN 4 GO -




LI X O]
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L3 "
PED ¢
1

102

“Tes 3.\..46f J4-RUG-77 14:09 PAGE 2!
9-NCv-TE 00:2C ASH INSTRUCTION TESTS

ERRERRREERERREARREEAERERLARRFARSRREEANNERAREGRFEAEERAERE090000009044

:TEST:S5  11/34  ASH 125252 SHIFTED BY (2,+ = 177S2€ PCS = [J
T L T T Y A T Y e A Y 2

003012 510701 TSTS5: SCOPEL
0030!4 012700 125252 MOV uasas , %0 :LORD ng W m xas:sa
g a%; ASH (2)+ (SHIFT
106 000432 MFPS aspsno :SAVE PS
003026 122737 000010 000432 CMPE 810 aspsuono 15 THE PS 127
003034 001403 8EQ .+10
30373 004767 01337 JSR PC,SHLT ;SEEN AN ERROR, GO "3 TH HAL™ 90.71"€
‘THE PS IS NG™ EQUAL "3 .
303042 000026 28
003044 022700 177528 cHp 8177525, %0 .15 THE RESULT 17752¢€”
963050 051403 BEG .+10
303052 . 18:
A03062 004767 013382 JSR PC SHLY {SEEN AN ERRCR, GO YC_TH nfiT RCLTINE
‘RO 15 NOT Eoub. To 1778 R INCIGRE-T zEL_gniE

365 021597 10000SS ¢ (RS}, 455 IS STESTN = #5S

b e aPed 2P opp ob

LU OD DS DD

[ )}

U0~ DD MU L Lot - 0D

[VISVLIV ]
uivn)

!

Py N

RIS
Ba
8
3

HUREE B

3
w

D

188 8

[
C
(X

803064 001372 BNE 18 IF NGT nfn 56 T2 HLT ABCvE
093%ee 0052:€ INC (RS

llllilll!ii’iliil*iilllil!ll!llllilil!!ii}f!lIlliilllifi!llllllf’fl!

:TEST:56 11734 ASH 126252 SHIFTED BY -(2. = (7722 ®S = (O
l!!llll!ll!illlll!!ll!iilillililililll!liliillllflilll’0000!9!{{90{{

C18724 TSTSE: SCOPE!

Y e

72 012700 125252 MOV 2125252, %0 :LOAC RO WITH 25:5:
003076 072042 ASH -(2), %0 :SHIFT RC BY
002100 106737 000432 MFPS 3 :SRVE PS

04 122737 00DCIC 000432 CMPB  s10,98PSWORD  :1S THE PS 10°

12 001403 BEQ _+1

14 004787 013320 ISR PC,SHLT :SEEN AN ERROR, GO TC To M ™ RI_TINE

:THE PS IS NOT EQUAL TS 12

20 000020 3

22 02270C 177%2% CHP 8177525,°.0 .15 THE RESULT 177525°

233 0014C3 s BEG .+10

30 oo47e? 012209 ISR PC,SHLT SEEN AN ERROR, &3 T3 TH WAL RC;."’E )

_ :R3 IS NOT Eauh. Yo 177828 R INCSBSE.T IEi_fnit

34 00I031 3}

3% (021527 00ODSE IHP (RE, . 856 ;15 STESTN = 8Sb

4 501372 BNE i$ IF NST YHEN ST ML RBIVE

< 2RgZiE ] RS,
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ZTeAZR.GRC  18-NOV-75 20:00 ASH INSTRUCTION TESTS
34& lilililiillllilili!lillllllllilliliilliiiilliliiiililiiiiiii!lfiilfl
39, 'TEST:S7 11/34  RASH 125252 SHIFTED BY 2(3) = 177262 PS = ..
3-4% N L L T T T T R Yy Y e T R Y

-
2 00314 010701 TSTS7: SCOPEL
351 (03150 012700 125252 MOV oxesesa %0 :LORD PO WITH 125252
352 003164 372063 000002 ASH 2(3 suer RO BY 2(3)
353 003160 106737 000432 A MFPS acpsﬁoao PS
3E4 (003164 122737 000011 00043z CMPB  #11,a8PSWORD IS rns PS 117
955 003172 001403 BEQ .+10
38 003174 004767 01324C JSR PC,SHLT :SEEN AN ERROR, GO TG TH HALT ROLTIME
357 THE PS 1S NOT'EQUAL T3 11
958 (003200 000032 32
99 003202 022700 177252 CHP $177252, 40 .15 THE RESULT 1772527
362 003206 001403 BEN .+10
36! 003210 i8:
9ed 003210 004767 013224 ISR PC,SHLT -SEEN AN ERROR, GO TG TH HALT RCUTINE
33 :RO 1S NOT souAL 10 177252 CR INCORREC™ SELUENCE
3E4 003214 000032 33
9€S 003216 021527 0000G7 CHP (RS), 457 STESTN = 857
3t 003222 001372 BNE 18 . IF NOT tnsn GG T3 HLT ABOVE
96> 003224 00521E INC (RS)
3€3
%3
971 lllllllillilllli!llllillillll!{lilllllllllllil!llilllllllillillillll
372 STEST:60 11734 ASH 126262 SHIFTED BY 9(3) = 177525 PS = 10
gz: lillillill!llIlllllllllllIII!Ill!!!!l!!l!!ll!!lllﬂllillllllllllliil
/
975 003226 010701 TST60: SCOPE!L
976 00323C 012700 125352 MOV #125252, 70 :LOAD RO WITH 125252
977 003234 072073 0000GC ASH A, %0 suxrr RO 8Y 3(3}
978 003240 106737 000432 MFPS  JEPSUORD PS
979 003244 122737 000010 0O0O432 CHPB  §10.38PSWORD |15 THE PS 107
30 003952 001403 BEG .+10
98] 003284 004767 013160 ISR PC,SHLT :SEEN AN ERROR, GO TO TH unL' ROUTINE
o8 :THE PS IS NOT EQUAL 10 1
983 003260 D00OM 34
384 003262 022700 177525 CHP 177525, %0 :1S THE RESULT 177525?
ggg 003266 001403 " BEG .+10
367 003270 004767 013149 ISR PC,SHLT :SEEN G0 1O TH HALT ROUTINE )
3eg _ :RO 1S uor eauh. T0 177525 CR INCCRREC™ SEL.ENE
3¢ 003z74  00O03E 35
393 C387¢ 22i527 0COCeC cHp (RS}, #60 -15 STESTN = %65
3¢, 2033z Z2ii72 BNE 18 . 2F NOT YHEN GG TO HLT RBCVE
3%z CC32l. TCezic INC RS}
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Teyaln. SRS 18-N3v-75 00:0C ASH INSTRUCTION TESTS
39¢ llll»lliiiii!!iillil!!llI"l!!llil!l!!!ll!ll!!!Iii!llllllllillliilillii
Ch :TEST:61 11734 ASH 125252 SHIFTED BY 8(3)+ = 177526 PS = 1C
ggg llllll!ll!liil!ii!!liii!'l!!il‘ll!!‘liililllllliilllilfllfiililliifHlf
fgalale) %gos 010701 TSTel: SCOPEL
1001 10 012700 125252 MOV 8125252, %0 :LOAD RO WITH 125252
:gg 003314 97293.;; .2 ﬂf—’? 3:3%;6/0 :SHIFT RO BY 3(3)+
. 1 00
1304 %ﬂ? 1827 301 000432 CMP 10 angLJORD ?s §H£ PS 107
1005 (00333 001403 BEG L+10
1006 002332 004767 013102 JSR PC,SHLT -SEEN AN ERROR, GO TO TH HALT ROUTIME
1067 :THE PS IS NOT EGUAL TO 10
1008 000036 3
1009 003340 022700 177525 CMP 8177525, %0 : 1S THE RESULT 1775257
1010 003344 061403 BEG .+10
2511 003346 18:

1312 003346 004767 013066 JSR PC,SHLT :SEEN AN ERROR, GO TG TH HALT RCUTINE
iF13 :RO 15 NOT sc.uAL T0 177825 CR INCORRECT SEGLENCE
:C14 003352 000037 37
.01§ 00334 021527 00006l CMP (RS), 861 ngsrssm = 86]
:Cib 303362 001372 BNE 13 ;1F NoT ¢} T3 MLT ABOVE
;r._;g 003362 00s215 INC (RS)
and b
2019
arls
aT-34 lli!l!lilil*iilllli{!ll!l!ll!l»!lll!lllilllllllll}lilm{lll}lﬂlll{l
‘0e2 (TEST:62 11734  ASH 126262 SHIFTED BY 8-(3) = 177825 PS = 19
730553& lllllll!ll!ilillll!lI"lllillllllllllllﬂl"l“"“ﬂllﬂﬂ"l“ﬁ!lil
1225 00334 010701 TST82: SCOPEL
1826 3366 012700 125252 MOV 8125252, %0 :LORD RO WITH 126252
;027 003372 072053 ASH s-(35 40 sux FT RO BY a-ca
1928 003374 106737 000432 MFPS Q8P PS
:029 003400 122737 000010 000432 CMPB 810, J8PSWORD .IS THE PS 107
i030 003406 00IMC3 8EQ +16
1031 003410 004767 013024 JSR PC SHLT +SEEN AN ERROR. GO TO TH HWALT ROLTI!
ok :THE PS IS NOT EQUAL TG 1T
2033 003414 000040 4y
10 00M1e 022700 177525 CMP 8177825, %0 1S THE RESWLT 1775257
,9332 %ggzq 801403 s BEQ .+10
(037 003424 004767 (130:0 ISR PC,SHLT :SEEN AN ERROR. GO TO TH HALT ROUTINE =
ek ] :RO IS NOT EQUAL TO 17752€ OR INCCRREC™ SESUENE
-039 D0M30 00004i 4]
104C 003432 021527 00002 CMP (RS, 862 S STESTN = 862
4. D043 901372 BNE 18 : IF NOT ?ch G0 TO MLY ABCVE
2 DO3440 NpE2.c INC (RS)

3 &

]
&

R XX
XD
naw

3
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1
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[}
)




SRR ot R

NN N
W) r-

R T T T e e e S e ) Sl 1o oY o SOy Sy Sy SO Oy S -p
Dggogooauoon’ B4 0t 0t 0t Bt Pt Pt P P § = B
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RSHC INSTRUCTION TESTS

4303000303000 0H00 30 00 0 S S S 4 %
; ASHC INSTRUCTION TESTS

003442
003450

- ~
=22k
--l2d

012737
005037
012737
005037

005037
C12737
00S037

0C47e7

0C0J42
023701
001403

004787

0047&7

aAnee e
Uﬁ‘ﬁ -

=rge°'S
ol wis & o

Q442
000001
000446

000434
000436

040001
030440

174672

012652
nNgo439
000442
£12632
00444
01261E

800430
Cigedl

000w30
000438

00044y

000406

0oo432

lililiillllli*iil!!iillillilllli

e isiel it ls]

: TESTS 63-157
CEFEREEREREEE

MOV nsa J8COUNT
CLR aTENP] : TEMP1=
MGV 8l aursnpa ' TEMP2=1
CLR anteEmp : TEMP3=0
CLR asrsnpq : TEMPY=
MOV 81, J8TEMPS ;TEHPS:I
CLR astemps 0 1 SHIFTED BY 0=0 1, PS=C
REGDl: SCOPE3
MOV RS, R2 ?
MOV sstENPL, %0 PLﬂCE HE CONTENTS OF TEMP. IN REGISTEF C
EEX SSTEMP2, %G| PLACE THE CONTENTS OF TEMP2 IN REGISTER .
BIT 81, 388PASS 1S 1T AN EVEN PRSS ?
BNE 28 :IF NOT THEN GO TC 2%
MOV 93TEMP3,RS :OTHERWISE EXECUTE ASHC INSTRUCTION IN MCOE
gguc Rg.no :USING RO
28: ASHC  TEMP3, %0 :ASHC REGISTER 0 BY THE CONTENTS OF TEMF2
4§ MFPS  asPSWORD :SAVE PS
ggga BQ'{EPPB . SPSWORD; COMPARE PS WITH THE CONTENTS OF TEMPE
ISR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
42 ‘ PS
INC S8COUNT
ggs aﬂgm,za 1S THE RESLLT IN RO SAME AS TEMPS®
JSR PC.SHLT +SEEN AN ERROR, GO TO TH HALT ROLTINE
. 1LIRONG RESULT IN RO
CHP TEMPS, %1 IS THE RESULT IN Rl SAME RS TEMPS®
BEQ .+10 :TEMP1 TEMP2 SHIFTED BY TEMP3=TEMPs T
AND PS TEMPE
JSR PC,SHLT SEEN AN ERROR, GG TS TH HALY ROUTIME
“ 'HRONG RESULT INRI
MOY .RESTORE RS
828 (nsé S8COUNT  :1S TEST NUMBER=COUNTER?
ISR PCSHLT ;BEEN AN ERROR, GO TG Tn HALT G I
45 )

(RS,

e
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X

URCBSS SFHE SRS SBBURREZERLEERYRRELRNS
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Y
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nuwn

ouun

s0 '

MACY1l 3011046)

SRC

33l
52

04-RUG-77

18-NOV-75 00:00

B3

004066
004072
004074
204:00
D049

2040

002180
000440
4y

442
000121

000410
00Q440

000434
00043t

000001
000440

174472
000432
000446
012482

000430
000442
01243¢
000444

g1e4l1e

000432
012402

000160
000440
000444
000442
go0121

gogeie
J0C242

000406

oony32

14:09 PAGE 25

MC2

RSHC INSTRUCTION TESTS

68:
REG23:

e3:
48

é@S),tlbU
JETEMP3
sTEMPS
sTEMPY
(RS), 8121
REG23
RY4,RITSH
%?. 757160

S8TEMPL, %2
JWTENP2, 72! 1

gé,aospnss
isrsnva,aw
RY, A2

4$
TEMP3, %2

;¢Q!E THE FIRST 159 TEST BEEN EXECLTEL?

;ROTATE TEMPS LEFT B8Y 1 PLACE
: INTROGUCE _CRRRY FROM TEHPH IN TEMPE
;15 1T TEST 12i7

;IF SO THEN GO ANC INITIATE RIGHT SHIFT

;PLACE THE CONTENTS OF TEMPl IN REGISTE®
:PLACE THE CONTENTS OF TEMP2 IN REGISTER

;IS IT AN EVEN PASS
:IF NOT THEN GO 70 2%
8T?ERH&§E EXECUTE ASHC INSTRUCT

(\lf\\

i C REGISTER 2 BY THE CONTETNS OF TEMF2

P D
JOTEHPS 28PSHORD; COMPARE PS WITH THE CONTENTS OF TEMPE

+10
PC,SHLT
SSCOUNT
BITEHPH , %2
PC,SHLT

SSTEMPS, 73
.+10
PC,SHLT

(RS& . S8COUNT
PC,SHLT

(RS)
(RS), #1860
&S

J8TEMP3

S8TEMPS
S8TEMPY
(RS), 8121
REGHS
R4,R]ITSH
/7 TST180

RS,R!

;SEEN AN ERROR, GO TO TH HALT ROUTINE
;WRONG FS

;IS THE RESULT IN R2 SRME AS TEMPYW?

:SEEN AN ERROR co T0 TH HALT ROUTINE
HROMG RESULT N

15 T SLT IN R3 SAME AS TEMPS?
f?':s.rgvz SHIFTED BY TEMP3=TEMPY TEMPS
'SEEN AN Eﬁkgn co TG TH HALT ROUTINE
WRONG RESWLT N

; 1S TEST NUMBER=COUNTER®
;ggEN AN ERROR, GO TO TH HALT RCUTINE

C.ﬂ

;?@!E THE FIRST 159 TEST BEEN EXELLTED®

ROTRTE TEMPS LEFT BY | PLACE
: INTRODUCE CARRY FROM TEMPS IN TEMF-
;15 IT TEST 121°

;IF SO THEN GO AND INITIRTE RIGHT SHIF™

M SR‘-‘E RS

ICN IN MCCE T
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DFKACR.SRC  18-NOV-7S 00:00 ASHC INSTRUCTION YESTS

v ] / ; MPl IN Ry

{128 BGuiiR Bi%Ed ARBd% Mgy SSTEMBA:%4d,,  GLAGE THE CONTENIZ GF TEREL IN REbialER ¢

He0 ooNeD DUU; ; 000001 DO0H06 c%? 8], JuSPASS 17 VEN PRSS ?

iigé 883155 oBu NE af’ { orﬂ?HEn GO 13

1163 004132 013700 000440 MOV J8TEMP3, RO : OTHERWISE EXECUTE nsac INSTRUCTION IN ™MCOE -

1164 883133 ASHC , :USING R4

1165 1 Y B8R

1166 DOMI42 073467 174272 23: ASHC  TEMP3, %M :ASHC REGISTER 4 BY THE CONTENTS OF TEMP2

1167 0OMING 106737 000432 4s: MFPS  J#PSWORD :SAVE PS

1168 004152 123737 000446 000432 CMPB aoTEnPs 28PSWORD: COMPARE PS WITH THE CONTENTS OF TEMPE

1169 204160 001403 BEQ +10

}};? 004162 00M767 012252 ISR PC,SHLT ssgncnnssnaon GO TO TH HALT ROUTINE

1172 004166 000052 52

1173 004170 00S237 00043 INC S8COUNT

1174 004174 023704 006442 CMP ISTEMPY, 24 . 1S THE RESULT IN R4 SAME RS TEMPY’

1175 004200 001403 BEQ +10

1176 00M202 004767 012232 JSR PC SHLT -SEEN AN ERROR, GO TO TH HALT ROUTINE

1177 ‘WRONG RESULT IN Ry

1178 004206 000053 53

1179 004210 023705 000444 CHP ISTEMPS, %S .16 THE RESULT IN RS SAME RS TEMPS?

iig? On4214 001403 BEQ .+10 TEHPl T;gpa SHIFTED BY TEMP3=TEMPY4 TEMFS

1182 004216 004767 012216 ISR PC,SHLY xmmmw GO TO TH HALT ROUTINE

1183 ‘WRONG RESULT in RS

1184 004222 0O0OSH 5y

1185 004224 021137 000430 P (R1),38COUNT ;IS TEST NUMBER=COUNTER?

1186 004230 001403 BEQ .+10

ﬁ%mmammomm ISR PC,SHLT %mumammmmwwm

1189 004236 55

1180 004240 010105 MOV R1,RS :RESTORE RE

119! 0g4a42 G0S215 INC (RE) A

1192 004244 021527 000:6C CHP (RS), 8160 HAYE THE FIRST 159 TEST BEEN EXECUTES”

1192 004250 0020!4 8GE 6 :YES

1194 004252 005237 000440 INC JUTEMP3
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MACY11 300104 O4-RUG-7" 14:09 PAGE 27
. SRC 18-MOV-7S 00:00 RASHC INSTRUCTION TESTS
cLe
8:528 %i 000N ROL IS TENPS :ROTATE TEMPS LEF* BY 1 PLACE
4 137 000442 ROL QS TEMPY ' INTRODUCE CARRY FROM TEMPS 1N TEMF
ig‘z 000121 552 éﬁs"”al ‘15 1T TEST 1217
276 00N467 000010 TSR RY,RITSH 1F S0 THEN GO ANC INITIRTE P1er~ SHIF”
gg 767 6%: ISR %7 15T160
167 177172 es: TP REGCI )
o0M3le o4 RITSH: CMP (R4)4_(RY)+ <MAKE R4 POINT TO THE NE/T REG TAG
004314 012737 040000 00CH34 MOV wgoob J8TEMPL  ; TEMP1=4000
004322 005037 O0OOM3E CLR JsTEMP : TEMP2=0
Q04326 012737 177742 00040 MOV 8-30. , 98TEMPI  :TEMP3=-3C
04334 00S037 000442 CLR NTEMPY T TEMPY=
040 005237 004 INC JATEMPS : TEMPS=]
004394 000204 RTS RY
0043™e 021527 00C!6C 1ST160: CMP (RS), 8160 .15 1T TEST 16G
04352 001216 BNE 167161 '1F NOT THEN TRY VES~ l&!
04354 005037 DODN3M CLR 8TENP| !0 0 SHIFTEC BY ©°
O0N36C 006037 000442 CLR SSTEMPY 15 EQUAL 10 0
004364 Q012737 DOCOON 00C<ue D, #4, 98 EMPE :QND PS=4
004372 006207 RTS w7
004374 (021527 00016l TST16!: & (RS), 816} .15 1T TEST 1B
004400 001004 BNE rsnés )
0ON402 012737 177746 00DMHC MOV 8-33, 98TEMP3 ;0 O SHIFTED Bv -32=2 2, 9C=-
004410 006207 RYS %7
moowis %ig 00C162 TST162: gg %Rfr’i 8162 ;xg ITTT$ST uT;SY S
H 1 =2
00N420 012737 000032 J0OM4C MOV -ga.gtsm ;5 o"gnxr'r?n' By 32=0 C. Ss=s
m-w% DEEsa?EC 000163 767163 EL% }"7 1, 8163 17T TESY 162"
00444 %mxs BNE Tﬁxsw f? NOY gm TRY TEST &=
004436 012727 052625 200434 MOV 852525, J8TEMP] :sasgs 0
DOw444 019737 177760 0OC44C MOV 8-1b.,08TEP3  ;SHIFTED By -15.
oo44s2 005037 00CY42 CLR a-‘}gnh _
012737 062525 00044 MOy -s;szs S8TEMPS ;1S EQUAL T2 o 5282¢
AOM464 O0S037  DOOW4E CLR SaTEMPd SANC PS =
DON470 000207 £YS %7
Q0w72 021527 000164 TST1g4: CMP zn;: 8164 .15 1T TEST 1g4° )
004476 001014 BNE 3 tIF NOT THEN TRY TEST &S
012727 128252 00043 MOV 8l ,O8TEMPL 126262 O3 SHIFTEC B1 -l&.
004506 005337 (020442 DEC eTENPH
a04512 012737 125252 200444 sl SSTEMPS ;15 EQURL TO -1 126262
OM4EST 012737 00001 000446 MOV -; _OeTEMPE :AND PS=10
oe: 1527: 000365 TET16E gfé i ), 8168 IS IT TEST 185’
1 - : . . :
™ 001067 BNE 72?165 L IF NOTY%-EN TRY TES” :
CHER 012737 177777  COCHM MOV 8-, 8TEMP] :=1 0 SHIFTED BY -l&_ _
oous;g mmg 177777 0004 ;g; -;1.3-7 MPS 16 EQUAL T -1 -I. <A BS=.Z
mﬁat YA
WMEE4 021827 00CieE TSV 166: CMP (RS), 8166 .18 1T TEST i66” -
B U o g B R R
J; - o .’v X ] ] H -
EuEPS 012737 (7774C 20044C MOV 8-32. ab?sns.a ;sﬂ?gggo BY -32 IS EuaL s -1 -.
SO4E7¢ 036237 ICOWME ING  9sTEMPE AN PS=i]
ZoeEze 202277 RTS %7 S
TTetie IZ7EZ7 Isip? veTie?: LMF RE., 8iE” 138 I TEIT ™
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AR SRR PRI L

AP eR sp cp b B oY

.0

18-NMOV-7% 00:00
9
88&857 000434
0
7 rivivg
37 000446
00017C

12528
125252

200171
Q0044C
0Seses
00CH446
800172

gsasas
QO04NC

00Ci73

177777
00044C

100000
000174
100000
000436
00044y
900002

B8RE228RE8
g -

b
2K
o~

NN

=

o
—
N
~
W
~ -

SRS PRMSES

3

o EEEQ§

gfag
ok

999y
:
®

(@]
e
3
[V}
~

)
)

D
L
(& ]
J

!gc

04-AUG-77

0004+C

020436
00044z

20243t

00043¢

00042
3004+

000434

JO04sE

000434

222+t

€03

14:09 PRGE 28

ASHC INSTRUCTION TESTS
BN 157170

L JSTEMF!L
DEC JSTEMP2
MOV ll? S8TEMP3
CLR f4PS
INC a-vsnps
RTS
TST170: CMP <ns, 8170
BNE 167171
MOV 8125252, a8 TEMP2
g?g ll? 52 SETEMPY
TST171: CMP (ns) 8171
BNE rsrx?
DEC sTEMP3
MOV csesas J8TEMPY
CLR :rsnpé
RTS
T§T172: CMP (RS) 8172
BNE 157123
MCV £52525, JaTEMPZ
INC JSTENPS
RTS “?
TETI73: CMP (RS), 8173
BNE 157174
oV a-1, 38TEMP?
Ry 2;;57"?3;;.7:»4
ggg oxﬂoucb 8TEMP
TSTI74: CMP st: 8174
BNE 157198
MOV sl )3, J0
5
]
MOV 82, JaTEMPE
RYS
TST1?S: (P (RS}, 8175
BNE ENT1?8
MOV s-1 S8TEMP.
LR eTEmP2
INC SsTEMPI
CLR nT MPY
MOY sTEMPE
RYE 7
E%W.7E: { !RSI 8178
BEG
3] Pu.iHLT
1
759 SF e

;1F NCT THEM TRY VES™ (70

gnxfreo BY 1€,

OUQL O‘L-
nno PS=12
;15 11 TEST 1
i1 Sen TRy TesT 171
10 125252 MIFTED BY :
'1 EQUAL T0 126252 2, ANC Fc=:
1S 1T TEST 1717 )
'IF NOT THEN TRY TEST 72
10125252 SHIFTED B( 12
'15 EQUAL TO 52525 C
{AND PS=0
.15 IT TEST 1727 ]
;IF Mo THeN TRY TEST 172

:SHIFTEC BY 16. IS EQuUAL ~

;1S 17T _TEST 173?
,AF NOT THEN TRY TEST 17<

'SHIFTED BY 5.
.15 EQUAL T2 77777 &

IS IT_TEST 1747
NC THEN TRY TES

: 100000 -2 SHIFTEC 9\ €.
-1S EQUAL TC 77777 C
:ANC PS=¢

“ﬂ’ﬂﬁ
s o

:—‘
ol

;1S IT TEST 17%5?
:IF NOT THEN TRY YES™ (Tt

AN ERROR, 30 "C Tw mAL

: SEEN
[ 7ECT NUMBER 330FED

(RESTIRE STRIr BOINTES
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MAITil 301046 Q4-AUG-7T  14:09 ;
LR .a Nov-"5 08:2C asHC INSTRUCTION TESTS
ll0lQliilillilllii!llillllliillllllllllllllilil’l!lil!ll”i”i”ii9l
:TEST: 176 ] SHIFTED BY 8. = 400 PS = 0
lillllllllllllllll{lllllll’lllllll!ll!!llililllll!ll!!’lllf!’ll!’l!0
106 815781 T5T176: SCOPEI
110 15 0000CC MOV sDUMMY, %1 L Rl WITH Cumey
114 0! 7 80200: MOV o, %11} RI'L WITH ;
i BF 073} 7 300C:9 3"cc 88, % IFT R1,RI1!L BY €
'Y - . . : P o -
%zg 103737 0004 ) WPS 8PS ; PS
08132 1322737 O 00043z CMPB 80, 38PSWORC :1s THe PS 07
%mc 861403 8EQ .olg
iva D047e7 Ool1272 ISR PC,SHLT SEEN AN ERROR, GC "C TH A ™ LTI
‘THE PS 1S NOT EGUAL TC -
90514 000257 57 _
05is0 02270: 20C4IC oy 2 8400, %i :1S THE RESULT §0O?
208184 05I423 BEQ .10
00SiSe 004767 D.12S& ISR PC,SHLT ;gssn AN ;mon GO TC TH MAL® RL_TIE
: EQUAL T 405
905162 000060 60
00S:e4 021827 0OC!7E < ms: 8178 msm ur-
D0S:7C D0I4C3 BEG +10’ ;IF no*r i .
N0S:72 DOM767 0.l242 JSR PC,SHLT sE: ERROR rc TH HALT RO_TIE
TEST IS IN WRING SEGUENCE
n0S.76 D0CJE! bl
ale:V-lo ol s, +-344 INC (RS}
llli{lll!lllllilIllllillll!lllii!Qliilliill!l!!lliiliiiiiflliliflffi
:TEST:177 -1 SHIFTEC 8Y 1S. = 13000C PS = I
lliillllIl!ll!lllli!llllllilil{lllilllillllilllfi!illillliilffliliif
00Sgcz  0ic7a: TET177: SCOPEL
208204 312733 09200 MOV -oumv,/a 1LORD R3 WITH o.m
006210 Q12703 177777 MOV s-1,%3} :LORD RI!: WITH -
QDEZ14  00Q0g2M! oL
0EEie 073327 000017 ASHC  81S.,%3 ;s.-un R3,R3'; BV IS.
008232 (0E737 DOON32 MFPS  28PSWORD :SAVE PS
00S22¢ 122737 J00CIC 220<432 cMPE  sll acpsuonr :1s THE'PS 1:1°
034 ACI402 8E3 +18 _
00E23e 004767 CLil7t JeR PC,SHLT -SEEN AN ERROR, 30 T3 TH HALT GCLTINE
:THE PS 1S NOT EQUAL TC 1!
05242 000062 b2
008244 022723 100700 CHP 8100003, %3 1S THE RESULT 100000°
332252 0955;2; 0ilik §§g pclga :SEEN AN ERROR r.o TC TH HALT RI.TINVE
1iike J C G o
i :R3 IS NCT EQUAL TO 12309G
35 500083 83
J0EPEC 22127 oCIi77 ~MP (RE,, 8.7 LIS STESTN = s
20Ege+ ITI4C3 8E5 Rt <78 NCT YMEN G0 TO MUY .
SRESEe DTITET sIliet Ik PC.SH.T :SEEN AN ERROR, G0 g TH sr” SI.TINE
. :TEST 1T IN WRANG E:uEN.E
STSE72 olEe £
F22z- IIzzT: R
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BRIPIRIS)
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.SRC 18-N0v-78 00:3C RSHC INSTRUCTION TESTS

cERAREER AR R R R AR R R R AR R R R AR R RN ARASEENESEEES002598880084999%

: TEST: 200 52525 SHIFTED BY 0 = 58585 PS = C
e N T T R T T I I T T R T Y T T Y T Y Y YR Y P ¥ 22T

38?553 010701 TST200: SCOPEL
010801 MOV RS,R! :SAVE RS
012705 0C0DOC MOV sOUMMY, %5 :LOAD RS WITH DUMMY
012705 052525 MOV 852525, 75! | :LOAD RE!! WITH S252%
12 900241 sLC
14 073627 000000 ASHC  #0,%5 :SHIFT RS,R5!! Br
005320 106737 000432 MFPS  QsPSWORD :SAVE PS
a06324 122737 J00CCC 10004322 CMPB 80, 38PSWCRLC :15 THE PS 0°
006332 001403 SEQ .+10 .
008334 004767 Ci1130 ISR PC,SHLT ;SEEN_AN ERROR, 50 “C TH =R~ &I "I
:THE PS 1S NOT'EQUA. TC
40  00C06S 55
2 022705 05252 CHP 852525, %S ;1S THE RESULT 525257
001403 BEQ .+13
00S3SC 004767 211064 ISR PC,SHLT ;SEEN AN ERROR, GG TC Th mi.” RI_TI°E
, . :RE 15 NOT EGUAL TC S252¢S
005354 065 bk
0053Sk 010105 MO R},RS :RESTORE RS
006360 021527 000250 CHP ‘RS> w20C -1S STESTN = 82007
005364 031402 BEG .+10 ;IF NOT YHEN GOTTO MLT
00E38e J04767 o1io4t JSR PC,SHLT ;SEEN AY ERROR, GC TC "W HAL” RO.7IE
:TEST IS IN WRONG SEGUENCE
02372 003067 &7
D3Ea7e  0EZ:z INC (RS)
: SR ERS 42 R SR LN S EEEARNEERAAEREREEREEREEEEEREEESAEEEEIAASASAEAAASSIEE
: TEST:2C1 20010 SHIFTED BY -13. = 101 PS = T
(RFEREAARERES RS ERARERERNERRARERRARRAAEERERERLERAERSRARARLSFROS442S
10S37e 013701 TET201: SCOPE!
805400 012701 003200 MOV sOUMMY, %] :LORD Rl WITH Dumy
906404 012701 02631¢ MOV 820010, %111 :LOAC R1'1 WITH 2001G
008410 000241 ¢Le
006412 073127 177763 RSHC  8-13.,%) :SHIFT RI,R1!] 8Y -i3.
00S41E 10€737 000422 MFPS  JaPSWORD :SAVE PS
D0S422 122737 0000OC 20C43z CMP2 80, J8PSWORC ;15 THE PS 0°
005430 OCI4G2 BES .+40 .
005432 OO47E7 011002 ISR PC,SHLT :SEEN AN ERROR, 3C 70 TH MaL™ RCLUTIE
:THE PS IS NCT EGUAL T2 5
00S43t 00007 73
N0E440 022701 00C010! ¢ $10},%! ;1S THE RESULY 101"
Q0S444 001403 BES .+10 e
00E44¢ 039787 C1076e ISR PC,SHLT :SEEN AN ERROR, GO TO TH HAL™ RCL™INE
:RI IS NOT EQUAL TO 101
70E4€2 000071 ré!
J0E4E4  D21S27 000201 CHP (RS), 8201 .15 STESTN = 820!°
S0S4e7  DCI4C2 BEG .+10 15 NOT YHEN GO TO HLT
ZBt4gz 29977 Cio7Es ISR PCL SHLY SEEN AN ERROR, GO T3 Tm MA_™ RIUTINE
e i TES™ IS IN WRUNG SEJLENCE
A A [P 4 TE
TIE.77 TIzEi e RS,
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ASHC INSTRUCTICN TESTS

!illlsaslllllIllllllllIl!lllllllllllll;glllIll|'lllllllllll‘l”f”0l

TST202:! SC8PE1

-

CICIENE DV
O NMZOS W
Ve 0 0

A
(G|

[T

GO3

-1 SHIFTED BY 1§

CRRRRRRRERRRRRARRARRAERERR AR AR RRAR R R RS AR AR R R DR AR R SR SRR RAEEE4R8509

sounnY %3 :LORD R3 WITH DUMMY
s-1,%311 :LORD R3!1 WITH -1
" HIFT R3 R3'1 BY IE.
a:?snogo 2
lli J8PSWORD 1S THE PS 117
.+
PC,SHLT ;SEEN AN ERROR, GC TO_TH WALT RILTINE
‘THE PS 1S NCT EGUAL TC ..
80 33 .15 THE RESULT 07
PC,SHLT :SEEN AN ERROR TS TH HALT RCLTINE
:R3 IS NOT EouhL 70 2
(RS), 8202 ;15 STESTN = 82”2’
+10° :1F NOT tHEN uc To LT
PC SHLT :SEEN AN ERROR, GO TG TH HALT 8C.7I°€

:TEST IS IN unbnc SEGLENCE
(RS,

lflliillllliililii!!li!lliiliilf{llifiiillilll{{lliilillffffli{iffii

1 SHIFTED BY ~1 = 100000 PS

llllll!lll*illllllllllfliilillllIlililliiiiililiillllll{{{lli{{iiif!

R iy %5 'SQXE B2 LIt cuees

8.5} 'LORD RE'1 WITH &

8=-1.%E :SHIFT RS,RS!. BY -}

39PSWORE :SAVE PS

oxiaapsu z :15 THE PS 1°

PC.SHLT ;SEEN AN ERROR, G0 T2 Tm sil™ RILTIM
“THE PS IS NOT EQUAL T3 :

01?0”00 :15 THE RESULT 1000307

BC,SHLT ;SEEN AN ERROR, GO TC TM HA_™ Si.7IE
i BN AN ERRDAL %, T To0mol =

R1,RE .RESTORE RS

xRt) 8203 STESTN = aeca'

.18
+12 +1F NO™ THEN 30770 HLT )
BC,SH.T :SEEN AN ERROR, GO T3 Tm AT RITINE
'TEST IS IN WRONG SESCEMGE

-
L]
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SRS 18-%3v-7S 00:00 RSHC INSTRUCTION TESTS

SERRRERRRRREEEFREREREEEEERERRERRARERRERRRERRARERRREREREREEFSRS4545444

; TEST: 204 125252 SHIFTED BY -16, = 125282 PS = 11
I I I I I T T T R TR v A Y AR Y A PR A T A

00S666 010701 TST204: SCOPEL
00867C 012701 000000 MOV sDUMMY, %1 :LOAD R1 WITH DUMMY
N0Be?4 012701 12525 MOV 8126252,%1'1  :LORD RI1'] WITH 128252
005700 00G2yi CcLC
005702 073127 177780 ASHC  #-16.,%1 :SHIFT R1,R1'1 BY -lE.
005706 106737 000N32 MFPS  QsPSWORD :SAVE PS
005712 122737 000011 007432 CMPB  ®#1l,98PSWCRD  :IS THE PS 117
Q08720 D21403 BEQ .+10
308722 00N767 0105.2 ISR PC,SHLT :SEEN AN ERROR, GO TO TH HALT RI_TIE
:THE PS IS NOT'EQURL TO 1l
noS72e 00010! ) 131
A05730 022701 125252 CHF 8125252, %1 :1S THE RESULT 1262527
305734 0GI403 ?ea .+10 o
005736 004767 Dil476 SR PC,SHLT -SEEN AN ERROR, GO TO TH HALT ROLTIME
:RI IS NOT EQUAL TO i2s2se
0OS742 000102 102
005748 021827 000204 CHp (RS}, 8204 .15 STESTN = s204”
005750 001493 BEQ .+10 :IF NOT YHEN GO TO WL T
A0STE2 004767 010462 JSR PC, SHLT SEEN AN ERROR, GO TG TM HALT RCLT:
:TEST IS IN WRONG SEQUENCE
786 000133 103
OCE765C 00S21% INC (RS)
;!ll*llllIllliiliililililllllli*li!Illllli{{llll!llilllilfiiiiifil{ff
TEST: 205 125262 125252 SHIFTED BY 21. = S2500 000272 =€ = =
;lillili!llii!!ll!llll!!iilillllliIli!llilll!l!iillllilliiililiifi{il
Qo782 0107CH TST205: SCOPE!L
905764 612702 1252%2 MOV ussssgg.ve :LOAD R2 WITH 125282
a0E770 D19703 125282 MOV 8l '¥311  iLCAD R2!'1 WITH 126382
308774 00024 cLe
305776 073227 000025 ASHC  821.,%2 ;GHIFT R2,R2'1 BY 31.
006002 106737 000432 MFPS  J8PSUORD : PS
N0600€ 122737 000003 00043z CMPB 83, 38PSWORS :1S TME PS 37
306514 001402 BEG .‘13&
N0E01E 004767 CI04:E TSR PC.SHLT <SEEN AN ERROR. G0 TO TH MALT ROLTINE
:THE PS S NOT EQUAL T 2
006522 0OCI0M 104
J06024 022752 052500 CHP 852500, %2 :1S THE RESULT 52500"
20603 00I403 BEG L+]
306032 004767 010402 ISR PC.SHLT sSEEN AN ERROR, GO TC TH HALT RC.TINE
:R2 15 NOT EQUAL TG 52500
006036 00010S 105
00E04C 0822703 30C30C IMP 8000000, %2!;  :1S THE RESULT 000D0D®
90044 00 403 BEG .+10
06046 004767 01036 ISR PC,SHLT ;SEEN AN ERROR, 0 TO TH HALT RCLTINE
‘Ro'1 IS NOT eluAL TC 0000CE
206052 00010k 108
S0e3Es J2i887 copecs CME (RS, , 8205 ;15 STESTN = #205°
PECEC EIIdCz BES 410 (1F NOT MHEN SSTTE M. L L L.

bl dd wet e
TIETEE I sz i T 1SEEN Ah ERRCR, 3°
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SR :§-~cv-9s 00:0C ASHC INSTRUCTION TESTS
:TEST 15 IN WRONG SEGUENZE
208268 200107 107
PoRee 25EiTe INC (RS
6272 . 777! MoV 0=7,%
2paff e3¢ 4777 ey e
TILTos T12733 D004se MOV 0S2, u4
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SRS 18-NTv-75 D0:00 ASHC INSTRUCTION TESTS
; RERBREEEEREEREREREEEREREREERE R ERE LR L ERRERERARRLRARRAL AR ERRRRES254
:TEST: 206 126252 126252 SHIFTED BY S1 = 177525 52525 FS = i
: FERERERREREREEREEEERRRERERERE RN ELERELEREERERELERERERE L EEESREE2524 S
%ws 010701 TST206: SCOPE] _
110 012700 125252 MOV 8125252, %0 {LOAD RO WITH 125252
006114 012701 125262 MOV 8125252.70'1  ;LORD ROVI WITH 125252
006120 000241 CLC .
00bl2 073067 172326 ASHC  Si,%0 :SHIFT RO,RO'1 BY S
006126 106737 000432 MFPS  98PSLORD :SAVE PS
006132 122737 000010 000432 CMPB 810 98PSWORD  :IS THE PS 107
00614C 0CI403 BEQ .+10 ,
Q06142 004767 013272 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROLTINE
*THE PS IS NOT'EQUAL TO 10
006146 000113 110 .
006150 022700 17752¢ CMF $177525, %0 .15 THE RESULT 1775257
006154 001403 BEQ .+10
006156 004767 010256 JSR PC,SHLT -SEEN AN ERROR, GO TG TH HALT ROUTIME
:RO IS NOT EQUAL TO 177525
006!62 000111 111 :
006164 022701 052525 CHP 852525, %0' | ;1S THE RESULT 525267
ggggg 001403 s BEG .+10
006172 004767 010242 ISR PC,SHLT :SEEN AN ERROR, GO TO TH WALT ROUTINE
:RO?1 1S NOT EQUAL TO 52525 OR INCIORRECT™ SESENCE
006176 000112 112
00620C 021527 000208 CHP (RS}, 8208 15 THE STESTN = s208”
00e204 001372 BNE 18 :IF NOT YHEN GO TO HLT RBOVE
00620e 005215 INC {RS)
: FEREEREREREEE R RS RS RE RS EE SRS S REEERREREEHEEEAFREEAEESERRERAAERRAE
:TEST: 207 126252 125262 SHIFTED BY 952 = 177526 52526 PS = !2
: FEERELBEEREERRREHEEEREFRE SR ESRERRAERE R REARESREHEREAEERAREEERRERELES
006210 510701 15T207: SCOPEL
006212 012700 125252 MOV 125252, %0 jLOAD RO WITH_125252
006216 012701 125252 MOV 8125252 #0':  ;LOAD RO!I WITH 126252
Q06222 000z4] cLe
00628 073077 17222¢ ASHC  3S2,%0 :GHIFT RO,RO'1 BY 352
006230 106737 000432 MFPS 3P :SAVE PS
006234 122737 00001C 000432 CMPE  810,98PSWORC  :IS THE PS 107
%0642 00I4C3 BEQ .+10 L
00ba44 004767 C10170 JSR PC.SHLT -SEEN AN ERROR, GC TO Tm WaL™ BILTINE
:THE PS 1S NOT EQUAL T2 il
006250 000113 ) 113
00boS2 022700 177525 CHP 8177525, %2 .15 THE RESULT 177825"
006256 001403 8EQ .+10
006260 004767 DI01S4 JSR PC,SHLT :SEEN AN ERROR, GO TO TH MALT RO.TINE
:RT IS NOT EQUAL TO 177838
006264 000114 114
6¢ 02270, os2s2c CHP 852525, 42"} :1S THE RESULT 52525°
0627z 001403 BEG .+10
o274 18: X
SOEZ74 0e7e? Ciliel ISR Pr SH.” :SEEN AN ERROR, 30 TC TH MALT RoJTIM
:R3TT 15 NCY EOLRAL 5 §333% oF INIIRRECT sfs.EniE
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18-NOV-7S 00:00

000207

115
chHP
BNE
INC

(RS), 8207

the)

LO3

-1S THE S$TESTN = #2077
:IF NOT tHEN GC TO HLT ABCVE
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SRC  18-NOV-7% 00:00 ASHC INSTRUCTION TESTS
l!i!li!llllillllllilllliil{lillillliilillilliiilil!llllllllillii!49i
:TEST:210 126252 125252 SHIFTED BY 9851 = 177525 52626 PS = !C
lll!lllil!!iili!l!ll!lilllli!illll!ll!!!ll!!lil!ll!l!!!l!!iillliiiii

006312 010701 7ST210: SCOPEL

006314 012700 125252 MOV 8125252, %0 {LORC RO WITH 125252

006320 012701 128252 MOV 8125252, %0'1 .LORD ROJT WITH 126252

006324 000241 CLC

006326 073037 00045 ASHC  a@S1,%D snm RO,RO!1 BY 385!

006332 106737 000432 MFPS  #PSKORD PS

006336 122737 000010 000432 CMPR 410, J¥PSWORD xs THE PS 107

006344 0C1403 BEQ +i0

006346 004767 010066 ISR PC,SHLT :SEEN AN ERROR, GO TO m HALT ROUTINE

) :THE PS 1S NOT EQUAL TO 10

006352 00C1ib 116

006354 022700 17752% CHP ¥177525, %0 1S THE RESULT 177825?

006360 001403 BEQ +10

006362 004767 013052 ISR PC,SHLT -SEEN AN ERROR, GO TO TH HALT ROUTINE

R0 IS NOTY Eouk 10 177825

006366 CO0!17 11?7

006370 (022701 0Se52c CHP 852525, %0' 1 ;1S THE RESULT 525267

moosg;: 801403 s BEG .+10

006376 004767 010036 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE

ROTL IS NOT EQUAL TO 52526 OR INCORREC™ SEGENCE

006402 000120 :

00e404 (021527 000210 cHP (RS), 8210 1S THE STESTN = 82107

00e410 091372 BNE 18 :IF NOT YHEN GO TO ALY RBCVE

00e4!2 00S2:S INC (RS)

s AN R A EE R R R E R R E AR A AR S 4 4 4

: TEST:211 125252 125252 SHIFTED BY (3) = 177525 52525 FS = 1T
lllll!!l!!l!!!!lll!llllll!li!!lllll*iliii{iiilll!lllil{l{{!i!l{ll{il

006414 010701 TST211: SCOPEL

00e416 012700 125252 MOV 8125252, %0 {LOAD RO WITH 125252

006422 012701 125252 MOV uzsasa #0'1  ;LO0AD RO'I WITH 126262

006426 000241 cLe

006430 073013 ASHC  (3),%0 :SHIFT RO,RO! L BY (3.

00E432 106737 000432 MFPS  38PSWORD : PS

006436 122737 000010 000432 CMPB  810,98PSWORD ;IS THE PS 10

006444 001402 BEG .+10

00446 004767 007766 ISR PC,SHLT :SEEN AN ERROR, GO TC_TH HALT ROUTINE
‘THE PS IS NOT EQUAL TO 13

DO6NS2 000121 121

006454 022700 177525 cHP 8177525, %0 :1S THE RESULT 177525"

0Ce460 001403 BEG .+10

006462 004767 007752 JSR PC,SHLT ;mon GO TO TH HALT ROUTINE
RO xs NOT EQUAL TO 177525

00646 000122 122

006470 022701 052525 CHP 52525, %0' 1 1S THE RESULT 52625°

006474 00403 BEG .+10

D0e47e 18:
00E47€ 004787 007736 ISR PC,SHLT ;SEEN AN ERROR, GO TO TW MALT RCLIINE
tROTL IS NOT EQUAL T 52525 R INCORRELT SEL.ENE
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DFKACA.SRC  18-NOV-75 00:00 ASHC INSTRUCTION TESTS
}22‘} 8’8%35 820?5; 000211 éraqg (RS), 8211 THE STESTN = 82117
gg ?&?15 88&375 : NE 15 ' :IF NOT 'fHEN 66 TG ALT RBOVE:
NG (RS)
*sss
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40
ASHC INSTRUCTION TESTS
s bbb tbiobtd bt f el bbb dabobaded Aokt kb ddfd bt

1 TEST:212 125252 125252 SHIFTED BY (3,4 = 177525 S252€ PS = .C
T L L e e e e

TST212:! gCOPEI

oV 8125252, %0 {LORD RC WITH_125252
pf\c' 8126253 70'1  ;LORD ROII WITH 128282
a_sgg 53;4 %0 susrrpgo JRO!1 BY (3;+
genga aiclnbawsuonn ?s §Hs PS 107
JSR PC,SHLY §: N AN ERROR, GC TO TH m BI.TINE
124 PS 1S NOT EQUAL 7O !
5: e mgsas %G :15 THE RESULT 177525”
JSR PC,SHLT %EN aN ;mon co T' ™ mu ROLTIE
125
CHP 85252¢, 40! 1 :1S TrE RESULT 52525
8 BEG .+10

’ ISR PC,SMLT :SEEN AN ERROR. GG TC TH dfT RCUTINE
126 :%Ex 1S NOT sm 16 5262€ OR INCoMEZ™ SEREN
CHe (RS, 8212 -1S *<E rzs'n 8c)2”
% ;gs : :1F NOT e GC ’ T A8CVE

S ESEEEEEER AN EAD RS EREGRARREARARRERAGERPERREEREA LM NSRS RERES

:TEST: 213 125252 128282 SMIFTED BY -.3: = 177528 5262 FS = [C

H l....ll"ll.llll"QllQQ“"'000!09!!.Hl.Ii..!’..“"..li'""“”i'

TST213: SCOPEL
MGV 8125252, %0 jLORD RO WITH 125252
ngc 8126262.%0!1  ;L0AD RO WITH 126252
A -i3),%0 :SHIFT RO,RC!L BY -2,
WPE  38PSUORG ‘2aVE PS
PR uu 99PSWORD  :1S THE PS 10°
TeR BC. an. .SEEN AN ERROR, GC 75 Tw H3_" RLU™IE
127 ;T PS 1S MOT'E Mol
ge"ﬁ ognes.v.c .15 THE RESWLT 177525"
ISR PC.EHLT G0 T2 Te MRLT RITINME
20 ns IS no§ EouAL 13 177525
P -segzs.'/.ce; :16 THE RESULT $2625°

s €S Lol

- 15R L, SHL” Noaly ESRIR, 30 T3 T mALT RSUTI
> e REET T RRLL < T
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e v ' Tew -

DFRACR.SRC  18-NCOv-TS £J:00 RSMC INSTRUCTION TESTS
l (RS EERAREREEAERENFEERNESERERANE RN RSB ERERESRESREAEERE0E4800000844
g :TEST: 214 1252652 126262 SHIFTED BY 2(4) = 177252 128262 PS = ..
i;al (RESERRREREEE RS REREREREAE AR PR AR SR I AR AR AR RN RS R AR SR RREAEARRSNOSES0049
! 714 812;86 TST214: SCOPE! .
i7 716 01 125252 MOV 8125252, %0 {LOAD RO WITH 12€25e
;;33; 006722 maroi 125252 oy 8126282,40'!  ;LOAD RO!I WITH 128282
7% %;% 4 000002 ASHC  2(4),%0 ;SHIFT RO,RO!1 BY 2.4,

1737 0067 106737 000432 MFPS 3 :SAVE PS

738 006740 122737 000011 000432 CMPB  811,39PSWORD ;IS THE PS 117

733 20674E 01403 8EQ .+10 )

2738 206753 204767 OC7ueM ISR PC,SHLT :SEEN AN ERROR, GO 7O _TH HALT RCLTIME
g :THE PS 15 NCT'EGUAL TO 1!

79 20e754 00C132 R 132 N

i3 Q2270C 17788z £ 8177252, %0 ;1S THE RESULT 1772527

iTed 206762 OCIMC BEQ .+10

745 ODE7E4 DO4767 20748 JSR PC,SHLT  SEEN A ERROR, GO 70 TH HA.” RCLTIE
e T ;R0 1S NOT EQUAL TO 177282

iTe7 00ETTT 000132 133

itug 00e772 022707 2szt2 CHP 8125252,%0!1 ;1S THE RESULT 1252527

2749 00877 OCI403 BEG .+1C

178 087000 18:

.78, 207000 0O4767 DO7434 ISR PC,SHLT ;%EN AN ERROR, GC TC Th HALT ROUTINE )
782 IROTL IS NOT EQUAL TO 125262 R INCTRRECT SELEn(E
(TE3 QL7004 000134 134

784 Q07006 021527 (003214 CHP (RS,, 8214 1S THE STESTN = 82147

.78c QCroI2 001372 BNE 18 :1F NOT YHEN GO TO HLT ABOVE

78 0C70i4 00S2iE INC (RS)

i

.75% ;HRESERRRRERAERERRERERAESFRRRFRFRRE R RIRHRRRARRR S HEARHHEHRERAR SRR 2E
tes s TEST: 215 126252 126262 SHIFTED BY 8(4: = 177526 52625 FS = 1C
;;E; JRARSRRERESRERAASRREFRARP SRR FERERRRRERFFL RN AL RN FRERERRR RS RS RE 224
o/ SE

I7E2 23721 019701 TST215: SCOPEI

:7es 2C732C 01272 125252 MOV ueggsz.zc jLORD RO WlTH 126252

t7€c 207554 Dig7Dl 125g82 MCV 8128362,70!1  :LORD RO'I WITH 1282%2

I7EE 0C703c DOg24. £Le

787 007532 073074 20900C ASHC  3(4),%0 :SHIFT RO,RC!L BY (4.

:7e€ 0C703t 108737 000432 MFPS  Q8PSWORC :SAVE PS

783 007042 122737 000CiG 00C432 CMPB  810,Q8PSWORD ;1S THE PS 10°

.77C OC705C 001402 BEG .+10 _ .
77, 007052 004767 007362 JSR PC.SHLT :SEEN AN ERROR, GC TC Tr HAL™ AL.TINE
772 :THE PS 15 NOT EQUAL TC 12

2773 00705 00013 138

.77+ 07060 022700 177%e€ CHP 8177525, 0 ;1S THE RESULT 177525°

2% %ccggﬂ 385;53 aC734¢ i3 éElgm' SEEN AN ERROR, G0 TO_TH HALT ROUTI
ar ’% K| . s ™ 1 N Y
777 i :R3 IS NCT EQUAL TO 177525

277 307072 20013t j3&

773 237079 Cggrl. se2sse cHP 852525, %21 :1S THE RESULT 52525°

728 Z7izp coiel BES Le12

O SR .8
27,08 LIe7%? LIT7EEE =t Fl.3m.” :SEEN AN ERRQ ac v TH o HR.T ROLTIMNE
210 IS NST

Ry 9¢ 7y TH ALY RoTiME ..
EJ~- 7-/ 5:5:: vp N ouNE Steot™ot

avoaann
[TS1ALT KR fa ]
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CChARse MASTYIL 30,1246 QN-AUG-TT  14:09 PRGE 43

SEeAlR.SRS 1B=NOV-7S 00:0C ASHC INSTRUCTION TESTS
- e 137 ?
I~% 53:';?':' 33?437 3052:6 fgp ‘RS, 821€ ;15 THE STESTN = sEic°
T8 IShild 201372 BNE 18 IF NCT YHEN G0 TO MUY ABCVE
2T -ile IEEE NG ‘RS,
158
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.°9C
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28

P 2P p cp spatapepopspa
EEtautatgt s
\lb‘taliu 3

-o e

.0 b o

(OO I IDIOIUD

P 2D ) 2P ad oh AP ap oy sh » - ap e .
TONINTUS <0 =0

[T BN )
)

STo Al QEVSTAVIIRN @ FV (1o i Rl [ 4 ol

ob oh ep o
(13
o

-

OO MOINIDLO N

NIRRT
(uq.u.l}\ut..uum
(UL S INTAY TR i 1Y + ]

)

.y
[SALECTINTANTERTUATA S TN A TANTA L)
ISR TN UT{ s I )

TR I )
O L ALY YY)

R
K]
o i

07153
007128
71

13%
007142

hi8e

488
‘2

"

27228
J7z2¢e
0g

L72eC
oC72e4
C7eee

2c727%¢

30.10
18-NCOV

)

Qu-AUG-77
0

ov-7% 00:0C

15768

012701
1

303
106737
122737
0C1403
004767

14C
70C
0C14C3
004767

125252
1252%2
000432
0000!:C
007262

17752¢
aC724%

0S2ses

125es2
12528

C0043¢
0003:C

oc7ee

0Co432

200432

FOH

14:09 PAGE 44

ASHC INSTRUCTION TESTS
CERRERREREEEARRERD RERRARESRRRERARRARASRAREERRRRARREAE SRR EIEEE94

; TEST:216 12,252 125282 SHIFTED BY 3(4)+ = 177525 S282€ PS = .C
I e e T e T R T e M L R I T T e e I e e I LY

TST216: SCOPE!
MOV

#125252, %0 {LOAD RO WITH_125252
283 8126252 %0'1  ;LORD ROVI WITH 125252
ASHC  @(4w)+, %0 :SHIFT RO,RO!L BY 37%,+
MFPS  asPSWORD :SAVE PS
ggza '1? J8PSWORD ;1S THE PS 107
JSR PC,SHLT -SEEN AN ERROR, GG TO TH HALT BCUTINE
140 ‘THE PS 1S NOT EQUAL TO 17
SEE .1?Esas.za .15 THE RESULT 1775257
JER  PC.SHLT .SEEN AN ERROR, GO TG TH HALT ROLTINE
141 :RC 1S NOT EQUAL TC 177825
CHP #52525,-30'1 : IS THE RESULT 526257
s 8ES .+10
] ISR PC.SHLT -SEEN AN ERROR 10 Th HALT ROULTINE

GO .
IROY1 IS NOT EQUAL TG 52525 OR INCIRRECT SELLENCE

142
cHe (RS, %21k 315 THE STESTN = #2.&?
?g% % : :IF NOT THEN GG TO HLT RBCVE

: FERERAREREREEFERERAAERRERERERREREA SRR R NSRS RS S R4 A4 HEER AR RAAARERAEE

:TEST:217 126252 126282 SHIFTED BY @-(M4, = 177525 52525 F< = [C
e T Ty T e e L

TST217: SCOPE]
eV 8125252, %0 {LOAD RO WITH_ 125252
EEY 8106055 7011  :.0AD ROVI WITH 128262
ASHC  @-(H:,%0 .SHIFT RO,RO': BY 3-.4°
MFPS  auePSWORD :SAVE PS
ggfa .19 JWPSWORC 1S THE PS 107
TR BCLSHLT .SEEN AN ERROR, GO T2 TH HALT RCUTINE
43 "THE PS 1S NOT EQUAL TC 12
ggg 1177525, ¢ :15 THE RESULT 177526"
u .+
JSR PC,HL™ .SEEN AN ERROR, GC TS TH HALT ROUTINE
a4 :R3 IS NOT EQUAL TC 177828
‘P #5252, 40! 5 .16 THE RESULT §252%"
s 8E3 .+i0
o IR PL,8H." .SEEN Ah ERROR, 30 "o TH maC” Ao INE

[* 1V} N
TROTS 15 NIT EOLAL To §333% oF INIIBRECT sEi EniE




14:09 PAGE 4§

Q4=-RUG-"T
ASHC INSTRUCTICN TESTS

SAREIE S %
18-Nv-78 JC: 20

82352 accs

‘RS),8217
18

GO4

:1F NCT ?H:




HO4

CFrmRSA MARIYLLD 30.01046) DN-AUG-TT  14:09 PRGE 46
SC.alm, 3RS 18-NJVv-78 00:20 MUL INSTRUCTION TESTS

.855 CRRERERRARRRRERESRRE SR EREREEI RS

.98 : MUL INSTRUCTION TESTS

;gg; (RERRRRREFFRRRRREREERARERSSESE4S

968

BE2

862

1888 CRRERRTRRRARERRESRRIRRRRRRREERRRI SRR RARS SRS AR RRRISS RIS 4458950444
8¢ TfS’ 220 MUL ]+ 80 =020 PS = 4

;S’Eg nuiuulnuuuuuuuuluuuuuuuﬂuﬂfﬂnnuuuunu
J8°C 287328 Z.I7C) vev220: SCOPE

870 207322 21270C 00200! MOV 81,40 sLORD MULTIPLICAND LI7H ©

.87z Qc7326 070027 00000C MJL %0, %0 ;HULTIPLY 1 + aC

:8r3 007332 106737 Q00M32 MFPS  38PSWORD ' SAVE PS

(824 7336 122737 000008 220432 CHPB 84, 8PSUCRC ;IS PS = §

:8:5 207344 001493 BEG .+10

87t DO734& 00M767 0C7066 JSR PC,SHLT <SEEN AN ERROR, GC YO TH wMA_T RC.TIE
,EZ. PS 1S WRONG

878 2 7352 00Cl4& 146

1&75 Q07354 0e2270C 000002 cMpP 00 VC ;1S HMIGH ORDER = J

.88° 23736C 001403 BEG

JBE. 007362 204787 QOC73ce JER ’HL~ <SEEN RN ERROR, G0 73 TH eAR.T ~2.71%
.88z HIGH ORDER IS WRONG

582 357355 5531 nocon b £, %011 1€ LOM ORDER

; . g 7v P : . "; O ; - L =

188 Q07374 OCIdD BEQ .+1o

.8ee 0C737¢ .3

18€7 007376 0Qs7e7 30703E JSR PC.SHLT SEEN AN ERRCK, &L TC "W B 7T R..TINE
.88 . :LOW JROER IS tnom. WRZNS SESLERCE
88¢ 00742z DCJ.sC 180

.B9C ;3243% 021827 DoT2=C cHP (RE}, 8220

: =§;4;; 302278 Bﬁz ; : sIF IN WRONG SEGJENCE 3C 72 “mE =7 a20.%

i PN sels Ny 14

LN EIV V)

] ‘l"\“ .
[}
(¢
[ ]
{
(
[§
[}
.

0 »
(OO
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Malvel 31246 J4-RUG-TT 14:09 PRGE 47

SN REL N <89-N0.-7E 20:2C MUL INSTRUCTION TESTS

*or e
a9 op o

W h D DD DD O LD L) D ‘i l;t.l.l

FOUINMRID <0 p <p =y

ab ap op-o

(NLITIRYSIVITT RN oI P AW TV I

LA KN BRY BRY 2T

: FRRRRRB R R R AR R R R R R R R AR RN R R R ARG RN RN R SRR AR RN EE RS EEE52200899848
tTEST: 221 MUL -l 88l =-] -] pE = I
: FRREHEE SRR EE G RN SRS NN NSNS EE SR EEE04REREA489R890094
oCT+14 215701 7ST221: SCOPE
3gryie 012700 177777 MOV s-1,%0 :Long MULTIPLICAND WITH -.
307422 3709227 90000 MUL 81,%0 sMULTIPLY =1 # 8]
n07+426 106737 050432 MFPS  J#PSWORD :SAVE PS
AN74 %argr 000910 2Co<2z CMPB  810,ad8PSWORD  :1S PS = 10
74is Foarer ooere ¥R aE‘%m SEEN AN ERROR, 50 70 TH wAT 1712
[o{ S w1/ I'4 . ; . s v W e ¢ S .":
:P§ 1S msm.
207446 000151 151
A874E0 022700 (77T CMP 8-1,%0 :1S HIGH ORDER = -:
307454 001403 BEG .+18 o
307488 004767 0OETSE ISR PC,SHLT :SEEN AN ERROR. GO 72 TH s~ SC_ '
:HIGH ORDER 1S WRONG
007462 090152 152
3074684 022721 1TTTTT CHP 8-1,%0!1 :1S LON ORDER = -1
33;3;3 A0 403 " BEQ .+10
A07472 DONTE? COBTHE ISR PC,SHLT :SEEN AN ERROR, GO TG Tri MALT RCLUTINE
:(0W CROER IS WRONG CR WRONG SEQUE.E
007478 000:S2 153
A67s5cC De.52? Crozz: Zup {RS.,822. A o
F7804 3037 SNE 18 :IF IN JRONG SEQUENCE 30 ~C “HE =" 2222
lors-te Jste V-1 NG ‘RE




e mdmems s mas e

JO4

ZEeRlA MRIYIL 30.1248) O4-AUG-77 14:09 PAGE 48
JE.RIL SR 18-NIV-75 00:0C MUL INSTRUCTION TESTS
N uiluiuinuunnuuuu"uinnluuuuuuuuuunuuun
133 i TEST: 222 MUL 2% #2:=04 PE = C
;gsg, l'lllilI'I'I"llllI'Il!illiiiillllli!!l!!lll!lillllli!liilfiiiififiﬂ»4444}
1998 00751C 019701 TST222: SCOPE
1929 007812 012702 0000Ce MOV a /a ;LOAD MULTIPLICAND WITH 2
133 00781 070227 000002 MUL MULTIPLY 2 # #2
193! 007522 106737 000432 MFPS asﬁsuono ;?w PS
1932 00 122737 00000C 000432 CMPB 0, 38PSWORD ;1S Ps =z 0
1833 00783 00103 BEG .+10
;333; 00753 004767 008676 ISR PC,SHLT %EE'{S“" ERROR, GO TO TH MALT RCLTIME
193 007542 000ISY 154
1937 (007544 022702 090000 cHe 80, %2 ;1S HIGH OROER = O
;938 007550 (0BI403 - BEQ +10
.93 DO7552 004767 O0BEGE JSR PC, suu ;SEEN AN ERROR, GO 7c TH HALT AOLTINE
1942 :HIGH ORDER IS WRON
TR B e B owen s oo -
1943 QC78E4 001402 Beo  .+lo
34 OC756E 18:
I34€ 00756E 004767 DOBEYE JSR PC,SHLT ;SEEN AN ERROR TG YH HALT ROUTINE
1G4E _ :LON ORDER 1S anon.. OR WRCNG SESLENCE
1947 1007572 900156 156
1948 DO7574 021527 QgCzz2 cHP (RS, 8222
13649 307800 3C1372 BNE 18 :IF IN KRONG SEGUENCE 30 “C THE W™ AEBC.E
1352 2C7e3Z ofgIis N ‘RS,




CEriRCh

SFKRCH.

1953
1322
1956
1957

S 2P 0=t PP abaradeps

EEFRTRRRARE

AFINSIE

P 4b oh chababspobabababababapebn
NN
"BomJot

DWW

(LN
NI

MACr1l 3C.1046)

SRC

7604
7608
7610

4
/|

007632
007634
007640

04-RUG-77

18-NOv-7S 00:00

UiggOI
19704
070437
122737

001403
004757

001000

Iv}
000001
00660C

000231
00eSe4

200aes
006550

000223

00243

14:09 PRGE 49

MUL INSTRUCTION TESTS

liillliil!l!!ii!lliliil!!!!!i!iii!!!!lliiiiifiiifﬁiiiii!fiiiiillllli
MUL 1000 # 8200 = 1 O PS =

i TEST:223

KO4Y

lill‘li!iii!!lﬂlli'l'liiillI'il"l!‘ll!!iil!{lllll!li!lliil!ll}liiliiiiififi

TST223: SCOPE
MOV

18:

Mov

NG

RS.R :SAVE RS
nzboo /4 :LORD MOL~I2LICAND WITH 102C
38 HHLTIPE\ 300 # 8200
aono
nl gcpsuono :1S PS =
PC SHLT :SCEN AN ERROR, GO TO TH HALT RCLTINE
'PS IS WRONG
011/4 ;1S HIGH OROER =
PC,SHLT SEEN AN ERROR, GO TC TH WALY RCLTI'E
HIGH ORDER IS’ WRONS
aal/u-x .15 LOW ORGER = 0
PC,SHLT sesn AN sanon 6o T0 TH unLr ROUTINE
1S an0ﬂc OR WRONG SEQUENCE

(R1), 823
18

Rl RE
‘RE.

CK THE TEST NUMBER
'ééc N uﬁonc SEQUENCE GC 77 THE HLT AEZ.E




B2 8 Re0s

HEE

TUITUG- =t b pepopapepoyp - p
ST

a

-

5ER

MACY1l 30.1046)
18-NOv-75 00:00

010701
012700
070027

Q4-RUG-77

000002
077777

30008t

006502

pogaae
00B46E

172776
00e4se

00Cc2z4

14:09 PRGE 50
MUL INSTRUCTION TESTS

§ AR R R R R R RR AR ERRRAR RS SRS RFERERSRES0 4
e % 877777 = 0 177776 PS = |
$ A R R RS R RS R AR AR SRS SR RREEESRRE S E95594

TST224: SCOPE
MOV

; TEST: 224

{RS), #8224
13

LOY

;LORD MULTIPLICANG WITH 2
JMULTIPLY 2 & 877777
;SAVE PS

S4PSWORD ;
lllgOPSHORD ;IS PS = 1

;SEEN AN ERROR, GO TO TH HALT ROLUTINE
;PS IS WRONG

;IS HIGH ORDER = O

;SEEN AN ERROR, GC 70 TH HALT ROUTI!
;HIGH ORDER IS WRONG

liié??&.ZOEI ;15 LOW ORDER = 17777¢

:SEEN AN ERROR, GO TO TH HALT ROUTINE
:LOW ORDER 1S WRONG OR WRONG SEQUEN'E

:IF IN WRONG SEQUENCE GC TC THE HLT ABIVE
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MRCY1] 3001046) O4-AUG-77 14:09 PRAGE Sl

.SRC  18-NOV-75 00:00 MUL INSTRUCTION TESTS
;if;l"ll"l'll!fﬁ!ﬁ;iﬁﬁ{5*5!;;;;!{}!:5!!!El;;;;a!il!llll;gli(élifilfi{i{
t 2 ] = =
I’EgliigillliI'!‘ll‘g%l’l‘}§§§i§§§§i§l§i§§§i§§§§§§il’l’l‘il‘l’ilifilfi‘liifiiiff
Sﬁ% 312783 007777 T5Te2s: 383” 87777 %2 :LORD MULTIPLICAND WITH 7777
010006 000010 :gL 810, %2 "Ulegng 2777 # 810
§§§§ lg§3§3 888538 ooouaz SEEB .8 §“8§Bono 178VBsP3
010026 004767 006406 ISR PC suu 535515 mﬁﬁ'&m' G0 TO TH HALT ROUTINE
0100 0165 165 !
gi%ﬁ %‘ggg 000000 ggg '01/2 :15 HIGH ORDER =
p T :SEEN AN ERROR, GO TO TH HALT ROUTIME
010042 004767 006372 JSR C, SHL -ﬁfiu RROR. 80 1
010046 000166 166
010050 022703 077770 CMP §77770, 72! 1 :1S LOW ORDER = 77770
8*%22 061403 s BEQ .+10
& :
010056 004767 356 JSR PC,SHLT :SEEN AN ERROR, GO TO TH MALT ROUTINE
b7 00835 Louonosnlsmonmssuwce
8;:“05%5 %?é‘a’; 000225 (1:% (RS), 8225
91970 001372 BNE 1§ :IF IN WRONG SEGUENCE GO 75 THE L™ ABCYE
Ai307z 0QEZIE INC (RS
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NO4

DFKACA MAC:11 30(1046) O04-RUG-77 14:09 PAGE S2
DFKRCA. SRC 18-NOV-7S 00:00 MUL INSTRUCTION TESTS

L P22 2222 2 % %% %% llilliiiii!iiiiiiiﬂrﬂr
g i JERRIANY i 1A e PG = |
20:'45 llll!lllllllll!lllllllllI»illl!!l!lllllllllli!l!lillliii!l&lii!{lilfl
179 ? TST226: SCOPE
BE pwr pEs S e e vt e
2048 010100 012708 077777 MOV 879777, 74 Lono MULTIPLICAND WITH 77777
2049 010104 070427 077777 nu% 877777 74 ngerpgv 27377 & 877777
sggo 18110 106737 000432 MFPS  J#PSWORD
1 010114 122737 000001 000432 CMPB a1, 8PSWORD 15 PS =
2052 010122 001402 BEQ .+10
5823 010124 004767 006310 TSR PC,SHLT .SEEN AN ERROR, GC TO TH HALT ROUTINE
4 :PS IS WRONG

2055 010130 000170 170
5339 oxoxgg 022704 037777 CMP 837777, %4 .15 HIGH ORDER = 37777

010136 001403 BEQ +10
2058 010180 00N767 008274 JSR PC,SHLT :SEEN AN ERROR, GO TO TH MALT ROUTINE
2059 ‘HIGH ORDER IS WRONG
2060 010144 000171 171
2061 010146 022705 00000l CMP 81,7411 - 15 LOW ORDER =
2062 010152 001403 BEQ .+10
2063 010154 18:
2064 010154 004767 006260 ISR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
2065 :LOW ORDER IS ﬁnouc OR WRONG SEQUENCE
2066 010160 000172 172
2067 010162 021127 000226 CMP (R1), 8226 ;CHECK THE TEST NUMBER
2068 010166 001372 BNE 18 :IF m ukouc SEQUENCE GC TO THE HLT ABCVE
2068 010170 010105 MOY R1,RS RESTORE
2070 (010172 Q052! INC (R%)
3971
3072
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BOS

WOvil 3001046 QN-AUG-7T  14:09 PAGE S3
Y <8-N3V-78 2C:0C MUL INSTRUCTION TESTS

Y N Y Y Y A I A T I I A I Y P Y
{TEST: 227 MUL -1 & 877777 = -1 10000} PS = 1L

: SRR R REREARREAAR R RN RREERARTRNBRERARERERERR AR RS2 2222250499

010174 015701 TST227: SCOPE

gxcm 8;27 177772 MOV -1 %2 :LORD MULTIPLICANG WITH -!

10202 070227 077777 MUL 877277 %2 SMULTIPLY -1 « #7777

010206 106737 000432 MFPS  J8PSWORD :SAVE PS

018212 122737 000CIC 000432 CMPB 810, 98PSWORD  :1S PS = 10

510220 001403 B8EG .+10

010322 O30N767 00B2!E JSR PC.SHLT :GEEN AN ERROR, GG TC TH HMALT ROLTINE
:PS IS WRONG

21C226 0200173 173

21680 022702 177777 CMP 8-1,%2 .15 HIGH ORDER = -1

218839 001403 BEG L+1

31033 004767 006176 ISR BC,SHLT :SEEN AN ERROR, GO TG TH mALT POLTINE
‘HIGH ORDER IS’ WRONG

J:0242 0007 174

JiCaws 229703 10090 ol 8100001, 72! .15 LOW ORDER = 1300C!:

g;ggsc 00{<02 s B8EQ .+i0 .

13585 23 DON?E” 006182 ISR PC,SHL” ;SEEN AN ERROR, GO TC Th HALT ROUTINE
:L0W ORDER 1S WRONG OR WRONG SEZUENE

21325 200178 178

Z.2260 02:827 o0gez? CHP ‘RS, , 8227

z+288r 3372 BNE 13, (IF N JRONG SEQUENCE 30 71 THE - ASIIE




CO5

SFrmom MROYLD 30010460 O4-AUG-7T  14:09 PAGE SM

b ¢

Py
..... —- o . o -
3gz 2Ctzls NG .RS.

SEaRIR.SRS 1B-NOV-TS 0C:00 MUL INSTRUCTION TESTS
2.2 ;Qlllllllllllllllllllllllllilll!lll!Iilll!lllil!!l!!lilllillltil’9900
333 s TEST: 230 MUL -2 4977777 2 -1 2 PS = 11
21:‘ ;lllllllllllllllllllllll!lllllllllillllllillllillllllllllllilOlitlfl9
.05
3% 10270 010701 TST230: SCOPE .

3:37 013872 Q1270C 177776 MOV #=-2,%0 ;LORD MULTIPLICAND WITH -2

3.8 010876 070027 (077777 MUL 077272, %0 sMULYIPLY -2 ¢ 8

2:29 010302 106737 09043 MFPS  S8PSWORD ;SAVE_PS

2172 Q10306 122737 000011 000432 CMPB  #11,90PSWORD ;IS PS = 11

21l 010314 00IMG3 BEQ .+10

£:.2 210316 004767 00BL!G ISR PC,SHLT :SEEN AN ERROR, GO TG TH WALT RCLTI'E
23 :PS 1S WRONG

Z1l4 210322 000176 176

ZIls Dig3M 022700 177777 cMP  s-1,%0 ;15 HIGH ORDER = -1

Zi18 2I1033C 00I4C3 BEQ .+1QH

2117 CIE332 004767 006102 JSR  PC,SHLT :SEEN AN ERROR, GO TC TH HALY ROCTINE
ESSE ;HIGH ORDER 1S’ WRONG

2113 01033 000177 177

z:20 CIC3¥0 022701 200602 cP 82,%0!1 :15 LOW ORDER = 2

.20 210344 OCIH03 B¢ .+lo

2:22 Q1036 18:

2123 DIS3e 004787 J0eDBE ISR PC.SHLT :SEEN AN ERRCR, GO TC TH HALT ROUTINE
2.34 :LOW ORDER IS URONG OR WRONG SEQUENCE
£:35 2.32%2 09%33c 200

Zi2& III364 R2ISEF nmeczac cHp ‘RS., 8230

2I3F IiTdgc XiiT: -y Y | :IF IN WRONG SEGUENCE GO 72 THE wi” AECE

® o8 ag * ¢
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DOS

Semw Ml cLL 32 124 D8-RLG-TT IM:09 PRGE SS
Tomlm 380 :8-Nv-"8 2C:2C MUL INSTRUCTION TESTS
P SRR PR R AR IR SRR NAR S RE RN RE R R G RN P NRNGNEREI805850805088009053534
S 1134 k] AU A W 1 gt
g;%: inlnuu"uuunuuuuuuiuuuuuuunuuuuuuuuuo
£.35 21034 310701 TST231: SCOPE -
:;% 012366 Q012702 125252 MOV 8125252, ».2 LOﬂD MULTIPLICANC w]Tm [2S2%z
Sk SIS laor oo M 3 “’%* ignase v
- '4
;;§ 318 13874 %}31' 0C+432 CHP S ePEUORD ?SVSS
2.9 210410 OCI4C3 BEQ .+10
2.9, Cl04le 0OC4767 008C22 JSR PC,SHLT ;SEEN AN ERROR, GC 7O Tr =h.” ROLTI'E
2.8 :PS IS WRONG
243 CI0416 Cl 201
Ziws CIM20 Q22702 177777 CHP 8-1,%2 ;IS HIGH ORDER = -
Zies i394 0OIN03 8EQ o108 ]
.+t 20426 004767 J0BCOE JSK PC,SHLTY :Sl—.EN AN ERROR, GO 72 TH Wh 7 SC_"IME
2.7 ;HIGH R IS WRONG
3148 210432 000202 202
S.4% 212434 022703 08252+ o 052324.'/-2!1 ;1S LOK ORDER = Sg2S24
§ig° gldwic DOl " BES  .4]
::. - - b * :
2.82 Q13w Q077 QOS7TVZ JSR PC.SHLY ;SEEN AN ERROR, G0 TG Tk HALT ROUTINE
.23 , :20W ORDER IS ﬂnom CR WRONG SEGENCE
SISw 2.0%4E £3 203
£.S€ QJ.248C 021827 2CDz2:z. e 'RS., 822!
si3g Zis-t- X:37 B 1 :IF IN WRCNG SEQUEMCE 30 "C THE W7 AECVE

)
wngeun
LU0 ]
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L2-New =78 ZC:2C MUL INSTRUCTION TESTS
(SRR RS R R R AP R AR R RN RIS RIS RRISS5I49595544
:TEST: 232 MUL 125252 # 840000 = 16S2S2 100C0C °c = ..

X 22IZTITITIZILILLLILILILZIZIZZLL 22222222 2242 !l‘llIlllllfillili!fii’fif’f’99

212463 81:?01 157232: SCOPE

5i0ue2 D15501 MOV S.R! :SAVE RS

20468 012704 125252 MOV ué‘asa %M :LOAD MULTIPLICANC WlTh 125252

1470 7047 04003C MUL woc:ao %4 IMULTIPLY 126262 » 42707

DIDN74 106737 D00N32 MFPS  J8PSWORD : SAVE s

210600 :22737 DOODI: 000N3z CMPB  8]11,98PSWORC ;IS PS =

812606 QCIME3 BEQ +10 . o

21521 A0NTET  a0sT2+ ISR PC,SHLT .SEEN AN ERRCR, GC T0 " WR_™ &L_71%E
‘PS IS WRONG

010514 000204 204 )

010616 022704 185252 CHp 8165252, 74 .15 HIGH ORDER = 1ES2tZ

2:7622 001403 BE s +10 .

210824 DON787 0057.C ISR PC.SHL" SEEN AN ERROR, GO TC TH =f™ RC_"IE
:MIGH ORDER 1S’ WRONG

01063C 100205 205

010632 022705 15060 CHP 81000CC,%+!'1 ;1S LOW ORCER = 100292

8{%% 001493 5 BEQ .+10

812645 204787 O0SE™ ISR PC,SHLT :SEEN At ERROR TG TH HALT RSUTIE
ouonoears{acmoamms S ENCE

210844 000226 206

AiBE4e 021.27 030023z dr ] {R1),8232 HECK THE TEST merﬁ

01268z 0r:i37z BNE 1 N ubom. SESLENCE 32 77 Tuf =_~ 4E0.C

Zi3EEq TieToe oy a;,%€ §£=‘

hat 1= Nlste 51 ™ie -
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SPamlin MRCYILD 30,1460 QM-RUG-77 14:09 PAGE 57

SCamlG.SR: .8-NOV-7S 00:0C MUL INSTRUCTION TESTS
4 . Q; H Yy Y22 Y22z Y2z R 222X R2 R 2222222222 2S8 82222222222 222222 22222 2]
3:93 ITEST:233 MUL 107070 # 8107070 = 31222 26100 I
g%ga : FRRRRRRBRRRERR AR RERRRERERRERRRERRRRRLERRRERRER L LR AR LG L2 REIESS
3:95 31&220 010701 157233: SCOPE
21% 01 012700 107070 MOV 8107070, %0 :LORD MULTIPLICAND WITH 107072
5197 1 070%; 107070 MUL 8l 7073 %0 ;HULTIP%Y 107070 ¢ 8107070

15 1 19_5 i kH MFPS  J¥PSWORD 'SAVE P
2l 10876 122737 [ 000432 CMPE 8!, 38PSWORD (1S Ps = 1
81mm 001403 8EG .+10
2] B10606 004?67 00SB26 ISR PC,SHLT SEEN AN ERROR, GO TO TH HALT RCLTIME
32 PS IS WRONG
2203 010612 000207 207
2208 010614 02270C 031222 CHP 831222, %0 .15 HIGH ORDER = 31222
Ssg ngss 1803 _ 8EQ .+10 _
i 767 00Selz ISR PC,SHLT :SEEN AN ERROR, GO 70 TH MALT POL™INE
2207 *HIGh DRDER 1S WRONG
2208 010626 1C 210
2229 01%30 ! 226:0° CHP 826100, 40!} .15 LOW ORDER = 261CC
g2:2 gieaaq 001403 s 8ES .+10
Z212 Cl063 004767 DOSS7E ISR PC,SHLT :SEEN AN GC 10 TH HALT RCLTC
2.3 :L0W onoesn?gﬂ URONG OR WRONG SESIENCE
S214 Cioew2 1! 211
22.5 Z2:DeW4 021827 002233 CHP RS, 8233
226 coJBSC 21372 gng 18~ :IF IN WRONG SEQUENCE 5 "2 THE =™ AECE
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11 30,129, O4-RUG-TT 14:09 PAGE S8
182NIv-78 00:0C MUL INSTRUCTION TESTS
!llllllll!lllllll!!i!!!!i!l!liili!!!!lii!lllll!ll!!lllli!llll!flfl91
ITEST: 234 MUL -1 %8 ==~ -1 PS = 10
ili!!llllll!llill!!l!!!!iiiiii!!!!!ll!l!l!llilll!lllliilfiiiififlif!
g4 010701 TST234: SCOPE
g6 012701 177777 MOV .-1,-/.1 Lono numpucm: WITH -2
070127 000001 MUL %1 xpgv -1 % 8l
66 106737 000432 MFPS auﬁsuono
72 122737 000CIC 0CC432 CMPB 810, 98PSWORD xs PS
of 001403 BEG +18 .
02 0ON767 005532 JSR PC SHLT <SEEN AN ERROR, GC TO TH HALT ROLTIE
e 00021z 22 :PS IS WRONG
10 023901 177777 S e-l%l .15 WIGH ORDER = -1
;2 38‘14;50; 00551¢ ?Eg ﬁElsm.r TC TH LT POLTINE
- . * . ] J-»o‘
chu o«m%ma R IS’ mo
22 000213 213
24 0e2?01 (T7TT cMP a-1,7%111 ;1S LOW ORDER = -:
% A01403 s BEQ .+10
32 008787 J0SEl: ) JSR PC,SHLTY sz:u AN ERROR 50 15 Th HALT RC
:C0W ORDER 15 LRONG DR WRCNG ss.u:-c,s
439 320%:" occe3 Eg ‘RS, , 8224
- - S : : J B
= Ei3ss C BN 1S .IF IN WRONG SEGUENCE 30 "2 TE =~ 720
¢ Z238z:¢ TN ‘RE,
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N o *é 29-ALa~7"  14:09 PAGE S8

z R elot el MUL INSTRUCTION TESTS
liill!!ill!!l!l!liil!l!l!!!!!!i99!!lilll!!li.lil!!!!l!ll!l!f’l!fﬂ.{
7:235 MUL -1+80=0C PS = 4
ill!i!!ill!!!!!l!li!!l!!!l!l!illl!i!llil!ll!lili!i!i!i!!!i!ll!!f!l..
212750 010701 T57235: SCOPE
g13788 Qle7dy Lrrrry MOV 8-1,%3 LOAD MULTIPLICRAG ulT4 -
210786 070327 000000 MUL 80,73 IPLY -1 & 80
010762 106737 000432 MFPS  98PSWORD §vs
81 27 000432 CMPE s goPSHORD S PS =
{8735 481N BEQ +] .
0:1077¢ 004767 005436 JSR PC,SHLY ggs?sm 5mon 20 TC TH HALT RCUTINE
011002 200215 215
011004 022703 000000 CHP 0, %3 :15 HIGH ORDER = 3
P1I2IC 00INO3 BEQ . +10 el
3:1012 767 005422 ISR PC,SHLT -SEEN AN ERROR, GC 70 TH T FLLTI'E
:HIGH ORDER 1S WRONG
01:0:& 000216 216
31133C 022703 1£0Co3C CHP 80,%3!! ;15 LOW ORDER = C
g;;ggg 0C1403 s BES .+
ATIA5€ 0oNTE? 0OSH3E ISR PC,SHLT :SEEN AN ERROR, GC 15 Tri HALT ROUTINE
:0M ORDER IS tnom % WRONG SEXEN-E
C::032 090217 217
21133 peissr 0ooe3s CHP ‘RE.,823% i . o
SiTE5c 2Ci3Te SNE 18 1€ I WRONG SEGUENCE 30 "2 THE #2” AELVE
SiiZaE 33gs:c ING 'RE,
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L1046)  ON-AUG-77 14:09 PRGE 60

Nov-7S 00:00 MUL INSTRUCTION TESTS
nuiuul:!uluuuuuuuuuuuunuunnuuuuuuuouu
TEST:236 MUL 77777 % 8100000 = 100000 100002 S = L.

l!!l‘l!ll!llill‘l!llI'lll"Il'illl'l!i!llilllliiil!illfillfiflilfiiillifﬁf’

016701 T5T236: SCOPE
010S01 MOV RS,R1 :SAVE RS
812705 077777 :ov :?757 '/.55 ,Longlp L ;7 _L,;gm:c.usaga 77777
106737 m%s aogguggb 5255 Pg
122737 0000!1 030432 CMPE 11 d8PSWORC  :IS PS =
001403 8EQ .+10
AC4767 C0S2MC ISR PC,SHLT :SEEN AN mon. 40 70 TM o MA_T BI_TTE
000220 220 :PS 1S WRONG
% 13007C 3& P niggooc.v.s ;1S HIGH ORDER = 12322C
7] o
004767 005324 JSR PO, SHLT sesn AN ERROR, 50 TC TH ™ GCTI'E
:HIGH ORDER IS WRONS

200221 221
022705 102000 imp 810000C, “8!! ;1S LOW ORCER = 10009C
001403 . BE2 .+10
204787 2053.2 JSR PC.SHLY EN RROR, 50 TC TH HALT ROLTC*

- Egu onocs {amc SR WRONG SEQCENCE
nnGzRs 222
221137 0I0Z3k d RI.,823¢ HECK THE TEST '3e£= L
AGi372 BNE 18 :2F N .é:m.. SEZENCE 2o To Te£ =T A2I.F
2az2cS Wy qé‘ps RESTORE
o=zl e =
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SFrACA MASYI! 30,1046 D4-AUG-7T  14:09 PAGE 6l

AP AT ST N MUL INSTRUCTION TESTS
31:3 I'I'llliiiliiiiliiliiilllllilI'I'llI'll'llI'II'I'lillllillll!illilll!lillfl’f
23:3 S TEST: 237 MUL -1 & #77/77 = 100001 100GC] PE = .2
g.ad,:é ll!l!i!l!ll*lllliiI'I'llll{llllllillllllllll!!llll!!lf!!l!l!!l’!l’f’!!
2313 g1liv4 910701 157237: SCOPE
23 i 3% y7777 MOV o-1,%1 ;L.0RD MULTIPLICAND WITH -:
gais ci}zsa clwo;a; 7777 UL 57;253 %1 HULTIELY -1 ¢ 877777

1l '

18 Bliigs 1%7% BB0T5 ocouae CMPB 810 aopguono ?svss 10
23ie D11i70 001403 BEG 410 .
£2:9 0i1172 004767 00S242 R BC,SHLT ggsn A_ERROR, GO T TH WALT RC.7T"
3389
2321 211176 000223 223
g3ge (Qileod Zee7cl 100001 CMP  #100001,%1 ;15 HIGH ORDER = 100CC:
393 011204 0OI403 BEQ +10 .
3234 011206 004767 00S22¢ JSR  PC,SHLT sss N AN ERROR, GO TG TH HALT FCLTI
2328 HIGH ORDER 1S’ WRONG
2336 011212 00g2RY 224
3387 011214 022791 1000C: CMP  #100001,7%1'1 ;xs LOM ORDER = 1000CI
2398 011320 0CI4C3 BEQ .+10
2329 011328 18:
2330 011232 oowre? oos212 JSR PC,SHLT :SEEN AN ERROR, GO T5 TH HALT ROUTINE
223! ;.OW ORDER IS LRONG OR WRCNG SESUENCE
3332 321226 QO02ES 225
2333 DI123F 021527 000237 cHP (RS}, 8237 i
2333 0i1234 ngi3%e BNE 15 ;IF IN WRCNG SEGUENCE 35 70 THE LT AECE
223t 21i33e 20EZ1E INC (RS,
Z9%
2357
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14:09 PAGE 62
MUL INSTRUCTION TESTS

iliillllilllllillllilllll!!l!l!!!!iii!!iil{iliilliililllififiiiifif;

KOS

MUL 77777 % 877777 = 1 | PS =

lliillllliilllilllli!lililillilllilillllillil!lllllilllllfllllfififi

TS7T240: SCOPE
MOV

77777,%3 :LOAD MULTIPLICAND WITH 77777

$77777'%3 MULTIPLY 77777 & #77777

S9PSUORD i SAVE_PS

ulanpsucao ‘TS Ps = |

+

PC,SHLT .SEEN AN ERROR, GO TO TH HALT RCUTIME
:PS 1S WRONG

'1133 .15 HIGH ORDER =

.+

PC,SHLT :SEEN AN ERROR, GO TC TH MALT ROUTINE
"HIGH ORDER 1S WRONG

311/3- .15 LOW ORDER =

+

PC,SHLT :SEEN AN ERROR T0 TH HALT ROLTINE
:[OW ORDER IS inonc OR WRONG SESUENCE

(RS, #24C

;35‘ - IF IN WRONG SEGUENCE GC ~C THE L™ QBCVE




LOS

DFKACA MARCYI! 30:1046) 04-AUG-77 14:09 PRGE 63

OFKACA.SRC  1B8-NOV-75 00:00 MUL INSTRUCTION TESTS
2367 I'ill"ll'l'l'l"l!!!!ii!!!!i!!i!!iilii!lli!i!iii!iiliiii'ﬂiiiiiiii&iiffiffi
2368 :TEST: 241 MUL 2% 82 =4 Y4 PS = O
gggg l{l!!!illI'!lll'!!!!!!i!!!!!!i!ll!!!ilﬂl!l!illlii!{ililifiiiiifififlf4i
3371 011334 010701 TST241: SCOPE
2372 01133 010501 MOV RS, R} ;SAVE RS
2373 011340 012705 000002 MOV 82, %5 :LORD MULTIPLICAND WITH 2
2374 011344 070527 000002 MUL 82, %5 numpu 2% 82
2375 011350 106737 000432 MFPS  @8PSWORD :SAVE PS
2376 011354 122737 00000C 000432 CMPB 80, 38PSWORD ;1S PS5 = 0
2377 011362 001403 BEQ .+10
2378 011364 004767 005050 ISR PC,SHLT :SEEN AN ERRCR, GG TO TH HALT RCLTIMNE
2379 :PS 1S WRONG
2380 011370 000231 231
2381 011372 022705 000004 CMP 84, %5 ;1S HIGH ORDER = 4
2382 011376 001403 BEG .+10
2383 011400 OON767 00SO34 ISR PC,SHLT :SEEN AN ERROR, GO TG TH HALT RCUTINE
2384 'HIGH ORDER IS'WRONG
2385 Q11404 000232 232
2386 011406 022705 000004 CHP 84,4501 :1S LOW ORDER = 4
2387 O0ll412 001403 BEQ .+{o
2368 011414 18:

2389 Ol11414 004787 005020 JSR PC,SHLT -SEEN AN smoa GO TO TH HALT ROUTINE
2390 :LOW ORDER 1 ﬂnom OR WRONG SEQUENCE
2391 011420 000233 233

2292 211432 021127 03C241 CMP (R}, 8241 -CHECK THE TEST NUMBER

2393 J1l42€ 001372 BNE 18 :IF IN WRONG SEQUENCE GC *2 THE .7 AEZVE
2399 2i:43% 2ICIOS MOY R1,RS ‘PESTORE RE

34 I11432 0lg2iE INC ‘RS’




MO5

CFW¥ACA MACYLL 3001046) O4-RAUG-77 14:09 PAGE &Y

Orefch.SRC  18-NOV-75 00:00 MUL INSTRUCTION TESTS
2398 S11434 012702 040000 MOV 40000, %2
3399 AI1480 012703 000464 MOV 8SS, %3’
g:g? 011449 012704 000Y6E MOV 856 %4
- L
2492 l!illl*lii!lllllllliilllilllilllillllllﬂlllll!iflliiliiiilililillill!
2403 :TEST: 242 MUL 125252 # S5 = 165252 100000 PS = 1!
ngg illll’illlllllll{illliilillliil'l'I"l'llllllllillil!!!llllii!iillllil{i!i
¥
S0 Oll4es 13700 125252 ToTeta: SeuTE 25252, 70 .LOAD MULTIPLICANG WITH 125252
59 3114?5 0;5069 167002 MUL 70 MULTIPLY 125252 # SS
2409 0li46e 106737 000432 MEPS acésuono :SAVE PS
2410 011466 122737 000011 1000432 CMPE 11 d8PSWORC  :IS PS = 11
2411 OI1479 0OI403 BEQ L 4]
£412 011476 004767 004736 ISR PC,SHLT -SEEN AN ERROR, GO TO TH HALT RCUTINE
2413 :PS 1S WRONG
3414 011502 234
2415 011508 022700 165252 ChHP 165252, %0 . 1S HIGH ORDER = 165252
2416 011510 001433 BEQ .+10
2417 011512 004767 OO47az ISR PC,SHLT :SEEN AN snnon GO TO TH HRLT RCUTINE
2418 ‘HIGH ORDER IS’ WRONG
2419 011516 000235 235
2429 011520 022701 100000 CMP #100000,40!1 ;1S LOW ORDER = 100000
2421 0ilS29 001403 BEQ .+10
2422 011526 18:
2423 011526 004767 004706 ISR PC.SHLT -SEEN AN ERROR, GO TO TH HALT RGUTINE
2424 :LOM ORDER IS ﬁnouc OR WRONG SEGUENCE
2425 011532 236 .
242t D11S534 021827 O50C2uE CHP (RS), 8242 o
2427 ZiiB%c 20137 BNE 13 JIF IN WMRONG SEQUENCE G0 7T THE L™ REC.E

2428 ZIIE4Z £3g3:s IN. (RS




NOS

OFKACA MARCYL1 3011046} 04-RUG-77 14:09 PRGE 65

DFKACR.SRC  18-NOV-7S 00:00 MUL INSTRUCTION TESTS
S:aé l,lg,léﬂ!llllillﬁutlliili géggiiisggiiltggagél aa iillilliiliiiitlti
5‘433.3 lllll!ll!lllli!lilﬂlill!l}lrlr!!!!l»!l»!li!!!lliliililiiillllliiiliiiiitl
)
2435 011;4« 010701 TST243: SCOPE
243% Q1154 012700 125252 MOV 8125252, %0 ;LOAD MULTIPLICAND WITH 125252
2 dus hen WL g sRD, O mpTises
2433 811?23 133737 011 000432 CHP 811 98PSWORD ?s 55 11
2440 011570 0OIN03 BEQ .+10
344] 011572 00N767 004642 JSR PC,SHLT -SEEN AN ERROR, GO TG TH HALT ROUTINE
3442 'PS IS WRONG
2443 011576 000237 237
2444 011600 022700 165252 CMP cxasesa %0 : 15 HIGH ORDER = 165252
2445 011604 001403 BEQ +10
2446 011606 004767 004626 JSR PC,SHLT :SEEN AN ERROR, GO TG TH HALT ROUTINE
2447 HIGH ORDER 1S5’ WRONG
2448 011612 000240 240
2449 011614 022701 100000 cHP 100000, %0! 1 .15 LOK ORDER = 100000
2450 011620 0GI403 BEG .+10
2451 011622 18:
2452 011622 004767 0O4Ei2 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROLTINE
2453 :LOW ORDER IS WRONG OR WRONG SEQUENCE
2454 011626 009241 241
2455 011630 021527 000243 cMP (RS), #4243
2456 011624 00:372 BNE 18 :IF IN WRONG SEQUENCE GG TO THE HLT ABGVE
5322 011636 00SZ!5 ING (RS)
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MACY 1D 30.1246) OM-RUG-TT  14:09 pa% 66
sRZ CT18INEV-78 oC:0C MUL INSTRUCTION TESTS
R R R R R R R R E IR R A AR R R R RN R R R RGN AR RS RR AR R RN R ERESEENGES00S
FTEST: 244 MUL 126262 # 9855 = 165252 100000 ec = ;.
llllll!lllllllllllllllllllllllllll!llll!llllllllllllllIf!ilifii!!00!
0.1640 31070} TST244: SCOPE
Oilev2 D12700 125252 Y $125252, %0 :LOAD MULTIPLICAND WITH 125252
N11e46 070037 000964 MUL 9855, %0 IMULTIPLY 126252 ¢ 985S
011652 106737 0OCOM32 NFPS  @8PSUORD :SAVE PS
011656 122737 0OO0II 000432 CMPB  81].98PSWORD  :IS PS =
211664 201403 860 +10
RUiERE DON?E? 0OWSHE ISR PC,SHLT ;?smmmoa GC TC TH HALT ROLTIE
2:1672 00042 242
g;igw oaﬁoc 165252 ;gz ml,gasa ,%0 ;xs HIGH ORDER = 185252
5;:793 %m, 304832 ISR PC,SHLY :SEEN AN ERROR, GO TC TH HA_” RCL™IE
‘HIGH ORDER 15 WRONG
gmos %azqa 243
1i71C 322701 10000C CHP 8100000.%0'1 ;IS LOW ORDER = 100000
855%2 00 1<03 s BEQ .+10
011716 DO4PE7 DONELE ISR PC,SHLT :SEEN AN _ERROR Th HALT ROLTINE
:LOW ORDER IS beonc. Jn WRONG SEGUENCE
C.1722 00024 244
AII7249 021827 00024+ Cup (RS ., 8244
STivc 3637z BNE 18 :3F IN WRCNG SEGUEMCE 50 "2 “HE W ™ A8L/
2iie3g 3IEE: INC ‘RS,
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SEGACA.SRS 18-NIv-7S 0C:CC MUL INSTRUCTION TESTS
Hgg l'llliillllii‘llililllllllilllilllllil!l!li!ililiil!i!i!!iiiiiiilfiii!
3432 :TEST: 245 MUL 125252 # 72 = 165252 100000 PE = i.
swgé uuuuuuuuluuuunluuuuuuuuuuuuunuuuuuu
3
3493 011734 010701 TST245: SCOPE
2vay B1i73% 012700 125252 MOV 8126252, %0 ;LOAC MULTIPLICAND WITk 125252
5% HiRE U oo M b R ISSE
NE RS 1N 88853 cocuaz cHP 811, J8PSWORD ?s”Ss 11
3498 011756 Q0I4C3 BEG .+10
2499 011760 DON767 OONMSH ISR PC,SHLT :SEEN AN ERROR, GC TO TH HALT ROUTI'E
3¢ iPS IS WRONG
250 011764 000245 245
2502 Dl117ek 022700 165252 £ 1165252, %0 ;1S HIGH ORDER = 165252
2823 J1i77¢ 001403 BEQ +10 _
&N 21774 004767  0OueuC JSR  PC,SHLT sssn i ERROR, GO 10 TH HALT FLUTINE
e RIGH ORDER 15'WRONG
250t 012000 24
26>° Q12082 22270f 1003CC CHp #100000,%0!1 ;xs O ORDER = 10000C
2538 012006 061403 BEQ . +1(
2539 Gl20iS .8
25.2 D120IC 0ON47ET 00424 ISk PC,SHLT sSEEN AN ERROR, GO TC Tri HALT RC.7I
E38 '00M ORDER 1S WRONG R WRONG SESLENCE
3812 2:20:4 0Qc24T 247
€13 ZiZlle 02182 oCoz-S cHP ‘RE., 8245
g3.7 z.iz82 i e 1S :IF IN WRCNG SEGUENCE 50 "2 "E =7 AElE

[T

nyune
Y}
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R “T13583V-75 o820 MUL INSTRUCTION TESTS
..Ql.I'.l!l"ll..iillll'l..lill...llll...l’l..l.ll.l’l.l’....ill””’
L TEST: 246 MUL 126252 # (3,+ = 165252 100000 BS = &5
.'lillllli'lllllilllllll.'l‘lll.l.llllll.lllll'll"ll”.".....l’9999

1 1070 T5T246: SCOPE

§x% §%§§a 125252 ROV s12ses, SLORD MULTIPLICANC UITH ;2525

i 0 7‘ 3 432 :}:"5 3)¢ %0’ HULTIPLY 126252 ¢ (3.«

3isgs 1877 i1 000432 e T AT YSVSS

012050 361403 BEG +10

012082 804767 004362 TSR PC.EWLT .SEEN AN ERRCR, GO T5 TH HALT RCL"T6

'BE 15 WRONG

112056 250

15060 G2 165262 E%  8165252,%0 .1S HIGH OPDER = 1£5252

5858 IO s S .SEEN AN ERROF, GG 70 TH MALT BL_"InE

01;372 00025 251 iHIGH OROER 15" WRONG o

1

A180 721 10000C CME  8100000.%0!'1 ;1S LOW ORDER = 100000

g}_'% 1403 5 BEQ .+1C

b:. - :

015:38 oou7er Qo433 JSR PC,SHLT .SEEN AN ERROR, GO TG Th MRLT ROUTINE

¢ N ROEE Lo LRORG R LRG SESTEAE

2i21%6 0QJ2S3 T

2:2.7% 231835 aotok S%® ‘RS, .s24t

LE X ey .IF IN WRONG SESUENCE 30 "2 THE =~ RECE
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-----

-~
5! 15-NZ.-TT 0TIl MUL INSTRUCTION TESTS
ll’liilll!lliliillllllillllillllillllflilllliiiiiiliiii’lilll’fi0900
L TEST: 247 MUL 125252 # -.3. = 165252 10000C £S = ..
9Dl!}llllllllllllllll!llll!!!lll!l’lllii!ll!ll!ll’iii’iilliliiiﬂfﬂ
812:25 51C701 TST247: SCOPE )
312:22 J:2700 12%2%2 MOV uasesa %0 :LORC MULTIPLICANC WITH 126282
S1gi26 070043 MUL %0 ‘MULTIPLY 126262 -3
512:§ 106737 000432 MFPS aapsaono :SAVE PS
S12i39 122737 000011 20o<3z CMPB 81l 98PSWORC  :IS Pe = 1!
S1219z 01403 BEG +108
813149 2047ET  COM2TC ISR PC,SHLT :SEEN AN ERRCR, %0 7. ~# Wa_” &L_"1%
:PS IS WACNG
S.21582 0300253 ) 253 )
212182 022700 185252 THP $165252, %0 :1S HIGH ORDER = 165262
£:2:85 00:403 BEG +13
512180 D067 00425 ISR PC, SHLT szsn AN ERROR, GO "7 "M =T S0_"1'<
HICH DROER 15 WRONG™
N12164 002264 254
Si218e 022731 10000C tup 810000C.%001 ;IS LCW ORDER = 123027
;;g;;; AC: <03 ‘ BE? 4.0
wsla 1%
S12I79  DONTET  oOMzes ISR PC.SHLT :EEh Ah ERROR, G0 TS Th MRLT BCTINE
224 ORDER TS LRONG R RCNe SEENE
2:220C o0cass 255
S12272 238:32% oozeWT IMp RS , 8247
Zizzte iz SNE i sIF TN WFONG SEGUENVCE 30 T TeE w.T sEIE
= L 4=
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cChmow, SRC 18-NV-7E O0:0C MUL INSTRUCTION TESTS
gSTS (R FRRRERE R RN RES RN E AR R R RN AR RS AR AR RS IRRESS 000008009944
S~ TEST 250 MUL 125282 # 2(4; = 165252 10000C ES = |
gg:g luluuuuuunuuuuuuuuuuluuuuuuunuouuuun
I'd
12212 107 TST2S0: SCOPE
ﬁ 81551'4 812786 125252 Hgv 8125252, %0 :LORD MULTIPLICAND WITH 12S2Sz
2582 (012220 070064 000002 MUL ?('4) %0 HULTIPLY 125282 # 2(4.
ﬁ 81 1067 888332 MFP g S
| 122737 11 000432 oMp 811 BOP WORD S S =
2685 (01223 001403 8EQ +14
% 012240 008767 004174 JSR PC SHLT ;EEEN SRROR GO TO TH HALT RCUTINE
2588 (122w 256
2589 012246 % 16525¢ CMP s165252,70 ;IS HIGH ORDER = 1652%¢2
2690 glggé %&40; BEG +10 . ...
29! 1 ] 767 004:6C JSK PC SHLT :SEEN AN ERROR, GO TC TH MALT mCLT?
259% HIGH ORDER IS ERONG
2692 017_-!260 000257 257
25 Qlcebe 022701 100300C P 8100000, %0!1 ;IS LOW ORDER = 100000
299 012266 001403 BES .+10
25% 012272 18:
26897 01227C 0ON767 0O0M:v4 JER PC.SHLY ;SEEN AN ERROR, GO 70 T HALT RCLTINE
6% :L0M ORDER IS URONG 0f WRONG SEQUENE
2698 QJlea™y ! 260
§S§§ §2§E7S 021527 000252 cHp (RS, 825C
ey i X.72 g 13 :IF N WRONG SEQUENCE 5C C THE =7 agC.E
: -: -.:«-‘ -3:... - '\ ;
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MUL INSTRUCTION TESTS

;AR R R R R AR AR R AR R R R R R ARG AR ARAAI RS S S ARG A AR A AR5 44

GOB

tTEST: 251 125252 # A(4) = 165252 100000 PC = 11
: RS RNRBRERRRERERDRRRRRERR R ERRRRRERRERERRERERRARRR RN LA RREERES555S

SCOPE

MOV 8125252, %0 :LORD MULTIPLICANC WITH 1262tz

MUL ‘MULTIPLY 125252 # 3(4,

MFPS :SAVE PS

ggze axxbaopsuonn :Is Ps = 11

ISR :SEEN AN ERRCR, GC T TH HALT PL_I%E

26 :PS 1S WRONG

322 .i?gasa.zo :1S HIGH ORDER = 1£52S2

ISR :SEEN AN ERROR, GO TC TH WeiT Fo_TIME

22 :HIGH ORDER IS WRONG

cHp $100000,%0':  :IS LOW ORDER = 130000

BES .+i0

ISR :SEEN AN ERROR, GO TG Th HALT ROLUTINE

23 : 0l ORDER 1S WRONG DR WRONG SESUEMCE

CHP 3

gzg - :IF IN WRCNG SESUENCE 30 72 ~WE =_” A0S
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JSRZ  18-NI,-75 20:0C MUL INSTRUCTION TESTS
: BE AR R R R R R R R R AR R R AR AR AR SRR R RN R R AR SRR A E R RN AR RN AR AR AR EES 404494494
:TEST: 252 MUL 125262 # 9(4)+ = 1pS252 100000 Pz = .:
: Y22 2 2222222222222 222322 222822222 XTI ISR
1 107 TS7252: SCOPE
81?85 3127 125252 MOV 8125252, %0 :LOAD MULTIPLICANG WITH 125252
A — M e Y s
815‘:1 132733 888011 000432 CHP $l1 aopguono E?s Bs =11
812924 D0IN03 BEQ .+10
112426 004767 004006 JSR PC,SHLT :SEEN AN ERROR, GO TG TH MALT ROLTIE
:PS 1S WRONG
512432 DD026Y 264
gi2v3N 022700 185252 CHP 165252, %0 ;1S HIGH ORDER = 185282
0:2440 001403 BEQ .+10 _
Jid442 004767 003772 ISR PC,SHLT :SEEN AN ERROR, GO 1O TH HALT RO I"E
:HIGH ORDER 1S WRONG
01244& D0026S 265
012480 1222701 10000 cNp $100000.%0'1  :1S LOW ORDER = 100000
g%awsw 0C1403 s BEG .+10
rnamsa“E 004767 D00375E ISR PC,SHLT :SEEN AN ERROR, G0 TG TH HALT ROUTING
(04 ORDER 1S WRONG 0N WRONG SESUENCE
012462 000266 266 _
0i2464 (021527 000252 CMP (RS}, 8252
219475 3C1372 BNE 18 :IF IN WRONG SEQUENCE GC " THE HLT AECVE
213472 395218 INC 'RE,
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TErACH. SRS 18-NJV-TS 00:00 MUL INSTRUCTION TESTS
95;_: llililillillllllillillliili!!INI!'INIl!lINIlllliilllliliiilliififif{fifi
36& 1TEST:253 MUL 125252 # a-(4) = 165252 100000 PS = 1.
sggs lilliiliililillllililllillllillii!illi!liliiililillililiifiifiififif
3667 012974 010701 757253: SCOPE

gxggg 125252 MOV uasasa %0 :LCAD MULTIPLICANG WITH 1282E2

1 4 MUL 3- (1) 7b ‘MULTIPLY 125252 # 3-(4.
267C 0126804 106737 000432 MFPS aopsubno s SAVE ps
2671 012810 122737 00OOI1 0CO432 CMPB  sll1.98PSWORD ;IS PS =
267 012616 001803 BEQ +10
k"3 012820 004767 003714 JSR pc SHLT SEEN AN ERRGR, GO TO TH HALT RC_TIE
287 PS IS WRONG
367 0i2S24 000267 287
€7t 012838 022700 165252 cHP nssesa %0 :1S HIGH ORDER = 165252
3677 212832 001403 BEQ +10
378 012834 Q04767 0037CC ISR PC,SHLT :SEEN AN ERROR, GO TC TH HALT BC_TIME
€75 ‘HIGH ORDER 1S WRONG
2687 012540 000270 270
3687 012842 022701 100000 CHP $100000.%0!1 ;IS LOW ORDER = 1000CC
2662 012646 0CI402 BES .+10
3683 (12858 18:
3684 01268C Q0O4767  D03EY ISR PC,HLT SEEN AN ERROR, GO TC TH HALT FOUTINE
2685 'C0W ORDER IS LRONG OR WRONG SEJUEN.
3686 £12854 ?: 271
2687 :385p 021527 00C2S3 cHp {RE), 8253 A
3gege ZI3822 35C137: BNE 1: :IF IN WRONG SECUENCE 50 "5 THE L™ RE2.E
3ges Ii3gz. DNEZiE INC
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Fumlm. S58C 18-NCv-75 0C:0C DIv INSTRUCTION TESTS

PHREERREREEERERSRRIREREIRI SRS RS
CIv INSTRUCTION TESTS
ll}!!lllllllliilllli!llliliiilf

e
P

i
SRR

9§§llllilllillll§lfllll!!lﬂl'§l'l'I@!I!i!ll’!lf!!“!i!!9!959*9900999’949

o

35
2698 : TEST: 254 DIV 04/ 82=2 REM = § PS = ¢
g;s: lliiiiiiiliiliilill{illii!lli!llilliiiiil!iiii!liflfii!f!flf!lf’iiif
-t :l
2732 012S8s 010731 TST254: SCOPE
3733 212870 912707 0000CC MOV 80, %0 :LOAD chu ORDER um 2
2?4 012674 2312701 000COH4 MOV w /o+1 :LORD LOW onosp WiT
2735 01260C 071027 (000002 BIv :DIVIDE BY #2
2% Cleedd 108737 000432 MFPS a:#suono :SAVE PS
2708 Gl2e!7 :22737 00002C 200432 cMP3 80 gopsuonn ;15 PS = 0
3709 (Cl26l6 09:403 BEQ
27.2 018620 004767 90036i4 ISR PC SHLT :SEEN AN ERROR, GG T0 TH mf.” KLU
2711 :PS 1S WRONG
g;g 012624 000272 272
2714 0l2e26 022790 000CCE cHP 82,40 15 QUOTIENT = 2
18 81 Bier oomeao TR éElgHu GG TG TH WALT RSLTI
=/ ’ Ve &
3717 S‘Sm:m IS WRONG
g;}g 012840 000273 273
272C Ql2e42 028731 000200 CMP 80, 704} :1S REMAINDER =
2721 01264 051493 BEG +1
3722 012650 O00M7E7 J03%E- TSR C SHLT <SEEN AN ERROR, G5 T Ts LT RILTINE
2733 :WRONG REMAINDER
£724 212654 000274 274
272€ D196Se 021527 2002%H CMP {RS), 8254
275t C.fbkz 0C1403 8Es .+10 ;IF_IN WRONG SEQUENCE S0 75 THE A7
3757 ZIZEed D047E? 003CEC ISR PC,SHLT 'SEEN AN ERROR, GC 10 TH M’ RSLTINE
z7ze :TEST 1S IN WRING SEGUENCE
2723 iEB7- 2T grs -
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OFRACA.SRC  18-NCV-75 00:00 DIV INSTRUCTION TESTS
S; ;lllllllllllllllllllllllllllllllilllll!llll!lillllll!ilillllliill!ﬂ»f
‘ : : 285 plv -1 -9. 7/ 843 = - REM = 0 €=1iC
2; ;lilll!illl!!llli!lllllil!lllllllllllllllll!llll!llllillillilflliioff
§7§ 012674 010701 TST255: SCOPE
2737 012676 012702 177777 MOV 8-1,%2 :LOAD HIGH ORDER WITH -1
o= R ue ki SO G 5
g;:? 015713 106 37 88m32 MFPS  3#PSWORD :SAVE 55
3742 012716 122737 D00OO10 000432 CMPB  #10,38PSWORC ;IS PS = 10
3743 012724 0C1403 BEQ .+10
2744 012726 004767 003506 ISR PC,SHLT :SEEN AN ERROR, GC TO TH HALT ROLTINE
2745 :PS IS WRONG
533‘3 012732 00027% 276
2748 012734 022702 177775 CMP $-3, %2 1S QUOTIENT = -3
2743 012740 001403 BEQ L+1
275C 012742 004767 003472 JSR PC SHLT -SEEN AN ERROR, GO TC TH HALT ROUTINE
2781 :QUOTIENT IS WRONG
g;gg 012746 000277 277
2754 012750 022703 0000CC CHP 80, %2+1 :15 REMAINDER = 0
2755 012784 001403 BEQ .+ig
2756 012756 004767 003456 JSR PC,SHLT :SEEN AN ERROR, GO TG TH HALT RCUTINE
27E7 WRONG REMAINOER
2758 012762 000300 300
2755 012764 021527 0002SE CHP (RS), #4255 o
2760 012770 0G1§03 BEG .+10 :IF_IN WRONG SEGUENCE 30 TC THE +7
27e] 012772 O0D47E7 003442 JSR PCLSHLY SSEEN AN ERROR, GO 10 TH oALT ROUTI

:TEST IS IN WRONG SEQUENCE

2783 S.gr77s CTI3C) 331
- ~y - ~rCO' T 1% -R=\
- o Al R T

T L2 ot o e
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OFKRCA.SRC  18-NOV-7S 00:00 DIv INSTRUCTION TESTS
2766 I"INII{llllllllllilli!ii!!!l!ii!}ill!l}!lllliif&!liilii!iiiiiiiilvillfi
3767 TEST: 256 DIV 09. /7 82=4 REM = | PS = C
g;gg l{llllllllllllllilllllllll!Ivlil!llliiillllliiillii!iilIvli!' [ZZ22222Z2 2]
2770 013002 010701 TST256: SCOPE
2771 013004 010501 MOV RS,R1 :SAVE RS
2772 013006 012704 000000 MOV 80, %4 LORD HIGH ORDER WITH O
3773 013012 012705 0000i! MOV 9], 7441 'LORD LOW ORDER WITH 9.

2774 013016 071427 000002 DIV 82 /M :DIVIDE BY #2

S;;E 013022 106737 000432 MFPS  3sPSWORD :SAVE PS

£777 013026 122737 0DOOO0 000432 CHPB 80, 38PSWORD 1S PS = 0

2778 313034 001403 BEQ +10

2779 01303 004767 00337% TSR PC,SHLT :SFZN AN ERROR, GG TO TH HALT ROLTINE
2780 :PSTIS WRONG

S;gé 013042 000302 302

2783 013044 022704 00000 CHP ™, 7Y -1S QUOTIENT =

2784 013050 001403 BEQ .+10

2785 013052 004767 003382 ISR PC,SHLT -SEEN AN ERROR, GO T3 TH HALT RGUTINE
2786 ‘QUOTIENT 15 WRONG

g;gg 013066 000303 303

2789 013060 022705 002001 CHP 81, 7441 ;1S REMAINDER = |

3790 013064 001403 BEQ .+10

2791 013066 004767 00334 TSR PC,SHLY :SEEN AN ERROR, GO TO TH HALT RGUTINE
£792 ) ;WRONG REMAINDER

2793 013072 000304 304

2794 0130674 010105 MOV R1,RS ;RESTORE RS

2795 013076 021527 00025& CHP tné) 8256

3796 012102 001403 i 8EQ :IF IN QUENCE GO 70 THE H.T
3797 013104 D0ONTE? 00232230 JSR PC SHLT : aN GC 13 TH T POL"NE
2798 . ;TEST IS IN WRING SEQUEMCE

2799 012:.C 000305 305

3¢ cC137iZ 35csiE ING (RS}
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OFKAZA.SRC  18-NOV-7S 00:00 DIV INSTRUCTION TESTS
2802 luluunuuuunluuuununuuuniunuuuuuuuuuu
2803 :TEST: 257 DIV -1 -9, 7/ 42 = -4 REM = - PS = 10
E‘BOH llllllillllllllllllllllllllll!llllllllllllllllllllliiﬂ'illﬂ»llliiili
2806 013114 010701 1ST257: SCOPE
2807 013116 012700 177777 MOV $-1,%0 :LOAD HIGH ORDER WITH -1
2808 013122 012701 177767 MOV $-9. %0+1 :LORD LOW ORDER WITH -9.

2809 013126 071027 000002 DIV 2. 70 :DIVIDE BY #2

Sgi? 013132 106737 000432 MFPS  38PSWORD :SAVE PS

2812 013136 122737 00000 000432 CMPB  #!0,98PSWORD  :IS PS = 10

2813 213144 0GI403 BEQ +10

Sgi‘_j D13:46 004767 003266 JSR PC SHLT gge?sm« gagon GO TO TH HALT ROLTINE
s

Sg;g; 013152 000306 306
4

2818 013154 022700 177774 cMP 84,70 .15 QUOTIENT = -4

2813 0I316C Q01403 BEQ .+18

3820 C13i52 004767 003252 ISR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE

2821 _ _ :OUOTIENT IS WAONG

5355 J13166 000307 307

2824 013170 02270 177777 o'P 9-1,%0+1 ;1S REMAINDER = -1

2825 013174 001403 B:Q +10

2826 013176 004767 003236 ISR PC SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE

2827 :NRONG REMAINOER

2828 013202 000310 310

2829 013204 021527 000257 cMP (RS) 8257

283C 013210 001403 ) BEQ :IF $N MRONG SEGUENCE GC TO THE HLT

203! 013212 004787 003222 ISR PC sm.r :SEEN AN ERROR, GO T2 TH HALT RCUTINE

2832 :TEST 15 IN WRONG SEQUENCE

2933 01326 0003:1! 3i1

2624 213297 00czis ING ‘RE}

potelvl
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OFKACA.SRC  18-NOv-7S 00:00 DIV INSTRUCTION TESTS
Sgaﬁ llllllllillllllllllilllilillllillllllllli!liil!llililiiii!iiiliiiiii
! : 260 DIV 02/ 8-3=0 REM = 2 PS = 4
28388939 .liilliiliiiiiilliiiiiiiiiillliiililiilillilll!lilililiiiilli{l{fifff
2840 013222 010701 15T260: SCOPE
2841 013224 012702 000000 MOV 80, %2 :LOAD HIGH ORDER WITH O
2842 013230 012703 000002 MOV 8 /au :LORD LOW ORDER WITH 2
2643 013234 071227 177775 DIV $-3,72 oxvxoe BY 8-3
53354 0133490 106737 000432 MFPS  3#PSWORD :SAVE PS
2846 013244 122737 000004 000432 CMPB 4, 38FSWORD .15 PS = 4
2847 013252 (061403 BEQ +10
2848 013254 004767 00316C JSR PC,SHLY -SEEN AN ERROR, GG TO TH HALT ROUTINE
2849 :PS 1S WRONG
eagg? 013260 000312 312
2852 (13262 (022702 000000 CHP 0, %2 .15 QUOTIENT = 0
2853 013966 001403 BEQ .+10
2864 013270 004767 003144 TSR PC,SHLT -SEEN AN ERROR, GO TG TH WALT RGUTINE
2855 QUOTIENT IS WRONG
013274 000313 313
2858 013276 022703 000002 cMP 82, %2+1 ;1S REMRINDER = 2
2859 (013302 0GI403 BEQ .+10
2860 013304 004767 003130 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
2861 ' WRONG REMAINDER
2862 01331C 000314 31y
2863 013312 021527 000280 CMP ms; 8260
2864 013316 001403 BEQ +10' IF IN m SEQUENCE GO TO THE MLT
2865 013320 004767 003114 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
2866 :TEST 15 IN mbm SEQUENCE
2867 713324 00031E 315
2868 0133e (0S218 INC (RS)
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30. |
19-NCv-7S D0:0C CIv INSTRUCTION TESTS
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: SRR RNERGREERRER RS RERNRRAREHRRRARINREESAERARNERARERGRAEHREERAORSRS

; TEST: 26! Dlv -] -2/ 83=C REM = -2 PS = &
SRR AR RRRA SRR RRRRRERRRERSHARRE ARSI RERERERRGSREIRES RS4S04

TSTe6l: SCOPE
MOV

RS.R! :SAVE RS
\7727? MOV o e :L0AD HIGH R upu -1
177776 MOV 8-2, %441 ;LORD LOW ORDER WITH -2
000003 DIV 83, %4 :DIVIDE BY #3
000N32 MFPS  2sPSWORD :SRVE PS
000004 000432 8229 o‘:igoPSNORD ;1S PS = 4
803050 ISR PC SHLT .SEEN AN ERROR, G0 TJ TH HALT RGLTINE
:PS IS WRONG
316
00009C 822 sC 64 .15 GUOTIENT = C
.t
263C3: ISR PC SHLT -SEEN AN ERROR, GO T5 TH HALY RCU™I!
e ;RN ENTETE Aot |
317
1777 cHP 8-2, 7441 .15 REMAINDER = -2
4]
90372¢C 953 Pc.em.r -SEEN AN ERROR, GC TC TH HALT RGLTINE
120 ; HRONG REHQINDQR
MOV R&QRS :RESTORE RS
00028 CHP (RS} 8261
BEQ .+10 :1F IN WRONG SEQUENCE 3C TC THE =7
20300z TSR PC.SHLY :SEEN AN ERROR, GO To TH W™ ROLTI
. :TEST IS IN WRONG SEQUENCE
™ RE
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WY1l 30,109 O4-RUG-TT  14:09 PAGE 8O

SR:  iB-Nov-S 00:0C DIv INSTRUCTION TESTS
..l..!‘.'..li".'l.'..'llll"ll'l'.l.l.I!lll..'.....!l.l(l’ll.l’””l
' TEST: 2862 DIV -1-1/8l = -] REM = O PS = 15
I'l!I'lllll.i'll.lllll’llllll.!lll.l.lllllllllll'I’lllllll.l’fillllf’f’

v IR 177 TSTabe: BEOPE el HKGH CROER WITH -1

glggc: 51?29.1, 15&;" KoV .Il/c/: sl 00 su o&s .

S This% B85 HFPS  SsBSHORD EM”S

si4g4 122737 0000IC 000M3Z CMPB  810,38PSWORD ;1S PS = 10

Ai34T2 AC1403 BEQ +10

Bi37e  DO047BT 202740 JSR  PC,SHLT Seusm ERROR, GC TO TH HALT ROLTIN

2:383C %0322 322

=13652 022700 7777 % I +15 QUOTIENT = -

513806 00:403 BEG _

21380 354767 oo2ree YR BC snu -SEEN AN ERROR, GO 70 TH mfe” BCUTINE

i :GUOTIENT IS WRONG

135;4 007323 323

£136:6 22273: 20030C 80, %041 .15 REMAINDER = 0

388 BIE oeeric % PCIRHLT N Ay ERROR. G0 TC W <7 ROL™I

[P / . H 1% [ L STV S

- ;gguc REMAINOER

1:353C 2003 324

013635 221327 000262 2P (RS) e262

otk X By et ;1EIN MRONG SEQUENCE 3¢ ;; R

whbwae Tw ’ we ' Is Emm ' e - &

Si3es 200326 325

2135 TFEIi ™ ‘RE,
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e 18-%2\-"8 CC:3C DIV INSTRUCTION TESTS

;E;;l;lllllllll;lllIIIIIBEIIIIIIISIIIIIIQ;EQQQQBIQQO!9;:000090999999
Y / 8 M= S = -

llliIl&gllllllglllllllgllllllll:lll!lllllllllliliili0000000096999999

2.1355C 01070 TST263: SCOPE

513682 012700 00000C MOV 80, %0 ;LOAD HIGH ORDER WITH

siasss g_x_gm; 000Cc0C 5!03 otlz,;.gﬂ :LORD LOtslyom‘JE.1 R WITH C

/ >

81§2§ 106937 8883% nlps 3spSioro Ewis

;;33235 %3;‘7 000004 DOCN3Z cnge ’ 38PSKORD :15 PS =

%130 AONTET N02e32 ?gn ﬁc.%nu ;;g?sm ERROR, 50 75 TH wALT RLLTINE

2:3826 002326 328 '

:;532;3 Q22700 002000 cMP o 40 1S QUOTIENT =

2% B ooeee 1 O TR %’3:?‘"7‘?’5“! GZ YO TH 4T RIUTIE

Ci13822 005327 327

ci3e24 322701 000000 cMp o0, %0+. ;1S REMAINDER = 3

01330 001453 BEQ oi2

n13e32 OON7E? 0C2ec2 JSR PC.SHLT ‘3%35 m&az TC M oMLY R2TD

013636 000330 33¢ )

IR Jisg] Doceel s (Rpg.mess .IF TN WRONG SEQUENCE 3C T2 THE =.°

3i3%we 004787 oc2set B eIl §E§§ o ERROR, <L ‘E;;E:h.' BT
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205 MRIYID 30,1046 D4-AUG-TT 14:09 PAGE 82
TeAIN.SRD 18-NoV-TE 20:0C DIV INSTRUCTION TESTS

llllllllllllllllllllllllilllilllll!illllllllllil!liiiili!04!69999999
TEST: 264 DIV -1 125262 / 82 = 15262% REM = 22 =z .-
lllii!!i!!lllll!llilllillll!llllill!liiillliiiiifliii'filliili!00990

913656 010701 TST264: SCOPE

Br3eE0 312788 177777 MOV Lono HIGH ORDER WITH -3

Jied 0le703 lgsese oV séaégsa %241 Dts” ROER WITH 28282

§R% 0483 R% MFPs  SEPCkoORD

213790 122737 000010 000432 CMPB %10, 98PSWCRD ;xs PS = 10

313706 OCIN03 BEQ .+10

F137210 04767 0028524 ISR PC,SHLT ;sgsn AN ERROR, GC TO TH MALT RC_TI

:PS IS MRCNG

213714 000332 332

013716 022702 152525 CHP 152825, %2 :1S QUOTIENT = 15262¢

n13732 051403 BEQ .+10

313754 004787 Dot TSR PC,SHLT :SEEN AN ERROR, GG TC "W wfc™ RCU™S

- :QUOTIENT IS WACNG

C1373C 005333 an

913732 222792 04CCaC cMP 80, %241 :1S REMAINDER = O

itie 25 B el 1 o IR, TG T BT

-a - 4 / - H . e (H NP6

.ESS«a rREMINOER

212744  0OC334 3y

813746 021827 00026+ tup (RS), 824

F13752 0C1403 BEQ _+10 <IF IN st 30 TS THE =T

313784 D047€7 0024eC ISR PLLSHLT :SEEN AN S0 156 T 4T RoUTINE

_ :TEST IS IN WRANG SEGUENCE
SIETED 27033 33
Sy - liclel 43¢ N7 ‘RS,
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€hala MRIvIL 32,1046 OQ4-AUG-TT 14:09 PAGE 83
TUaIS SRI 18-NIV-7€ 00:00 DIV INSTRUCTION TESTS

g:“g #Eg:l;;;illiIQS;ciiiiiiIiiIiiiiiIili:iiliillaggiiislliiiI;;lilliif59
klols -] =1 /7 &~ =z =

’;tf llllllllllllllllllilIllllllilillilliiiililllll!iiliiiiiiilif!litl!tt
3013 01374 010701 15T265: SCOPE

3213 013766 012501 MOV RS, R] 0%

0!8 013770 012704 177777 MOV s-1,%4 oL cnonoen WITH -

Xis Q137 813?05 172777 MOV 8-17441 b?“f ot um-

216 214000 71427 1727777 Dlv 8-].74 BY 8-!

gg;; 014004 106737 000432 MFPS  9sPSWORD

3313 04010 122737 0000OC 000432 CMPE 80, 3aPSWORD -zs PS = O

3020 014016 OCI403 BEQ .+10 ..
3221 014020 004767 002414 ISR PC,SHLT §§E" mon 50 TC TH HELT BCLTD:
30z

3ed oI4Ced 00033 33

3.;25""E 014026 022704 000CO! cHp u %M :15 GQUOTIENT =
. B sl p o o soe
g - e FROCTIENT 16 WACN:

;ggg 01404C 000237 337

%35 Qiygue g27as 00000C P e el :15 REMAINDER = §

3033 CI4080 OO47E? 002364 ISR PC.gHLT ;gg&m ml mw 10 TH HRLT SCLTINE
303€  Qj4054 000340 M0 '

3036 01408 010108 MCY :RESTORE RS

337 014260 (21527 000268 g néx 8265 - .
T3 GI40ES 051302 BEG :1F_IN WRONG SEQUENCE G0 T3 T+ =’
2039 7140Ee DO47E? 2nzake ! PC suu §££n AN ERROR, GC T3 TH ma” GO_ToNE
332 YEST 1S IN WRING SEQUENE

26T zies7z oIo3+l 4]

T~ IlaIte IZEE:2 NG BE:
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Q4-AUG-T" 14:09 PQGE 8y
g 20:2¢C DIV INSTRUCTION TESTS
lii!!!!!!!l‘!!!!!!!i!!l!I!!Ii!ﬁ!li!i!iii!ili!li!l!iiiifilllllfQifffff
:TEST: 266 DIV 25253 | - 125252 = 100000 REM = sz = .-
l!i!!!!!!i!ll!!!!!!!ll!!i!!!li!!!!!!!!i!!!!!!il!i!lilfiilliifli’fi69
T5T266: SCOPE i
025253 MOV 25253, %0 Loao HIGH ORDER WITH 2£2E2
?ggg§é nov o /251 %0 oxv DLogYoggggagéru
000432 MFPS gguo%b E 5
00001C 20043z ggga olﬂbaoPSHORD :15 PS = 10
002304 ISR PC,SHLT ;SEEN AN ERROR, GO 70 TH MAT RILTINE
:PS 1S WRONG
M2
10000 ggg ::?gooo.zc :1S QUOTIENT = 10350C
. *
002272 ISR PC,SHLT -SEEN AN ERROR, G3 T3 Th =™ SLUTINE
SQUOTIENT 1S WRONS
343
00020: 828 ci,/ﬂov .15 REMAINCER = !
00225+ ISR P §HL” -SEEN AN ERROR, GC C "W =T RI_TINE
- {NRONG REMAINCER
000266 Sup RS, 8288
8EG K3t :1F IN HRONu SEQUENCE 30 72 THE =
002242 15 N T :SEEN AN ERROR, 50 " TH ot =:-':\£
STEST TS IN WRANG SESENCE
34

7z &C.
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30RO MASYID 30,1046 O4-RAUG-7T  14:09 PAGE 8S
ZR.SRC 18-NIv-75 20:0C CIv INSTRUCTION TESTS

IillllllllllllllllllillIllllillillillilllllIlil’illlll’li’fl6!99’!9!
TEST rY4 DIlv 37777 727?77 / 877777 = 77777 PEm™ = 7777¢
illlllllllllllllllilllllfl!lil!Illlllfli!llliiif’lllill’llillfiﬂlﬂ

014204 010701 TS7267: SCOPE

814206 012702 037777 MOV 837777, %2 LOAD HIGH ORDER WITH 37777

Al4212 012703 077777 MOV 877777, %241 :LORD L on R uxm 27777

8“ 1€ on;§7 Qr77eT o}v 477277 %3 ngxos av 87

14222 106737 D00+432 MFPS  J8PSWORD

N:4226 122737 00000C 0GO432 CMPB 80, 98PSWORC 15 PS = 0

214234 DCIHE3 BEQ +10 i

Si423e 004767 00217 ISR PC,SHLT :SEEN AN ERROR, GC TC TW s T FIL"s

i :PS 1S WRONG

214242 00034 346

214294 Q22702 0777 ~Mp 877777, %2 1S QUOTIENT = 77777

014250 001403 BEG .+10 i _

Pl4282 00S7E? 0D2.82 TR PC,SHLTY :SEEN AN ERROR, G0 T2 "k s ” B2_7IM

] :QUOTIENT IS WAONG

314258 000347 ay?

014260 022723 07777¢ CMP 877776, %2¢ ! : 1S REMAINDER = 7777¢

014264 00ING2 BEQ +10 L

0i4266 004767 002146 JSR PC,SHLT :SEEN AN ERROR, GC T2 "k @™ RL_TIE

: WRONG REMAINDER

014272 0003s0 350

Q14274 021527 000287 SMP rR51 s2e7 )

014300 001403 BEQ :IF IN WRONG seousuce 39 .o THE =T

314302 DO47€7 002132 TR p..sm. :SEEN AN ERROR Tod -‘.u:..’ RoTIN

:TEST 18 IN mém SELENC
S14326 2323%. 35
S1430 ffesTE ™3 ‘RS,
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SFrACA MACYID 30,1046 0Y4-AUG-77 14:09 PAGE 86
TEWAIA.SPC 19-NOv-75 00:00 DIv INSTRUCTION TESTS .
3. = llli!lllll!lllll!lllllllll!llil'I'lvl!!!llli!i!l!!lillililillllllllllll
3013 ITEST: 270 DIV 0 100000 - 82 = 40000 REM = O PS = %
%? ;; llliilllllllll!lill!!l!llll!l!lllI'lI'Illl!ll!!iili!lliiilllilllllllll
3116 914312 010701 75T270: SCOPE
317 0l18314 010581 MOV RS Rl :SAVE RS
3118 014316 012704 000000 MOV :LOAD HIGH ORCER WITH C
3149 814 0}27 68 00 MOV séboooo 7441 5?“9 EO" ongsn WITH 150002
3120 14 0714 0 Dlv
§$§§ f14332 106737 000432 MFPS aobsuono :SAVE PS
3123 01433 122737 0000OC 0CC432 CMPB 80, 38PSWORD 1S PS =0
3139 DI43%4 DOIN03 8EQ +10
313€ Cl4346 O04TET Go2088 JSR PC,SHLT sssn AN ERRCR, 50 TC TH mALT RI_72°
3.2 € 1S WRONG
g%gg 0:4352 000352 352
3.29 014354 Q22704 040000 CMP £40003, 4 1S GUOTIENT = 40002
5*3? g*:ggg oni;g; 102052 ?53 ﬁElgHLT SEEN AN ERROR, GG TO TH ALY &CUTT
- - - ] J vu .‘
3132 :QUCTIENT 15 WRONG
gigg 014386 800352 353
3136 014370 022705 000COC £ 80, 74+l :15 REMAINDER =
313% 0I4374 001403 BEQ .+10 i
3137 Gi437e 004787 002036 TSR PC.EHLT :SEEN AN ERROR, GC TC TM MALT SOLTINE
3138 :WRONG REMAINOER
3i39 o1wi02 0003SY 354
3140 OIw4d4 010108 MOV :RESTORE RS
3j4] 01ws0e 021527 00027C ! (ns: 027C A
3142 0iwdl2 001403 BEG :IF_IN WRONG SEQUENCE 3C T3 T-E w”
3143 Di44i4 OONPE? 202020 JSR PC sHLT :SEEN AN ERROR, o0 T2 TH e RCTIE
2149 STEST 1S IN WRANG SERENE
3748 iyd2c  33036S 358
ZI-E Ziqazz 22g2iE IND ‘e,
35"
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.SRS 18-NCV-7S 0C:00 DIV INSTRUCTION TESTS

(AR ERR R AR R AR AR AR AR AR AP RE SRR AR SRR SR RN RS IS IERSE42485094
REM = 177777 -

(X1}

s =€ )u(D I- I

(AR I 8

202 PePpepap sh ap op o

(ummwtus.nuuuwumwm
O I LW

gmmmmmmm}c
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*b-ed *b
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AP A LA IDETERT R

hepabePadudoPotoPedhopapapobapapap ap

(RSN IN NN ININ TN NN IR TNTN TN TN TNTRTNTNY
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TEST: 271 DIV 177777 77777 7 8177776 = 40000 -
illi!l!!!lili!iiil!l!I»!!ii!liI»I'iilil!li!!!l!iilliiliiiiilifiifiifi’l
314424 010701 TST271: SCOPE
0lyd426 012700 177777 MOV 8177777,%3 :LOAD HIGH ORDER WITH 177777
014432 012701 077777 MOV 877777 /0+1 LORD LOW ORDER WITH 77777
o14436 071927 177776 DIV mms 70 :DIVIDE BY 8177776
Alysdz 106737 000432 MFPS  98PSWORD :SAVE PS
214446 122737 000000 CMPB 80 SoPSNORD ;1S PS = 0
014454 001403 BEQ
814486 004767 OCI7SE JSR PC SHLY :SEEN AN ERROR, GO TO TH HALT ROUTINE
_ :PS 1S WRONG
NI446Z 000356 356
214464 022700 04000C P wogoo ,%0 :1S QUOTIENT = 40000
0iu470 001403 BEQ
Si4u72 004767 00:742 JSR PC,SHLT :SEEN AN ERROR, GO TC TH HALT RGUTINE
:QUOTIENT 1S WRONG
J1447¢  00G3S7 357
014500 0227031 177777 CMP mm? %G+l ;15 REMAINDER = 177777
o14504 001403 BEQ +10 i _
01 004767 001726 JSR PC,SHLT :SEEN AN ERROR, GO TG TH HALT ROLTI
T ;WRONG REMAINOER
g1<4Ele 360
0I4EI8 (@21 003271 CHP (RS) 2271
014520 001403 BEQ +10’ :IF m WRONG szu.cucs co 10 THE KT
014822 004767 00i712 JSR P..suu : AN ERROR, GO 10 TH HALT RCUTINE
_ :TEST IS IN WRONG SEQUENCE
cl4Seé 0CC3E. ?&} BE




3188

-

Pt bapeha e 2 b 0t Ps bs h—s b—= p—o p—s p—o p—

mwuuwwwwwwwuumuuw
- BB SRR LN 2BBBRRRE

s

ik
52K

sS4
b2
by

000 0000 u
bbb e p b e p

hhdh HKhk

014606
Ciusl2
ClyelM

Ci462C
0l4e22
014626
01463C

S14e34
c.83t

>

010701

206557
12737

0C1403
004767

000362
022702
001403
004767

000363

001403
004767

0CC38S
AFES =

L]
2rcels

1046
Cv-75 00:00

Q4-RAUG-77

000C00
052525

052525
000432
00000C
301850

000ca!
001634

000cac
001620

300272
001604

000432

14:09 PRGE 88

KOV

DIV INSTRUCTION TESTS

; TEST: 272

1S7272: SCOPE
Mov

MOV
Dlv
MFPS

CMPB
BEG
JSR
382
CHP
BEQ
JSR

363

cRERNRRERRERRRRRRRRRRERESRRERESRERRRE R R R EEATRAAARREEARAREESRRRRSES

#
Dlv 0 52525 / wS2ses = | REM = C PS =0
SHEEHEHEHHEHEH R R R R R R AR RS RERS S RESESES

80, %2
852525, %2+1
#5625’ %2
J#PSLORD
#0, I8PSWORD

.+10
PC,SHLT
8 %2
.+10
PC,SHLT
80, 72+1
.+10
PC,SHLY

(RS), 8272
.+10
PC,SHLT

{RE:

;LOAD HIGH ORDER WITH O
:LORD LOW ORDER WITH 52525
;D£VIDE BY #52525

; SAVE PS

;ISPS =0

;SEEN AN ERROR, GO TO TH HALT ROUTINE
;PS 1S WRAONG

; IS QUOTIENT = |

-SEEN AN ERROR, GO TC TH rALT ROUTIAE
'UOTIENT 1S WRONS :

;1S REMAINOER = O

.SEEN AN ERROR, GG TG TH HALT ROUTINE
{WRONG REMAINDER

:IF IN WRONG SEGUENCE GO 1O THE K7
:SEEN AN ERROR, GO 15 TH YALT ROUTINE
1TEST 1S IN WRONG SEQUENCE
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LO7
CY1l 3001046) 0O4-RUG-77 14:09 PAGE 89
.SRC 18-NCv-7S 00:00 DIV INSTRUCTION TESTS

§ HHHHHEE N R R AR AR SR AR AR RS RO SRIN SRS S4 %
iTEST: 2723 Dlv D 77777 + w0 = DUMMY REM = DUMMY PS = 2
T T L L T e I T R T T R e 2 i e e T e e

014643 010701 T5T273: SCOPE

Ol4e4e 010501 MOV RS,R1 :SAVE RS

Olyewd 012704 00000C MOV 80’ 7y :LORD HIGH ORDER WITH O

014650 8127 0777277 MOV 071777 w4l :LOAD LOW ORDER WITH 77777

014654 071427 000000 DIV 74 :DIVIDE BY #0

Cl4eB0 106737 000432 MFPS aaﬁ WORD :SAVE PS

014664 (42737 000014 000432 BIC #14, I8PSWORD

014672 122737 000003 000432 MPB 3, 38PSWORD 1S PS = 3

814700 001403 ) .+10

014702 004767 0053 JSR PC,SHLT :SEEN AN ERROR, GG TO TH HALT ROUTINE
:PS 1S WRONG

014706 0C0366 366

014710 910105 MOV R1,RS :RESTORE RS

014712 021527 000273 CMP (RE) 8273

614716 001403 BEG .+10 :IF IN WRONG SEGUENCE 3C TC THE rL

014720 OON7E7 001514 ISR PC,SHLT GEEN AN ERROR, G 10 TH MALT PJ‘TINE
'TEST IS IN WRONG SEGUENCE

0i4724 00C387 X4

Ji473E D2EZ1S INC ‘RE, R




CFrACH

DFKmCA.

MAC /11 30:1046)
1B-NCV-7S

000371
J08z:5

MO?7

ON-AUG-77 14:09 PRGE 90

00:00 DIV INSTRUCTION TESTS

HRRERAEREESERRRRER AR RN R R EARRRERRRERRBAES RSN ERA R AR RS 4L RN R AR A EE4

TEST 274 DIv 77777 177777 A 82 = DUMMY REM = DuMMyY
T T T T T T T R T T T PR AR AR R P A E R A A R TR YL P VA v

TST274: SCOPE \
077777 MOV 877777, %0 LORD HIGH ORDER WITH 77777
177777 MOV 8177777 704§ 0l ORDER WITH 177777
02 DIV 82,70 DIVé BY #2
32 MFPS  J8PSWORD
000014 000432 BIC 814, JSPSWORD
000002 000432 CHPB oglawsuono ;IS PS = 2
001444 ?53 Pc,?uu :SEEN AN ERROR, GO TO TH HALT ROUTINE
:PS IS WRONG
370
000274 cMP (RS) 8274
001430 X gnu N O e oD T B Ine
: 1 :TEST IS ?ﬁ“"“m SEQUENCE T
INC {RS)

"

n




JFKACA

DFKRCA.

QO 0000 000
Pats  Pshspmebms  Ps e b

3303

015014
015020
C15024

015102

v g oo
QD N e

012702
012793
012704

010;01
gl
071067
106737

122737
001403
004767

000372
022700
001403
004767
000373
022701
001403
004767
000374
021527
001403
004767

00G37S
00se!s

she 18N8 offioe

000002
000474
000476

L
163426
000432
000000

0013Se

0esese
001336

000001
001322

000275
001306

000432

14:09_ PR 1
Olv IﬁgTZUCTION TESTS

MOV
MOV
MOV

NO7

82,72
958, 73
8510, %4

BT I 2222 T 22 23R ittt it et gt ifif et asi ittt sss il

: TEST: 275

DIV 0 SeseS / S9 =

25ese REM = | PS = C

!l*!!ll!llllillllllll!ll!lll!lilll!lll!!l!l!!'*if!if!lliiiilfii!iiif

TST275: SCOPE
MOV
MOV
DIV
MFPS
cnee
BEQ
JSR
372
cHP
BEQ
JSR
373
%0

JSR

374
cHP

BEQ
JSR
375
INC

ogésgs %0+
aoﬁsuono
80, 38PSWORD

.+10
PC, SHLT

025852 %0
PC,SHLT

81, 70+1
+10
PC SHLT

(RS), 8275
.+10
PC,SHLT

(RS)

;ISPS =0
;EEEN AN ERROR, GO TO TH HA_T RCUTIMNE
:PS IS WRONG

;LORD HIGH ORDER WiTH
:L0AD LOW ORDER WITH S
DIV%DESBY S3

g
2ses

; 1S QUOTIENT = 25252

:SEEN AN ERROR, GO TC TH HALT RCLTINE
:QUOTIENT IS WRONG

;1S REMAINDER = |

<SEEN AN ERROR, GO TO TH HALT RCUTINE
: WAONG Rsnnxnot

;IF _IN HRONG SEQUENCE G0 73 THE MUY
:SEEN AN ERR G0 10 TH HﬂLT RCUTINE

:TEST IS IN un*nc SEQUENCE

e a s e
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30.1046) OM-AUG-TT  i4:09 PAGE 92
18-%3v-75 00:0C DIv INSTRUCTION TESTS
ii!lll!lllllllllilllllllllilv!lllllllllllllllillllllllliliiiiiiiili’l
:TEST: 276 DIV 0 52525 - &S10 - 28252 REM = . PS = -
!Illllllilllllll&lllI'I!!!I!'Illillllii'lll!iillilil’iiillliillitl!l
010791 Y5T276: SCOPE
012700 00000C MOV $0,%0 ;LOAD WIGH ORDER WITH O
012701 0S252S MOV 862525 7.0+1 LORD LOM ORDER WITH 52525
071077 163322 DIV 3510, %0 oxvme By 350
106737 000432 MFPS  28PSWORD :SAVE PS
122737 0000OC 00CH32 HPB 80, 38PSHORD ;1S PS = 0
0C 1403 BEQ .«lg
A04TET 00524+ ISR PC,SHLT sgzn AN FRAOR, GO TO TH #ALT ROLTINE
:PS 15 WRUNG
000376 3%
02270C 025252 WP 825252, %0 :15 QUOTIENT = 28252
AG 1403 BEG .+19 . .
04767 001232 ISR PC.SHLTY :SEEN AN ERROR, GO T Th WAL™ RIU7C
:QUOTIENT IS WAONS
0377 377
Q2270. 0000C: CMP 81, %0+] :15 REMAINDER = |
001403 BEG  .+lo . .
0047E7 0Di2iw ISR PC.SHLT .SEEN AN ERROR, GC 75 " ALY RI.TINE
: WRONG REMAINOER
000400 400
021527 00C27% CHF L8278 e .
001433 BEG c :1F IN WROMG SEQUENCE 30 T3 T+ =7 _
DO47€7 001207 TSR P SHLT SEEN AN ERR g7 RTINS
STEST 1c In WRANG SEJENE
ocion o 43!

- ve - -
- - .~' G:'




[WIWNTH

t

i

EE
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J4-RUG-TT

000002
]

00432
0000CC
001i3e

025252

nolla22

0000C!
001108

000277

CCil7e

14:09 PARGE 93
DIV INSTRUCTION TESTS

Y R Y T I A T Y Y Y PR Y Ty WA Y A A Y Y YT YT Y
0 52525 s 8859 = 252%2 REM = | Fe

.
: TEST:277
T L T Y T Y Y Y AT Y Y Ty

DIv

80,40

$a0525, 01

S8PSLORD
80, 38PSWORC

.+10

PC,SHLT

IESSSE.ZO
e
FC,SHLY

8l %0+l
.+10
PC,SHLT
(RS), 8277
.+10
PC.SHLY

Fe.

;LORD MIGH ORDER WIT# O
:LORD LOW ORDER WITH 5252¢
:DIVIDE BY @859

SAVE PS

IS PS = O

-SEEN AN ERROR, GC Y0 TH MALT 82_7 1€
:PS IS WRONG

;1S QUOTIENT = 25252
:SEEN AN ERROR, GC "0 "W =h_T &2 "1
:QUOTIENT 1S WRCONG

- 1S REPRAINOER = |
-SEEN AN ERROR, GC 70 “m whA_” RCUTINE
: WRONG REMAINDER

:IF IN MRONG SEQUENCE 33 77 “HE =_°
SSEEN AM ERROR, GG 10 Te =a_” B._S1NE
:TES” 1S IN WRANG SESEMNZE

b

[ ——
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NNELN 1§-NCv-78 2C:0C AIV INSTRUCTION TESTS
3702 Ii!llllllllll!lil!llll!!l!ll!lll!l!i!li!iilfiliifiiiiiililifiiiif’fl
33-% TTEST:300 DIv 0 52625 / %42 = 25252 REM = | pc = -
gg:; !llllllllllll!!lllll!lIl!lll!lllll!lllllllllllllllll!l!i!iiil9606000
337 axgssa 010701 TST300: SCOPE
3377 01836y (012700 00000C MOV Loao HIGH ORDER WITH O
ga;g cisass 8;2701 062525 gov .sésas %041 DLogyoggsn WITH 5252¢
%gg 81 10&995 000432 nlps aobsuono QM 5
3382 015372 122737 00000C 000432 CMPB 80, 98PSWORD ;1S PS = 0
ggg ":gw wo; BEQ .+10

BiZ408 304767 001032 JSR PC,SHLT :SEEN AN ERROR, GC 70 TH HALT ROLTINE
338¢ . :PS IS WRONG
gggg 015408 200406 406
3386 01S4I0 022700 025252 ~MP 825252, %0 :1S QUOTIENT = 25252
3382 DIS4i9 0C!<403 8EG .+19
329¢ D1S41p 004767 DOICIE ISR PC,SHLT :SEEN AN ERROR, GO TC Th Af.T RIUTINE
339; 'QUOTIENT IS WRCNG
3345 g1s42z  DOOMC? 407
3333%EE 015424 02279: 0000C: ¢ 81,%0+1 :15 REMAINDER = !
3336 01S43C CIIvD3 BEG .+11
3396 JiS432 0OON7E? 0C1032 TR PC,SHLY agcn AN ERROR, GC 15 "M »h T RCLTINE
2% INDER
333 [1S43% 0004!0 410
3339 n1S440 021527 02022C CHE (RS) #3200
3322 GIS4d4 001403 8EG +10’ :1F IN WRONG SEQUENCE 50 15 THE =~
3457 ZiC44e OD47E7  DO07ER ISR P:.suu :SEEN AN ERROR, 50 TC T4 ™ RIS
2432 "TEST 1S IN WRANG SEGUENCE
3922 1SSz 2Tl 4.2
Z-T5 ZIE.E4 IZszis N RS,




EOS8

SFrRch MASYLL 3C.I1C96.  DN4-RAUG-77  [4:09 PAGE 95

SoGRlA.SES 18-nIV-TS 20:05 O1v INSTRUCTION TESTS
3'4;§ lllllll!l!lllllll!llliIllll!llll!lllll!lllliiii|lll¢ill||ilfl’llfifi
345 :TEST:301 DIV 0 52625 / (3)+ = 28252 REM = | FC = -
4;9 lli!l!!lllll!!!l!!ll!tl!!!ll!!!!lllllllll!l!!!lllll!liillllfilillfif
3415 DIS4Se 910701 TST301: SCOPE
MiD 0:846C 012700 00000C MOV 80, %0 :LORD MIGH ORDER WITH §

33:;5 eiszgg g%m 062525 gov ?%25 %041 LonoDLogYonnsq WITH 5252¢

7 (3¢

3 §18478 106795 ooouaz MPS  Sapsl EM E
3418 218478 122737 00000C GON43e CMPB 80, 38PSWORE :15 PS =
3407 2i5so4  0CI403 BEG . +10 . ]
3<ig 31580 304767 00C72% JSR PC SHLT 1SEEN AN ERRCR, GC "0 TH WAL RO
3413 :PS 1S WRONG
420 LiSSl2 DOOMI2 412
Eal-8
342z QI5E14 022700 025252 CMP .asssa.zo ;15 QUOTIENT = 282582
MN23 018820 951403 BEQ .+1
M4 018892 004767 1n007i2 TSR PC,SHLT :SEEN AN ERROR, GG TC TH mfLT RIUTI'E
342¢ :QUOTIENT IS WRONG
3_.% 015526 000413 413
428 515530 022771 00CO3! CHP 81, %01 :1S REMAINDER =
429 Q15534 001403 BEQ +10
M3C 0883 0O47E7 000676 ISR B¢, SHLT -SEEN AN ERROR, GC TG T =AL™ ROLTI'E
343! :[RONG REMAINDER
<33 015542 0004IM 91y
333 (I8844 Q21537 00037! P (RS), 830
3434 0518550 0G4 . BEG +10' <1F IN WRONG szasncs 3G T3 THE =T
343€ 0:5552 0O47E7 0006BE JSR p:.sm :SEEN AN ERROR £ ¥u H T RIS
343€ :TEET IS IN méuc SESENCE
3437 2:3SSE 2204:E 413
T3¢ ZIi82E7 Ifezis IND ‘RE.
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~. SRS 18-8JVv-78 00:0C DIV INSTRUCTION TESTS

l!ll!llllillllllllllllllllllllllillllllllil!liiil!llliiifi!iiltfllfi

:TEST:302 DIv 0 52525 / -(3) = 25252 REM = | Fc =
luuunuuuuuuuutuuuuluuluuuuuuuuunuuuu

015562 010701 TST302: SCOPE

516864 012700 00000C MOV LORO HIGH ORDER WITH O

018870 012701 082525 MOV osésas %0¢1 ORD LOW ORDER WITH 5252t

A1SS74 071043 oIV 02 oz leSsBY -(3,

818676 106737 000432 MFPS n 0

015602 122737 00000C 000432 CMPB 80, 38PSWORD :I1SPS =0

515610 OCI403 BEQ .+10 X

018612 004767 000822 ISR PC,SHLT -SEEN AN ERROR, GC TO TH HALT ROLTINE
:PS IS WRONG

015616 000416 416

n1562C 02279C 025252 ¢ aasgse ,%0 .15 QUOTIENT = 26252

018624 001403 8EG

21€626 004767 D00B2E ISR PO SHLT -SEEN AN ERROR, GC TO TH L™ RCUTIME
ouon:vn 1S WRONG

015632 000417 417

015634 02270 00020 . CHP 81, %01 : 1S REMAINDER =

015640 00IN03 e +lg&

818642 00N767 00CS72 ISR :SEEN AN ERROR, GO 75 Th WALT RCLTI

_ :WRONG REMAINOER

01SE4E 000420 420

018650 021527 000302 CHP (RS, 8302

15684 0614323 BEG .+1C I Ih WRONG SEQUENCE 50 T3 THE il

g
218656 CO47e? CQCSSe JSR PC.SHLY : Sﬁ o %ﬁﬂas o0 SE TH w7 RCLTINE
ot QUENCE

Seez  230+2. 42!
Zesa < INS RE.

e
3
4
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14:09 PAGE 97

CIv INSTRUCTION TESTS
(RERRERRRERRERR AR R AR AR AR RN B SRRRR RS SSRARR RS RRARSRRRESRIRIRRE RS04

; TEST:303 o1y 0 52525 s 2(4) = 25252 REM = | PE = 2
T T T A R R T T R T T AT R T T Y T Y Y Y P Y

TST303: SCOPE
MOV

%0, 70 :LOAD HIGH ORDER WITH O
MOV 862525, %0+ 1 :L0RD LOW ORDER WITH 52528
DIV 2(4). 720 ;oav%og BY 2(4;
MFPS J8PSWORD :SAVE Ps
ggge 09 goPSHORD 1S PS =
JSR PC,SHLT .SEEN AN ERRCR, GG TO TH HALT ROLTIE
:PS IS WRONG
422
EES cgfgsa,zo :1S QUOTIENT = 25252
JSR PC,SHLT :SEEN AN ERROR, GO YC TH rAL”™ RLUTINE
SQUOTIENT IS WRONG
423
cng -£1z0¢1 - 15 REMAINDER = 1
R ﬁc.gnL* :SEEN RN ERROR TG TH ALY RILT
: WRONG REMAI
424
CNP (RS), 8322
BEG .+10 ;1F_IN WRONG SEQUENCE GO 7L THE =7
ISR PLLSHT :SEEN AN ERROR, GO TG TH A%e T RCLTI
.25 :TEST IS IN WRING SEQUENCE
S

.Np -F

(1))

’
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=p: 18-N3\-78 00:0C DIv INSTRUCTION TESTS
IlilllllllllllllllliillIllllllllllllllfllfffff!lfff!ilil’!4’}9’49”’
:TEST: 304 DIV 0 52525 / @(4) = 25252 PEM = | FS = -
llilllIllliill!llllliillillllllli!}lllillllllillfiiliiifilii!fifi!f&

218774 010701 TST304: SCOPE

A1877¢ 012700 (000000 MOV 80, %0 . _0AD HIGH ORDER WITW O

gisaoa 8#?7% osages gox ns§§a§ %041 LonoDLogYog?sn WITH 52528

}

Big8i2 106737 888«22 n}Ps gupsao 0 SMS

216316 122737 0000OC 000432 CMPB 0, 38PSWORC ;1S PS = 0

Sibo24  0C:403 BEQ .+10

RlE55e DO4TE? 000406 JER PC,SHLT :SEEN AN ERROR, GC TO TH MALT RILTINE

o :PS 1S WRONG

S16232 0ODN2E 426

J16o34 Q2279C 025252 oMP 825252, %0 s 1S QUOTIENT = 26262

016040 361403 BEG +19

S1ed4Z N04TE? 200372 TSR PC SHLT :SEEN AN ERROR, GG T2 TH mfiT RCLTY!

o :QUOTIENT 1S WAONG

CieCwe 000427 Y27

816080 22279: 50000 CHP 1, %0+1 :1S REMAINDER =

216354 301473 BE +10

0:626e 004767 0003%E ISR PC,SHLT :SEEN AN ERROR, GC TG TW HALT ASLTINE

:WRONG REMAINOER

01&362 200430 430

A1e06N 92! 000304 oMP (RS), 8304

£1687C 001403 6o L+10 :1F IN WRONG SEQUENCE 50 T THE =i~

316372 DONPE7 00C34E ISR P SH.T :SEEN AN ?uoa GO TS TH =T RCUTINE

meimme mmmga: \a- :TEST 15 IN WRONG SEGUENCE

wabw’'w Jvu -a - e

-u;--’ -FEEQ: zq: :Fs‘
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O4-RUG-77 14:03 PRGE S8

00:00 DIV INSTRUCTION TESTS
CRERBRREEER R R R ARG RSN NSRS R SRR RN SRR A S RIESFHERS 44
: TEST: 305 Dlv 0 52525 / a(4)+ = 25282 REM = . ec = J

: illllilllllilllllili{{lliiililliiiil!ii{!i{!liii!iliiiliiiliiii!!!;!

TST305: SCOPE
000000 MOV 80, 70 :LORD HIGH ORDER WITH O
052525 MOV 850525, %0+1 :LORD LOW ORDER WITH 5252
D}V 3(4)+ 48 ;gav&DE BY 8(4)+
009432 MFPS sPSWOR :SAVE PS
00000C 000432 ggzs oglgopsuono :ISPS = 0
000302 JSR PC,SHLT :SEEN AN ERROR, GC TG TH HALT ROLTIE
PS IS WRONG
432
025252 522 '3?553-"-0 : 1S QUOTIENT = 26252
300266 JSR PC,SHLT :SEEN AN ERROR, GG TC TH HALT RCU™INE
:QUOTIENT 1S WRONG
433
000901 gsns 'iﬁ’jw : 15 REMAINOER = 1
000252 TSR PC,SHLT -SEEN AN ERROR, GO TG TH HALT RCLTINE
N :WRONG REMAINDER
005308 0 (RS), 8305
BEQ ,+10 :1F IN WRONG SEQUENCE 50 75 THE W7
00023t IR PO SHLY :SEEN AN ERROR, GO 10 7+ =¥ RSLTT
J3c STEST 1S IN WRONG SEQUENCE
NS ‘RE,
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SFraCh MACYIL 30.1C46) OM-RUG-77 14:09 PRGE 100

DFRiECH. SRS 18-N2v-78 00:0C DIV INSTRUCTION TESTS

;ﬁ?g ;lllliiiil!!llllllll!llllllll!ll!il!ll!llll*iilliiiliiiiiiiiiiiifillf
Xg- :TEST: 306 DIV 0 52525 / @-(4) = 25252 REM = | ec = Z
gg;g ;lll!lllilill!lllllllilliiill!!liillillil{illl{llililiiiiliiiliii54ll
¥8C 016206 010701 15T306: SCOPE

388] 018310 012700 000000 MOV %0, %0 :LOAD HIGH ORDER WITH O

3882 016214 012701 0S2525 MOV #52525, %041 :LOAD LOW ORDER WITH 5252¢

35133 016220 071054 DIV 3-(4).%0 :DIVIDE BY a-(4)

ggs 016222 106737 [OON32 MFPS  2#PSWORD :SAVE PS

386 016226 122737 00000C 000432 CMPB %0, 3#PSWORD ;1S PS = O

3687 D162 DLIND3 BEO .+10

g8 N1623 004767 000176 TSR PC,SHLT : ggsr;snnﬂ S,’}E"R' GO TO TH HALT ROUTINE
"33‘22"3 J16242 DOOY36 436

392 0162¥4 022700 025252 CHP 25252, %0 ;1S QUOTIENT = 25252

393 016250 001403 BEQ . +10

XM 016252 04767 000162 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT RGUTIME
3595 :QUOTIENT 1S WAONG

gg 016256 000437 437

3598 016260 022701 0000O0! CMP 81, 70¢+1 : 1S REMAINDER = |

3693 Q16264 001403 BEQ .+10

3600 Die26e 004767 000146 JSR PC,SHLT SEEN AN ERROR, GO TG TH MALT ROLTINE
3801 :HRONG REMAINDER

3632 016272 000440 440

3603 0le274 021527 00030E CHP (RS), 8306

B04 (016390 00!403 BEQ .+10 :IF_IN MRONG SEQUENCE 5O TC THE M7
3895 016302 00477 000:32 ISR PC.SHLT SEEN AN ERROR, GO TO TH MaiT ROLTINE
363 , :TEST IS IN WRONG SEGUENCE

3E57 DI630E  00044! 44)

3€%g Z:e3ll 30Ez;E INS ‘RE}

e~

sto
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DFKACA MACYL! 30(1046) O4-AUG-77 14-09 PAGE 10!
DFKACA. SRC 18-NOV-7S 00:00 DIV INSTRUCTION TESTS

CEEREARRERR R RS S RSN R RIS R ISR RN IREREIS4 0
.SBTTL END OF PRSS ROUTINE
; # INCREMENT THE PASS NUMBER (SPRSS,
iTYPs g 8
HE A MONITOR GO TO IT
iIF TH ISN'T JUMP TO BEGIN

:#IF 1T IS DESIRED TO MAVE ﬂ BELL INDICATE THE “ENO CF PASS™ _OCATION
: #SENDMG CAN BE CHANGED TO 7

ot of
O U £ WINe-D

gggg pleste $EOP:
16312 010701 SCOPE
323 016314 005267 162066 INC  $PASS ; INCREMENT THE PRSS NUMEER
P33 0ip0 Quzzer 100000 162060 BIC $100000,5PASS £ iDON'T ALLOM f NEG. NUMBER
0l 7 DES (PC)+ : :LOOP?
3%26 016330 000001 SECPCT: .WORD |
¥ar Qle3ie D03l BGT  SDOAGN 13 YES
01 012737 MOV (PC)+,8(PC)+  ::RESTORE COUNTER
329 016336 00000) SENOCT: .WORD !
3%3C 016340 016330 $E0PCT
2631 016342 000DD4 016372 TYPE  , SENDMG s : TYPE "END PASS™
P 01634 SGETH2:
3% 016346 013700 000042 MOV  @#42,RO ;;GET MONITOR ADDRESS
%% 016352 001405 BEG SDOAGN : 1BRANCH_IF NO MONITOR
3%3% 01634 000005 RESET :CLEAR THE WORLC
337 016356 004710 SENDAD: JSR  PC, (RO} :360 T0_MONITOR
338 016360 000240 NOP ; 1SAVE ROOM
%39 016362 000240 NOP i
36490 016364 000240 NOP $iRACTIL
3641 016366 s JOAGN:
%42 016366 000137 000600 P SWBEGIN ; sRETURN
3643 016372 005015 047105 020104 SENDMG: .ASCII <155¢12)/END PASS’
3644 G1EH0C 051522
3g4c 016404 _ 377 377 000 SENULL: .BYIE  -1,-1,0 :iNULL CHARACTER S781,
e 01641C "EVEN
3E4E C1632  33C4CC ENDCT: 400
2633
;E§; cERARERRAREFAESIRARSRFRERERRRAARRRALRRILARRELRRRFRRDRA2 L2402 429
=
2 .SBTTL POWER FAIL ROUTINE
i
3eEc Cig413 012737 Sie<20 CO0C24 SPWRON: MOV SSPURLP, Ju24
Xk Clesle 20303 HALT
€S2 CiEN2T ZIE706 00063C SPURUF: MOV ngscxn SP ;RESTORE THE SP
322 Sig439 Ligzzr Cledid cooced MOY  sSPWRDA, ds2
e Ziea3z Ifcefy 377s2Z TYPE i35 AND TYPE =BlLES™

TiEe3e ZIT7Es 3r tounﬂw
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OFKACA.SRC  18-NOV-75 00:00 ." HALT ROUTINE
3662
3663 ik HALT ROUTINE
3664 1 memesmescmees
3685 &
3665 3 .
3667 it PROGRAM COMES HERE ON ENCOUNTERING ANY ERROR
3669 '
3670 016440 017637 000000 000402 SHLT: MOV @(SP) JuSFATAL ;PLACE THE ERROR NUMBER AT LOCATIGN SFATAL
3671 016446 032777 020000 162026 BIT . #20000,35KR 'HAS THE OPERATOR ASKED TO SUPRESS ERRCR TYPE GuTS
372 0164s4 001046 BNE_ 6§
3673 01645k 000004 000S1Y4 : TYPE ., ,SCRLF .60 AND TYPE A CR, LF, FOLLOWED BY 2 SPACES
3674 D1E4B2 010046 Mov_ . RD,-(SP) _SAVE RO
3675 DIEYEM 112767 000002 161757 MOVB &2, STPCHT $ALLOW TYPE_OUTS OF PC RHD ERAOR NUIEEF
3676 Die472 016600 000002 MOV a(SP) *BRING THE RETURN PC IN R
3677 016476 162700 000004 SUB RO’
378 016502 112737 000006 000450 28:.  MOVB. 0"’ Q4TYPCNT  ;ALLOM TYPE CUT OF & DIGITS
3679 016510 005046 . "~ CLR -, -(5P) ‘
3680 016512 000241 . 48w CLC k
3681 016514 005100 ‘ ’ CROL - RO ¢
3682 016516 006116 ~ 5 ROL .. (SP) m:crmcanrmmmxuem
3683 016520 052716 000060 .. LBIS . #B0;(SP) *PREPRARE_T0 TYPE IT OUT
3684 016524 004767 000130 .. . ISR “PC QTPCHR 1AND.GO TO OUT PUT A CHARACTER
3685 016530 005016 L 7 CIR (5P -
3686 016532 006100 B . ROL - KD e .
3687 016534 006116 - « . - .. ROC . I T T e
3688 016535 008100 ~ . RO (nu Ay -
3689 " 016540 006116 . ROL " :.* (SP) Y
3590 016842 105367 161702 ° DT ,*nsca TYPCNTJ4: v|“3:;HR. ALL THE SIX CHARACTERS SEEN TYPED °
331 016546 001361 .- | “-  BNE.-. M8 " $IF_NOT_THEN REPEAT.FROM 43
3697 016550 005726 . o0 IET L (6P $RESTORE - STRCK_POINTER
3593 016552 017600 £00002 - -° - "oV @3(SPY RO " -;PREPARE TO OUT PUT THE ERROR NMEER
3694 0le556 000004 OOOS1E , Tvpeh SCRLF¥2: " ., ,‘;-;co AND TYPE 3 SPACES
3695 016562 105367 161663 . . .. DECB- QTFCNTw 5.2 5 17 BOTH PC AND ERROR NLREER HAS NOT EEEN
368k 016EBE 001345 - -, , UBNE . 2SN x*;;REPORTED THEN REFERT FROM 23
3697 016570 012600 ° L A ,‘Xcspa+ RU \3RESTORE RO A
36499 016572 105767 . 161622° -g§:  CISTE- V'SENVI™Y. TT-IFWE RRE HOT unnzn APT. THEN GG T2
3693 016576 001403 BEQ" : B8 -.388 - .
3700 016600 005237 00GHOO - . . aasnsctv - OTHERMISE _ INFORH APT. ABOUT SEEING THE ERACE
3701 01E604. 000777 .- : B .2 $AND LOOP
3702 016E0e 005777 161670 g8: 15T~ ESR 18 ‘17 Réal TRED T0_ HALT ON ERROR 7
3703 0leel2 100091 & -, BPLT 108, _. - 3IF NOT_THEN GO.TO 103
3704 0IEEld 0CO0RD . HRLT =T o
370 Clgels CES7IE 033002 163:  AOD.  #2,(SP} noJJsr THE "RETURN ADDRESS
Z772 Cieg2z 653207 - ; -~ RIS, FC. “JAND RETURN
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SFrACA MACYIL 30110467 O4-AUG-77 14:09 PRGE 103

CFRACA. SR 18-NOv-75 00:0C ASCIZ TYPE OUT ROUTINE
3707
3788 M TYPE OUT ROUTINE
371 ¥
,11 ;}
3;5 8 THIS ROUTINE IS USED TO TYPE ASCIZ MESSAGES
3714 )
3715 0166 10046 §TYPE: MOV RO, -(SP) :SAVE RO
3718 815552 31?500 000002 MOV 32{SP),R0O :GET THE RODRESS OF THE ASSCIZ STRING
3?17 gxgg 66 2s: MOVB (R0)+, (SP) 'PUSH THE CHARRCTER TQ BE TYPED ONTC ™A%/
3718 01 1 BNE "BRANCH IF 17 15 NOT THE TERMINATCR
3719 016636 00572 TST (SP)+
3720 016640 0l1260UL MOV (SP)+ RO ;OTHERWISE RESTORE THE =TACK AND RO
3721 Olee42 06716 000202 33: ADD 82, (SP) 'ADJUST THE RETURN F{
g;gg 01664 000002 RTI AND RETURN
24 016650 004767 000004 4§ JSR PC,$TPCHR G0 T TYPE A CHARACT
3725 gzsssu 005726 15T (S3)+ RESTORE THE STACK POIN"EF
g;gg;_ 16656 000768 BR 23 ‘AND RETURN TG 2§
3728 016660 132737 000040 000421 STPCHR: BITB 840, 38SENVM s HAS m{ ZONSOLE OUTPUTS BEEN SUPPREZZZC”
3729 016666 DOI1006 BNE y$ S1F S0 THEN RETURN FROM THE SUBRS.TINE vI& -3
3730 016670 105777 161616 2$: 1ST8  a$TPS .15 THE PRINTER AVAILABLE?
3731 0lee74 100375 BPL 2$ :IF NCT THEN LOOP HERE
37 016676 116E77 000002 161EC4 MOVB  2(SP),asTPE :CUT PUT THE CHMRACTE.
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